
Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

1

Category Page Category Page

Air Compressor Assemblies 9 Lower Beam Assemblies, RAD‐227WB 21
Air Control Kits 8‐9 Lower Beam Assemblies, RADT‐246 22
Air Control Parts, Purchased 9‐11 Lower Beam Assemblies, RAR‐221, RCA‐235 21
Air Spring Top Mounting Plates 19‐20 Lower Beam Assemblies, RAR‐240, RUL‐245 21‐22
Air Spring Top Plates 32 Lower Beam Assemblies, RAR‐241 21
Air Springs 2‐3 Lower Beam Assemblies, RAR‐260 22
Air‐Control Parts & Sub‐Assemblies, Mfg.  11‐12 Lower Beam Assemblies, RAS‐227 21
Axle, Assembled 13 Lower Beam Assemblies, RSS‐236, 237 22‐23
Axle Beam Assemblies, Fabricated 27 Major Purchase Assm. 15
Axle Control/Re‐Build Service Kits 30 Mount Assemblies 26
Axle Lift Assemblies 15‐16 Mounting Angles 35
Axle, Misc. Parts 13‐14 Mounting Brackets, Misc. 20
Axle Mod. & Installation 30 Mounting Channels 34‐35
Axle Seat Assemblies, RDX‐204 23 Mounting Plates/Shims/Gussets ‐ Misc. 32‐34
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 23 Nuts 6‐7
Axle/Tire Inflation Parts 31‐32 Nuts ‐ Special 36
Axle & Torque Rod Brackets, Misc. 23 Pedestal/Beam Assemblies 31
Beam Assemblies  28 Pedestals, RD‐202 20
Beam Assemblies Transit Bus 21 Pedestals, RD‐202S 20
Beam Assemblies, RWB‐300 25 Plates 34
Bolster Assemblies   16 Pre‐Assembled Chassis Parts 20
Bolster Assemblies ‐ Spring/Shock Mount 27 Pre‐Assembled Parts Assemblies 28‐29
Bolt‐On Axle Brackets 23 Reinforcing Channels 34
Bracket Assemblies 27 Retainer Kits 12
Brackets, Misc. 15 Rubber Bushings 3
Bushings & Bearings, Misc. 4 Rubber Springs 3
Bushings, Manufactured 35 Rubber with Steel Bushings  4
Cap Screws 5‐6 Shock Bracket Assemblies 27
Caps, Screws, Specialty 4‐5 Shock Mounting Bracket Assemblies, 1" Fastener 20
Carton of Parts 29‐30 Shock Mounting Bracket Assemblies, Misc. 20
Casting, Misc. 13 Shock Mounting Brackets 20
Clamp Assemblies 26 Shock Studs 36
Clamping Blocks 34 Shock Studs/Specialty Studs 12
Clamping Plate Assemblies 24 Shocks, Gabriel 12
Compensator Assemblies 25 Shocks, Koni 12
Compression Bolt Assemblies 27‐28 Shocks, Misc. 12
Compression Caps 13 Sleeves 3
Connectors 13 Sleeves ‐ Misc. Machined 35‐36
Control Panel Assemblies 9 Square/Rectangular Tube ‐ Saw Cut 36
Covers 12 Stabilizer Assemblies 26
Cross Channel Assemblies 27 Steering Dampeners 12
Cylinders, Hydraulic/Air 13 Straps 12
Dowel Pins 36 Steel Springs 12
Eccentric Bolt Assemblies 23‐24 Sub‐Assembly, Universal Bearing, Etc. 26‐27
Eccentric Bolt Service Kits 24 Support Fixtures 36
Elastomer Springs 35 Suspension Re‐Design/Repair Kits 30‐31
Electric Control Parts, Purchased 12‐13 Sway Bar Assemblies 24‐25
Epoxy Fusor 15 Sway Bar Brackets & Axle 23
Fasteners 15 Sway Bar Installation Assemblies 30
Formed Angles/Plates 35 Sway Bar Mounting Bracket Assemblies, Chassis 1" 20
Gussets 34 Sway Bars/Shim Plates/Crossmember Kits 31
Hanger/Beam Assemblies 16 Sway Bars/Torque Rods 13
Hangers, RAD‐227 16 Tools ‐ Jigs & Fixtures 31
Hangers, RAR‐221, RED‐228 16, 17 Torque Beam Assemblies, 2 Eye Curved 25
Hangers, RAR‐200 18 Torque Beam Assemblies, 2 Eye Straight 25
Hangers, RAR‐240 17‐19 Torque Beam Assemblies, 3 Eye Straight Tube 25
Hangers, RAR‐241 19 Torque Beam Assemblies, Misc. 25
Hangers, RAR‐244 17 Torque Beam Sub‐Assemblies 25
Hangers, RAR‐260 18 Trunnion Shaft Assemblies 26
Hangers, RAS‐227 16, 19 Trunnion Shafts 36
Hangers, RCA‐215 19 Trunnion Sleeves 28
Hangers, RCA‐235 16 Tubes, Sq./Rec. 36
Hangers, RLT‐230, RSS‐236, RSS‐237 17 U‐Bolt Spacer Assemblies 23
Hangers, RUA‐220 17 U‐Bolt Spacer Plate Assemblies 23
Hangers, RUL‐245 19 U‐Bolts, Square Top 7‐8
Height Control Valve Parts, Misc. 12 Universal Bearing/Bushing Assemblies 27
Hydraulic Pump & Motor 13 Washers 7
Lift Beam Assemblies/Shackles 27 Washers ‐ Fabricated 35
Lower Beam Assemblies, RAD‐227  21, 22 Wear Pads 12
Lower Beam Assemblies, RAD‐227R 21 Wheels 15



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

2

Category Part Number Description                     List Price   Weight
Air Springs 1000001 A/SPG 1R12‐467                  360.00$                 21.36
Air Springs 1000002 A/SPG 1R14‐127                  467.00$                 29
Air Springs 1000003 A/SPG 1R12‐494                  390.00$                 18.2
Air Springs 1000006 A/SPG 1R14‐151                  440.50$                 27.42
Air Springs 1000008 A/SPG 1R14‐175                  345.00$                
Air Springs 1000008050G A/SPG 1R14‐039                  345.00$                 23.1
Air Springs 1000009200G A/SPG 1R14‐108 /1T19F‐5 #9200   380.00$                 23.68
Air Springs 1000022 A/SPG 1R15‐001                  461.00$                 18
Air Springs 1000023 A/SPG 1R11‐039                  330.00$                
Air Springs 1000156 A/SPG 1R14‐171                  365.00$                 17.72
Air Springs 1001R10128G A/SPG 1R10‐128G                 395.00$                
Air Springs 1001R12363G A/SPG 1R12‐363                  420.00$                
Air Springs 1001R12444G A/SPG 1R12‐444                  313.00$                 17.16
Air Springs 1001R12584G A/SPG 1R12‐584                  326.00$                 14.36
Air Springs 1001R12592G A/SPG 1R12‐592 W/MTG BRKT       377.50$                
Air Springs 1001R12593G A/SPG 1R12‐593                  388.50$                 17.55
Air Springs 1001R12599G A/SPG 1R12‐599                  400.00$                
Air Springs 1001R12607G A/SPG 1R12‐607                  243.00$                 15.45
Air Springs 1001R12611G A/SPG 1R12‐611                  342.00$                
Air Springs 1001R12616G A/SPG 1R12‐616                  240.50$                 13.1
Air Springs 1001R12617G A/SPG 1R12‐617                  375.50$                 17.92
Air Springs 1001R12653G A/SPG 1R12‐653                  303.00$                 15.96
Air Springs 1001R12692G A/SPG 1R12‐692                  282.00$                
Air Springs 1001R13097B MODIFIED A/SPG 1R13‐097         360.00$                
Air Springs 1001R13097G A/SPG 1R13‐097                  360.00$                 15.75
Air Springs 1001R13109G A/SPG 1R13‐109                  380.00$                 15.78
Air Springs 1001R13146G A/SPG 1R13‐146                  320.50$                
Air Springs 1001R13181G A/SPG 1R13‐181                  385.00$                 21.5
Air Springs 1001R14176G A/SPG 1R14‐176                  406.00$                 30.34
Air Springs 1001R14196G A/SPG 1R14‐196                  527.50$                 28.55
Air Springs 1002B09278G A/SPG 2B9‐278 GY 3/4" INLET     305.50$                
Air Springs 1002B09296G A/SPG 2B9‐296                   209.50$                
Air Springs 1002B09611G A/SPG 2B9‐611                   246.50$                 8.2
Air Springs 1002B09614G A/SPG 2B9‐614                   246.50$                
Air Springs 1002B12488G A/SPG 2B12‐488G                 347.00$                
Air Springs 1002B14385G A/SPG 2B14‐385 GOODYEAR         405.00$                
Air Springs 1002B14479G A/SPG 2B14‐479 GOODYEAR         458.50$                
Air Springs 1003B12338G A/SPG 3B12‐338                  353.50$                 17.21
Air Springs 1003B12339G A/SPG 3B12‐339 GOODYEAR         370.50$                
Air Springs 1003B12347G A/SPG 3B12‐347/7956             340.00$                 17.55
Air Springs 1003581700C A/SPG 1T15M‐9/6 1700 NoTp       381.00$                
Air Springs 1003585311C A/SPG 1T14F‐2 5311              218.50$                 6.78
Air Springs 1003585323C A/SPG 1T14F‐2 5323              219.50$                 7.2
Air Springs 1003585414C A/SPG 1T14F‐4 5414              255.00$                 8.1
Air Springs 1003585770C A/SPG 1T15TQ‐1 5770             312.00$                 11.6
Air Springs 1003585792F A/SPG 1T15TQ‐1 5792             337.00$                 11.46
Air Springs 1003586707C A/SPG 2B9‐265/6707              270.00$                
Air Springs 1003586801C A/SPG 21‐2 /2B14‐365            383.00$                 20.62
Air Springs 1003586812C A/SPG 21C 6812                  324.50$                
Air Springs 1003586897C A/SPG 2B9‐229 /20F #6897        211.75$                 6.96
Air Springs 1003586900C A/SPG 20F 6900                  207.75$                
Air Springs 1003586905C A/SPG 2B9‐206 /20C #6905        222.00$                 7.78
Air Springs 1003586910C A/SPG 2B9‐200 /20F #6910        195.50$                 6.9
Air Springs 1003586932C A/SPG 20F 6932                  250.50$                 7.8
Air Springs 1003586945C A/SPG 2B9‐253 /20F‐2 #6945      253.50$                 8.94
Air Springs 1003586947C A/SPG 2B9‐255 /20F‐2 #6947      253.50$                 8.36
Air Springs 1003586948C A/SPG 2B9‐251 /20F‐2 #6948      232.00$                 8.76
Air Springs 1003587135C A/SPG 2B14‐360 /21C #7135       289.00$                 17.18
Air Springs 1003587180C A/SPG 2B12‐425 /22C #7180       270.50$                 12
Air Springs 1003587271C A/SPG 28 7271                   1,255.00$            
Air Springs 1003587330C A/SPG 26C 7330                  255.50$                 6.3
Air Springs 1003587400C A/SPG 2B12‐309 /22C #7400       198.00$                 13.82
Air Springs 1003587443C A/SPG 2B12‐305 /22C‐1.5 #7443   246.50$                 12.46
Air Springs 1003587447C A/SPG 2B12‐324 /22C‐1.5 #7447   221.00$                 14.12
Air Springs 1003587473C A/SPG 2B12‐428 /22C1.5 #7473    285.00$                 14.16
Air Springs 1003587781C A/SPG 233‐2 7781                440.00$                 22
Air Springs 1003587796C A/SPG 313A 7796                 450.50$                 25.46
Air Springs 1003587800C A/SPG 3B14‐360 /313A #7800      405.00$                 24.06
Air Springs 1003587839C A/SPG 3B14‐359 /333 #7839       445.50$                 29.12
Air Springs 1003587843C A/SPG 3B14‐364 /333 #7843       461.50$                 29.44
Air Springs 1003587844C A/SPG 333 7844                  465.00$                 26
Air Springs 1003587846C A/SPG 333 7846 /3B14‐365        437.00$                 29.42
Air Springs 1003587892C A/SPG 20F 7892                  255.50$                
Air Springs 1003588008C A/SPG 3B12‐300 /38C #8008       302.00$                 17.52
Air Springs 1003588014C A/SPG 38C 8014                  380.00$                 18
Air Springs 1003588030C A/SPG 3B12‐301 /38C #8030       357.00$                 17.28
Air Springs 1003588051C A/SPG 1T19J‐6 8051              371.50$                 21.86



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

3

Category Part Number Description                     List Price   Weight
Air Springs 1003588055C A/SPG 1R14‐133 /1T19J‐1 #8055   365.00$                
Air Springs 1003588494C A/SPG 1T15MPW‐6 8494            268.00$                 14.14
Air Springs 1003588778C A/SPG 1R14‐130 /1T19F‐7 #8778   347.75$                 22.3
Air Springs 1003588802C A/SPG 1T15M‐4/2 9545 FRP LOOSE  290.00$                 14
Air Springs 1003588802X A/SPG 1R12‐492                  340.00$                 18
Air Springs 1003588802Y MODIFIED A/SPG 1R12‐492         350.00$                 17.34
Air Springs 1003588806C A/SPG 1T15M‐4/2 8806 ALU @45De  290.00$                 13
Air Springs 1003588878C A/SPG 1T15M‐2 #8878 W/5681PSTN  254.00$                 11.58
Air Springs 1003588930C A/SPG 1T15M‐2/4 8930            260.00$                 14.74
Air Springs 1003588963C A/SPG 1R12‐465 /1T15M‐0 #8963   300.00$                
Air Springs 1003588965C A/SPG 1T15AA‐6 8965 FIRESTONE   359.00$                
Air Springs 1003588991C A/SPG 1T15M‐2/V1 #8991          285.00$                 12.5
Air Springs 1003588992C A/SPG 1T14C‐1 #8992             236.00$                 6.58
Air Springs 1003588997C A/SPG 1T14C‐1 #8997             206.50$                 6.46
Air Springs 1003589010B MODIFIED A/SPG 1R12‐421         349.35$                 16.24
Air Springs 1003589010C A/SPG 1R12‐421 1T15M‐4 #9010    280.00$                 16.34
Air Springs 1003589031C A/SPG 1R12‐350 /1T15M‐0 #9031   266.50$                 14.66
Air Springs 1003589039C A/SPG 1R12‐095 /1T15M‐0 #9039   233.50$                 13.24
Air Springs 1003589070C A/SPG 1R12‐370 /1T15M‐4/2 9070  285.00$                 14.8
Air Springs 1003589073C A/SPG 1R11‐018 /1T15S‐6 #9073   355.00$                 15.86
Air Springs 1003589082B MODIFIED A/SPG 1R12‐092         347.75$                 17.9
Air Springs 1003589082C A/SPG 1R12‐092 /1T15M‐6 #9082   244.50$                 18.5
Air Springs 1003589101C A/SPG 1R12‐103 /1T15M‐9 #9101   255.00$                 20.22
Air Springs 1003589105C A/SPG 1R12‐132 /1T15M‐2 #9105   258.50$                 18.3
Air Springs 1003589121C A/SPG 1R14‐069 /1T19F‐7 #9121   268.50$                 22
Air Springs 1003589122C A/SPG 1R14‐045 /1T19F‐11 #9122  315.00$                 23.76
Air Springs 1003589177C A/SPG 1R14‐028 /1T19F‐7 #9177   285.00$                 22.2
Air Springs 1003589200C A/SPG 1T19F‐5 #9200 /1R14‐108   335.00$                 24.72
Air Springs 1003589218C A/SPG 1R13‐120 /1T15L‐8 #9218   385.00$                 23.26
Air Springs 1003589245C A/SPG 1R12‐446 /1T15M‐9/6 9245  321.00$                 18.5
Air Springs 1003589251C A/SPG 1T15V‐1 9251              310.00$                
Air Springs 1003589275C A/SPG 1T15V‐8 9275              650.00$                 19.28
Air Springs 1003589320C A/SPG 1T15M‐11 9320 W/FRP PSTN  355.00$                 16.66
Air Springs 1003589334C A/SPG 1R12‐435 /GOODYEAR ONLY   270.00$                 13.06
Air Springs 1003589378C A/SPG 1R11‐080 /1T15L2 #9378    271.00$                 11.58
Air Springs 1003589387C A/SPG 1R11‐159 /1T15L‐2 #9387   260.00$                 10.04
Air Springs 1003589421C A/SPG 1T15T‐1 9421              280.00$                 11.42
Air Springs 1003589445C A/SPG 1T15L‐2 9445              286.00$                 13.96
Air Springs 1003589447C A/SPG 1R11‐066 /1T15L‐2 #9447   289.00$                 13.88
Air Springs 1003589448C A/SPG 1R11‐150 /1T15L‐2 #9448   280.00$                 13.84
Air Springs 1003589448F A/SPG 1T15L‐2 #9448 FIRESTONE   273.50$                
Air Springs 1003589457C A/SPG 1R11‐151 /1T15L‐2 #9457   281.50$                 13.6
Air Springs 1003589459C A/SPG 1R11‐152 GOODYEAR         286.00$                 13.6
Air Springs 1003589459F A/SPG 1T15L‐2 #9459 FIRESTONE   265.50$                 13.46
Air Springs 1003589538C A/SPG 1T15M‐11 9538 W/MTG BRKT  310.00$                
Air Springs 1003589544C A/SPG 1T15M‐11 9544             275.00$                
Air Springs 1003589557C A/SPG 1T15M‐2/V1 #9557          343.00$                
Air Springs 1003589595C A/SPG 1T15AA‐3 9595             320.00$                 16.02
Air Springs 1003589699F A/SPG 1T15L‐4 9699              461.50$                 21
Air Springs 1007667B358 A/SPG 1T15L‐2 #8908             315.00$                

Rubber Springs 1030001 ELASTOMER SPG RD‐208S 7" 60‐64  675.00$                
Rubber Springs 1037260D004 ELASTOMER SPRG J‐19337‐4        556.20$                
Rubber Springs 1037261C001 OVERLOAD SPRING J19368‐1        218.50$                 4.34
Rubber Springs 1037261C002 OVERLOAD SPRING J19368‐2        218.50$                 4.34
Rubber Springs 1037261C003 OVERLOAD SPRING J19368‐3        218.50$                 4.34
Rubber Springs 1037261C004 OVERLOAD SPRING J19368‐4        218.50$                 4.34
Rubber Springs 1037326D001 ELASTOMER SPG J19576‐1          535.00$                 21.22
Rubber Springs 1037326D002 ELASTOMER SPG J19576‐2          535.00$                 21.22
Rubber Springs 1037326D003 ELASTOMER SPG J19576‐3          535.00$                 21.22
Rubber Springs 1037326D004 ELASTOMER SPG J19576‐4          535.00$                 21.22
Rubber Springs 1037697B001 BUFFER RUBBER "GMT" TYPE A      232.00$                 4
Rubber Springs 1040001 TORQUE SPG 3 LEAF 27,000        650.00$                

Sleeves 1090006 KING PIN HSG BOSS 4.5LG 3.25OD  122.60$                
Sleeves 1090008 SLEEVE 3‐1/2 OD 1"LG W/1/4"STP  70.50$                  
Sleeves 1090584B000 SLEEVE 3‐1/2 OD 1" LG           40.25$                  
Sleeves 1090593B000 SLEEVE T‐BEAM 4" OD X1/2        86.50$                  
Sleeves 1092553B000 SLEEVE T‐BEAM 3‐3/4" OD         69.50$                   4.54
Sleeves 1095323B302 SLEEVE SHK BUSH'G 3/4"ID        2.50$                     0.12

Rubber Bushings 1100004 GROMMET,.37IDx.63Hx.06Tx.88OD   1.15$                    
Rubber Bushings 1100608B000 BUSH TRUNNION 4"L 79DUR         34.50$                   1.04
Rubber Bushings 1102608B000 BUSHING SHOCK 1"ID              4.80$                     0.06
Rubber Bushings 1104476B000 BUSHING,TRUN 2"L,9044476B000    49.00$                   0.52
Rubber Bushings 1105323B301 BUSH 3/4"ID GAB 403751          3.75$                     0.06



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

4

Category Part Number Description                     List Price   Weight
Rubber with Steel Bushings 1110060 BUSH 60 DURO .906 ID            230.25$                 13.35
Rubber with Steel Bushings 1110070 BUSH 70 DURO .906 ID(250)       265.00$                 13.56
Rubber with Steel Bushings 1110071 BUSH 70 DURO .906ID 6.75 WIDE   240.50$                
Rubber with Steel Bushings 1110072 BUSH 70 DURO 1.510ID 6.75 WIDE  231.00$                
Rubber with Steel Bushings 1110079 BUSH 50 DURO 1.510ID 6.75 WIDE  220.50$                
Rubber with Steel Bushings 1110080 BUSHING MONOPIV .906ID 62DURO   355.00$                
Rubber with Steel Bushings 1110082 BUSH FIBER NARROW 75 DURO       218.00$                 5.82
Rubber with Steel Bushings 1110083 BUSH FIBER NARROW 78 DURO       246.25$                 5.82
Rubber with Steel Bushings 1110084 BUSH CAVITY TENNECO 864340      165.00$                
Rubber with Steel Bushings 1110512B000 BUSHING 4‐7/16"X1‐1/2"70DUR     40.70$                   2.38
Rubber with Steel Bushings 1111018B000 BUSHING 3‐1/2"L 70DUR           90.50$                   1.5
Rubber with Steel Bushings 1113328B000 BUSHING 4‐7/16"X1‐1/2"60DUR     40.70$                   2.32
Rubber with Steel Bushings 1114236B000 CENTER BUSHING 38,000 PL        369.00$                 22.8
Rubber with Steel Bushings 1114398B000 S'BLK BUSH 6"X6"X3" 10363L      526.85$                 18.32
Rubber with Steel Bushings 1114964B000 BUSHING B'END 6X2.5 HVYWL       126.50$                 7.56
Rubber with Steel Bushings 1114983B000 BUSHING 3"L 7/8"ID              9.00$                     1.58
Rubber with Steel Bushings 1115620B000 BUSHING 4‐3/32"L 1"ID           18.00$                   0.92
Rubber with Steel Bushings 1116176B000 BUSHING 5‐1/4"L 70‐75DUR        48.50$                   2.68
Rubber with Steel Bushings 1116176B002 BUSHING 5.25"L 1"ID 70‐75DUR    55.50$                  
Rubber with Steel Bushings 1117184B000 BUSHING 3"L 1"ID 70DUR          52.00$                   0.88
Rubber with Steel Bushings 1117195B000 BUSHING 3"L 1"ID DAYCO          53.60$                   0.58
Rubber with Steel Bushings 1117203B302 BUSHING 5‐3/4"L 70DUR           111.50$                 3.8
Rubber with Steel Bushings 1117259B000 T'ROD BUSH RUB'R 1.13"ID 3.25"  142.50$                 2.54
Rubber with Steel Bushings 1117379B000 T'ROD BUSHING S'PIN RUB'R       88.00$                   4.22
Rubber with Steel Bushings 1117427B000 BUSHING 4.44"X1.5" HEMAT        34.00$                   2.3
Rubber with Steel Bushings 1117558B000 BUSHING CENTER 4.75"X7" BONDED  452.00$                 23
Rubber with Steel Bushings 1117561B000 BUSHING S'BLK 7"X6"X3" 10364    480.00$                
Rubber with Steel Bushings 1117564B001 BUSHING B'END 5.75X2.5 HVYWL    142.25$                 7.52
Rubber with Steel Bushings 1117625C060 BUSHING MONOPIVOT 62DURO        95.00$                   7.06
Rubber with Steel Bushings 1117625C080 BUSHING MONO‐PV'T 77DURO        95.00$                  
Rubber with Steel Bushings 1117653B000 BUSHING B'END KIT (BAR PIN)8.5  325.00$                 16.04
Rubber with Steel Bushings 1117653B001 BUSH'G KIT S'BLK ADJ BAR PIN    347.50$                 20
Rubber with Steel Bushings 1117680B001 BUSH ASY‐70 DURO MONOPIVOT      180.00$                 11.26
Rubber with Steel Bushings 1117680B070 BUSH ASY‐55 DURO MONOPIVOT      184.50$                 11.12
Rubber with Steel Bushings 1117680B075 BUSH ASY‐60 DURO MONOPIVOT      184.50$                 11.3
Rubber with Steel Bushings 1117716B060 BUSH MONOPIVOT 62DUR 8"LG SLV   99.50$                  

Bushings & Bearings, Misc. 11200001 UREBSH/SLV‐3"LGx1"IDx1.75"OD    20.25$                   0.52
Bushings & Bearings, Misc. 11200002 BUSHING T'ROD ENERGY #70020     6.20$                     0.08
Bushings & Bearings, Misc. 11200004 BUSH URE 2.8x2.3x9"Lg 80 DURO   42.75$                   0.92
Bushings & Bearings, Misc. 11200005 BUSH URE 2.8x2.3x9"Lg 90 DURO   42.75$                   0.92
Bushings & Bearings, Misc. 1120003 BUSHING SHOCK 1"UR‐ 80014R      4.65$                     0.06
Bushings & Bearings, Misc. 1120014 BUSHG URE 2X1X4.1L 88 DURO      28.50$                   1.02
Bushings & Bearings, Misc. 1120015 BUSHING, URE 1.75 ODX2LG .75ID  20.90$                  
Bushings & Bearings, Misc. 1120016 BUSHING 3.13ODX1.5IDX4.42LG UR  184.00$                 3.9
Bushings & Bearings, Misc. 1120017 TRUNNION BUSHING,URETHANE,KIT   615.00$                 13.5
Bushings & Bearings, Misc. 1120019 BUSHING C'NTR URETHANE          213.00$                 5.14
Bushings & Bearings, Misc. 1120020 BUSHG,URE,3.13ODX1.25IDX4.438L  195.20$                 4.75
Bushings & Bearings, Misc. 1120021 BUSHING 2.500 OD x .875 ID      172.05$                 1.8
Bushings & Bearings, Misc. 1120023 BUSHG URE 2X1.31X1.94L 95 DURO  11.10$                   1.02
Bushings & Bearings, Misc. 1120029 BUSHING URE HALF 1.25IDX1.75OD  6.50$                     0.52
Bushings & Bearings, Misc. 1120030 BUSHING URETHANE 1‐5/16ID       21.15$                  
Bushings & Bearings, Misc. 1120031 BUSHING URETHANE CNTR HARD      26.55$                  

Caps, Screws, Specialty 1130003 ECC BOLT 7"FORGED F/4‐7/16BUSH  90.75$                   3.6
Caps, Screws, Specialty 1130004 COTTER PIN 9/64"X1‐3/4          0.55$                     0.02
Caps, Screws, Specialty 1130009 ECC BOLT 7.8"FORGED F/5.25BUSH  103.00$                 3.9
Caps, Screws, Specialty 1130011 HUCKBOLT 3/4"x4.75‐5" GRIP      12.00$                  
Caps, Screws, Specialty 1130017 BOLT CARRIAGE 1/4‐20NC 5/8L,ZN  0.45$                    
Caps, Screws, Specialty 1130018 WELD STUD 1/2"‐13NC 1‐1/8L GR5  6.50$                    
Caps, Screws, Specialty 1130020 T‐BOLT 1/4" HCVO6 MTG STUD      2.50$                    
Caps, Screws, Specialty 1130021 SCREW W/WASHER,LEVER MTG HCVO6  2.50$                    
Caps, Screws, Specialty 1130022 HHCS 1‐1/2" 6NC 10‐1/2"L 3‐1/2  153.00$                
Caps, Screws, Specialty 1130026 HWHDTS #6x1/2" TEK screw PLT'D  1.00$                    
Caps, Screws, Specialty 1130027 HWHDTS #8x1/2" TEK screw PLT'D  1.00$                    
Caps, Screws, Specialty 1130029 BOLT CARRIAGE 1/2‐13NC 1.25 LG  1.35$                    
Caps, Screws, Specialty 1130031 ROUND HEAD SHEAR‐TYPE BOLT      19.25$                   1.85
Caps, Screws, Specialty 1130036 STOP BOLT 5/8‐18 X 2.56"LG      47.00$                  
Caps, Screws, Specialty 1130603B005 COMP BOLT 1‐1/8" 12 NF 3.5"L    60.85$                   1.3
Caps, Screws, Specialty 1130670B105 HHCS 1‐1/2" 6NC 7"L             73.00$                   4.3
Caps, Screws, Specialty 1130700B002 HHCS 1‐1/4" 7NC 7‐1/2"LG GR.2   58.90$                   3.14
Caps, Screws, Specialty 1132546B100 RHMS 10‐24 3/8"L                0.15$                    
Caps, Screws, Specialty 1133738B105 HHCS 1‐1/2" 6NC 7‐1/2"L         90.50$                   4.48
Caps, Screws, Specialty 1134260B102 RHMS 1/4"‐20NCX1/2" LG          0.30$                     0.01
Caps, Screws, Specialty 1135115B000 SHSS 5/16NC 1LG, CUP POINT      1.15$                     0.02
Caps, Screws, Specialty 1135472B000 SPRG BOLT 1/2" 20NF 8"L         11.90$                   0.52
Caps, Screws, Specialty 1135579B008 FHSCS 3/8 16NC 1‐1/2"LG         1.90$                     0.05



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

5

Category Part Number Description                     List Price   Weight
Caps, Screws, Specialty 1135711B108 HHCS 1" 8NC 6"L 1‐1/4"THR       44.50$                   1.58
Caps, Screws, Specialty 1135873B105 HHCS 1‐1/2" 6NC 8‐1/2"L         79.65$                   4.86
Caps, Screws, Specialty 1137049B000 FSNER KIT 1‐1/4" 8334‐82        20.00$                   0.44
Caps, Screws, Specialty 1137099B002 HHCS 1‐1/4" 7NC 8‐1/4"L         77.00$                   3.38
Caps, Screws, Specialty 1137291B108 HHCS 1" 8NC 7.5" 1.5" THREADS   46.00$                   1.9
Caps, Screws, Specialty 1137300B005 HHCS 1‐1/4" 7NC 10"LG           62.00$                  
Caps, Screws, Specialty 1137380B105 HHCS 1‐1/2" 6NC 6‐3/4LG         111.50$                
Caps, Screws, Specialty 1137409B001 NUT 1‐3/8 12NF SLOTTED          24.50$                   0.62
Caps, Screws, Specialty 1137409B002 COTTER PIN 3/16"X2‐1/4          0.40$                     0.02
Caps, Screws, Specialty 1137409B003 WOODRUFF KEY #25                4.70$                     0.06
Caps, Screws, Specialty 1137511B005 HWHTS 5/16 18NC .5"LG           1.05$                     0.02
Caps, Screws, Specialty 1137694B000 ECCENTRIC BOLT (FORGED) 9.5"    98.30$                   4.88
Caps, Screws, Specialty 1137694B001 ECCENTRIC BOLT (FORGED)10.75"   108.85$                 4.82
Caps, Screws, Specialty 1137738B301 HUCK BOLT 3/4X.75 HP8F‐DT24‐12  7.45$                     0.72
Caps, Screws, Specialty 1137750B008 FHSCS 3/8 16NC 1"LG GR8 PLAIN   2.05$                     0.05

Cap Screws 1140005 HHCS M12‐1.75THRx40mmL GR8.8 Z  1.90$                     0.09
Cap Screws 1140008 HHCS 3/4" 10NC 5‐1/2 LG GR8 ZN  7.75$                     0.76
Cap Screws 1140012 HHCS 3/4" 10NC 7 LG GR8  ZN     8.65$                    
Cap Screws 1140014 HHCS 3/4" 10NC 8" LG GR8 ZN     15.65$                   1.02
Cap Screws 1140018 HHCS 5/8" 11NC 1‐3/4"L FLN GR8  4.88$                     0.24
Cap Screws 1140019 HHCS 7/8" 9NC 9.625" GR8 SPEC   26.50$                   1.76
Cap Screws 1140021 HHCS 3/4" 10NC 3‐3/4"L GR5 ZN 3.95$                     0.76
Cap Screws 1140022 HHCS 3/4" 10NC 11" LG GR8 ZN    23.00$                  
Cap Screws 1140023 HHCS 7/8" 14NF 11"L 2.25"THD    52.00$                   2
Cap Screws 1140028 HHCS 5/8" 18NF 3‐1/2"L GR8 ZN 3.15$                    
Cap Screws 1140030 HHCS 5/8" 11NC 5‐1/2"L FLN GR8  21.10$                  
Cap Screws 1140031 HHCS 3/4" 10NC 6"LG GR8 ZN      8.30$                    
Cap Screws 1140033 HHCS 1‐1/4" 7NC 7‐3/4"L GR8 ZN  51.85$                  
Cap Screws 1140042 HHCS 3/8" 16NC 7/8"L FLN GR5 Z  1.35$                    
Cap Screws 1140044 HHCS 3/8" 16NC 3/4"L GR5 ZN     0.55$                    
Cap Screws 1140046 HHCS 3/4" 10NC 4"L GR8 ZN       8.65$                    
Cap Screws 1140049 HHCS 3/4" 16NF 6"L GR8 P&O      10.80$                   0.84
Cap Screws 1140050 HHCS 3/4" 16NF 6.5"L GR8 P&O    20.00$                  
Cap Screws 1140051 HHCS 1" 14NF 11"L GR8 ZN        56.20$                  
Cap Screws 1140053 HHCS M18‐1.5Thrx70mm L GR8.8 Z  13.10$                  
Cap Screws 1140054 HHCS 7/8" 14NF 10"L GR8 P&O     29.00$                  
Cap Screws 1140056 HHCS 7/8" 14NF 7"L GR8 P&O      19.75$                  
Cap Screws 1140060 HHCS 7/8" 14NF 7.5L GR8 Zn/YEL  22.00$                  
Cap Screws 1140061 HHCS M24‐2.0 x 280MM GR10.9 ZN 38.65$                  
Cap Screws 1140062 HHCS 7/8" 14NF 5.5L GR8 ZN/YEL 13.15$                  
Cap Screws 1140066 HHCS 7/8" 14NF 10.5"L GR8 ZINC  90.50$                  
Cap Screws 1140554B105 HHCS 1/2" 13NC 1"L GR5 ZN       0.80$                     0.08
Cap Screws 1140604B105 HHCS 3/4" 10NC 2‐1/2"L GR5 ZN   8.00$                     0.4
Cap Screws 1140604B108 HHCS 3/4" 10NC 2‐1/2"L GR 8     4.65$                     0.4
Cap Screws 1140665B105 HHCS 5/8" 18NF 1"L              2.20$                     0.16
Cap Screws 1140674B105 HHCS 3/8" 16NC 1"L              0.45$                     0.05
Cap Screws 1140709B103 HHCS 3/4" 10NC 2‐3/4 A‐325      5.00$                     0.47
Cap Screws 1140762B105 HHCS 1/2" 13NC 1‐3/4"L          0.95$                     0.12
Cap Screws 1140952B105 HHCS 7/8" 14NF 5"L 12.50$                  
Cap Screws 1141191B105 HHCS 3/8" 16NC 1‐1/2"LG         0.50$                     0.05
Cap Screws 1141213B105 HHCS 5/8" 11NC 6"LG             5.40$                     0.56
Cap Screws 1141354B105 HHCS 3/8" 16NC 1‐1/4"LG         0.45$                     0.05
Cap Screws 1141512B105 HHCS 3/4" 10NC 5"L              6.25$                     0.7
Cap Screws 1141675B105 HHCS 1" 8NC 6‐1/2"L             16.75$                   1.74
Cap Screws 1141676B105 HHCS 1" 8NC 5‐1/2"L             14.50$                   1.43
Cap Screws 1142043B105 HHCS 1" 8NC 6"L                 12.45$                   1.56
Cap Screws 1142073B108 HHCS 7/8" 14NF 3"LG             5.95$                     0.68
Cap Screws 1142079B108 HHCS 7/8" 14NF 3‐1/2"LG         7.60$                     0.76
Cap Screws 1142118B105 HHCS 1" 8NC 7"L                 18.65$                   1.74
Cap Screws 1142735B105 HHCS 5/8" 18NF 1‐1/4"L          1.65$                     0.17
Cap Screws 1142945B105 HHCS 3/4" 10NC 4"LG             4.85$                     0.58
Cap Screws 1142962B105 HHCS 1" 8NC 5"L                 13.00$                   1.32
Cap Screws 1143076B105 HHCS 3/4" 10NC 4‐1/2"L          5.70$                     0.65
Cap Screws 1143077B105 HHCS 3/4" 10NC 3‐1/2"L          4.35$                     0.52
Cap Screws 1143465B105 HHCS 1/2" 20NF 1"LG             0.95$                    
Cap Screws 1143773B005 HHCS 1‐1/8" 12NF 3‐1/2"LG       25.95$                  
Cap Screws 1143773B105 HHCS 1‐1/8" 12NF 3‐1/2"L        39.45$                   1.3
Cap Screws 1143867B105 HHCS 3/8" 16NC 4‐1/2"LG         2.15$                    
Cap Screws 1143925B105 HHCS 3/8" 16NC 4"LG             1.20$                    
Cap Screws 1144187B108 HHCS 3/4" 16NF 3‐1/4L           7.05$                     0.5
Cap Screws 1144193B105 HHCS 1" 8NC 4"LG                9.75$                     1.1
Cap Screws 1144197B105 HHCS 5/8" 18NF 1‐1/2"L          1.60$                     0.2
Cap Screws 1144206B105 HHCS 5/16" 18NC 3/4"LG          0.15$                     0.02
Cap Screws 1144229B105 HHCS 5/8" 18NF 2"L              2.30$                     0.19
Cap Screws 1144317B105 HHCS 5/8" 11NC 1‐1/4"LG         1.60$                     0.16
Cap Screws 1144940B105 HHCS 7/8" 9NC 6"L               8.00$                    



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

6

Category Part Number Description                     List Price   Weight
Cap Screws 1144943B105 HHCS 3/4" 10NC 6"L              7.30$                     0.82
Cap Screws 1145375B105 HHCS 1/2" 13NC 2"LG             1.00$                     0.13
Cap Screws 1145383B105 HHCS 1/2" 13NC 1‐1/4"L          0.95$                     0.09
Cap Screws 1146194B105 HHCS 7/8" 9NC 4‐1/2"L           7.85$                     0.9
Cap Screws 1147047B108 HHCS 5/8" 11NC 5"L FLANGED      9.75$                     0.53
Cap Screws 1147051B108 HHCS 1/2" 13NC 1‐1/2LG          1.20$                     0.1
Cap Screws 1147136B108 HHCS 5/8" 11NC 3‐1/2"L FLANGED  7.05$                     0.4
Cap Screws 1147237B108 HHCS 5/8" 11NC 2"L FLANGED      6.25$                     0.27
Cap Screws 1147259B105 HHCS 1‐1/8" 7NC 7‐1/2"L         25.40$                   2.36
Cap Screws 1147305B108 HHCS 1" 14NF 12"LG.             75.90$                  
Cap Screws 1147325B108 HHCS 1/2" 20NF 6"LG             5.70$                     0.36
Cap Screws 1147364B105 HHCS 3/4" 10NC 3"LG             4.20$                    
Cap Screws 1147370B108 HHCS 5/8" 11NC 2‐1/2LG FLANGED  6.70$                    
Cap Screws 1147401B108 HHCS 1" 8NC 2"LG.               6.65$                     0.68
Cap Screws 1147436B108 HHCS 5/8" 11NC 8"L FLANGED      43.75$                  
Cap Screws 1147482B108 HHCS 5/8" 11NC 1‐1/2"L FLANGED  4.90$                     0.24
Cap Screws 1147570B105 HHCS 3/4" 10NC 7‐1/2 LG         7.85$                    
Cap Screws 1147570B108 HHCS 3/4" 16NF 4"L              7.30$                     0.6
Cap Screws 1147587B108 HHCS 1/2" 20NF 1‐1/2"           1.25$                     0.11
Cap Screws 1147591B105 HHCS 1/4" 20NC 1"LG             0.35$                    
Cap Screws 1147604B108 HHCS 5/8" 11NC 4‐1/2"           4.65$                    
Cap Screws 1147615B105 HHCS 3/8" 16NC 3‐1/4"LG         1.00$                    
Cap Screws 1147620B105 HHCS 3/8" 16NC 7/8"LG.          0.40$                    
Cap Screws 1147661B105 HHCS 3/8" 16NC 3‐1/2"LG         1.35$                     0.12
Cap Screws 1147698B105 HHCS 3/4" 10NC 3‐1/4LG          4.20$                     0.48
Cap Screws 1147725B105 HHCS 1/2" 13NC 3‐1/2" GR 5      1.65$                    
Cap Screws 1147726B108 HHCS 3/4" 16NF 4‐1/2"LG         7.05$                    
Cap Screws 1147744B105 HHCS 1/4" 20NC 1‐1/2"LG         0.35$                     0.04
Cap Screws 1147747BM12 HHCS M12‐1.75THRx30mm LONG      0.85$                     0.09
Cap Screws 1147747BM16 HHCS M16‐2.0THRx50mm LONG       4.50$                     0.09
Cap Screws 1147747B105 HHCS 3/4" 10NC 8‐1/2 LG         11.00$                  

Nuts 1150001 L'NUT 7/16" 20NF FL T‐L GR5(B)  2.20$                    
Nuts 1150005 HUCK COLLAR 3/4" STANDARD       4.20$                    
Nuts 1150006 NUT 3/4" 10NC JAM GR2 PLTD      0.90$                     0.07
Nuts 1150007 NUT 1" 14NF JAM HEX GR2 PLAIN   1.80$                    
Nuts 1150008 NUT 1" 14NF HEX GR2 PLAIN       1.95$                    
Nuts 1150011 L'NUT 3/4" 16NF GR2 NYL ZN PLT  2.50$                    
Nuts 1150012 L'NUT 1/2" 13NC FLN GR G CAD    1.75$                     0.06
Nuts 1150014 NUT 7/8" 14NF JAM GR5 ZN PLT    4.90$                     0.23
Nuts 1150015 L'NUT 3/8" 16NC NYL GR2 ZN PLT  0.45$                    
Nuts 1150016 L'NUT 3/4" 16NF FL‐TL GR8 ZNPL  4.90$                    
Nuts 1150018 L'NUT 1/4" 28NF NYL GR5 ZN PL   0.45$                    
Nuts 1150019 THR SLV 1‐1/2" 6NC 3‐1/2"OD     78.00$                  
Nuts 1150023 L'NUT 3/4" 10NC CTRLOK GD‐B ZN  3.30$                     0.1
Nuts 1150024 L'NUT M22x1.5‐6H M‐F SECURELOC  12.45$                  
Nuts 1150026 L'NUT 5/16" 18NC FL ZN WHIZLOC  0.45$                    
Nuts 1150027 L'NUT 3/4" 16NF GR8 SECURELOK   11.90$                   0.32
Nuts 1150028 L'NUT 7/8" 14NF GR8 SECURELOK   12.45$                   0.38
Nuts 1150029 L'NUT M18‐1.5 Gr8 N‐I ZINC PL   4.40$                    
Nuts 1150030 NUT 1" 14NF JAM GR8 ZN PLT      8.40$                    
Nuts 1150031 NUT 1" 14NF STD GR8 ZN PLT      4.90$                    
Nuts 1150032 L'NUT 7/8" 9NC GR8 SECURELOK    12.45$                   0.35
Nuts 1150033 L'NUT 1‐1/4" 7NC GR8 SECURELOK  21.40$                   0.5
Nuts 1150034 L'NUT 3/4 16NF NYL GR8 ZN PLT   2.85$                    
Nuts 1150039 L'NUT M24‐2.0 SECURELOK 7.45$                    
Nuts 1150043 HEX NUT,1‐1/8"‐5 ACME, STEEL    22.75$                  
Nuts 1150045 A'NUT,#10‐24NC NICKEL PLATED    0.20$                    
Nuts 1150553B102 L'NUT 7/8" 14NF NYL GR2 ZN PLT  5.15$                     0.19
Nuts 1150555B112 L'NUT 1/2" 13NC NYL GR2 ZN PLT  0.55$                     0.05
Nuts 1150558B102 NUT 3/4" 16NF GR2 ZN PLT        1.10$                     0.1
Nuts 1150583B100 THR SLV 1‐1/2"6NC 3‐1/2"OD ZN   41.00$                   2.28
Nuts 1150609B102 NUT 1‐1/8" 12NF GR2 ZN PLT      4.20$                     0.38
Nuts 1150609B105 NUT 1‐1/8" 12NF GR5 ZN PLT      11.50$                   0.38
Nuts 1150650B102 NUT 1/2" 13NC GR2 ZN PLT        0.45$                     0.05
Nuts 1150709B105 L'NUT 3/4" 10NC OVL 3/4"HI WAX  2.50$                     0.14
Nuts 1150818B102 NUT 1‐1/8" 12NF JAM GR2 ZN PLT  4.20$                     0.24
Nuts 1150818B105 NUT 1‐1/8" 12NF JAM GR5 ZN PLT  11.00$                   0.24
Nuts 1150870B002 NUT 7/8" 9NC GR2 PLAIN FINISH   0.95$                     0.18
Nuts 1151065B002 NUT 1‐1/2" 6NC JAM GR2 PLAIN    6.90$                     0.58
Nuts 1151384B102 L'NUT 3/4" 10NC NYL WAX GR2 ZN  1.60$                     0.12
Nuts 1151384B108 L'NUT 3/4" 10NC NYL GR8 ZINC    3.15$                    
Nuts 1151390B102 L'NUT 5/8" 11NC NYL GR2 ZN PLT  0.85$                     0.09
Nuts 1151678B105 L'NUT 1" 8NC NYL GR5 ZN PLT     4.05$                     0.26
Nuts 1152880B102 NUT 1‐1/4" 7NC GR2 ZN PLT       4.45$                     0.51
Nuts 1153015B102 NUT 3/8" 16NC GR2 ZN PLT        0.20$                     0.01
Nuts 1153504B102 L'NUT 7/8" 9NC NYL GR2 ZN PLT   3.00$                     0.19



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

7

Category Part Number Description                     List Price   Weight
Nuts 1154093B102 NUT 1/2" 20NF GR2 ZN PLT        0.55$                     0.03
Nuts 1154187B108 NUT 3/4" 16NF HI GR8 ZN PLT     2.85$                     0.18
Nuts 1154189B108 L'NUT 1/2" 20NF FLN TOP LK GR8  2.50$                     0.05
Nuts 1154260B102 NUT 1/4" 20NC GR2 ZN PLT        0.15$                     0.01
Nuts 1154264B102 NUT 5/16" 18NC GR2 ZN PLT       0.15$                     0.01
Nuts 1154410B102 NUT 1‐1/2" 6NC GR2 ZN PLT       7.00$                     0.9
Nuts 1154700B102 L'NUT 3/4" 16NF JAM NYL GR2 ZN  1.95$                     0.04
Nuts 1154718B105 L'NUT 7/8" 14NF TOP LK GR5 ZN   3.70$                     0.18
Nuts 1154790B108 NUT 1" 14UNS TALL GR8 ZN        10.55$                   0.4
Nuts 1155648B108 L'NUT 1‐1/4" 7NC 2B GR‐C, T‐L   8.40$                     0.64
Nuts 1155876B108 NUT 7/8" 14NF TALL GR8 ZN PLT   3.55$                     0.23
Nuts 1155939B102 L'NUT 1" 8NC THIN NYL GR2 ZN    5.00$                     0.12
Nuts 1155961B002 NUT 1" 8NC GR2 PLAIN FINISH     2.45$                     0.27
Nuts 1156152B105 L'NUT 1/2" 13NC TOP LK GR5 ZN   0.85$                     0.03
Nuts 1156238B108 L'NUT 5/8" 18NF TOP LK GR8 ZN   1.65$                     0.07
Nuts 1156315B108 L'NUT 5/8" 18NF TOP LK FL WAXD  2.75$                     0.11
Nuts 1157048B108 L'NUT 5/8" 11NC OVAL FLAN GR8   2.25$                     0.12
Nuts 1157401B108 NUT 1‐1/8" 12NF TALL GR8 ZN PL  11.65$                   0.5
Nuts 1157427B102 L'NUT 1‐1/2" 6NC NYL GR2 ZN PL  14.70$                   0.94
Nuts 1157482B105 L'NUT 3/8" 16NC FLAN TOP LK     0.65$                    
Nuts 1157492B105 L'NUT 1" 8NC SPS FLEX LOCK      19.20$                   0.28
Nuts 1157670B108 NUT 3/4" 10NC GR8 ZN PLT        2.25$                     0.12
Nuts 1157679B108 L'NUT 3/4" 10NC OVAL (5/8"HI)   2.75$                     0.12
Nuts 1157711B105 L'NUT 3/4" 10NC TOP LK FLANGE   3.80$                    
Nuts 1157725B002 NUT 1" 8NC JAM GR2 PLAIN FINSH  1.80$                     0.16
Nuts 1157725B108 NUT 7/8" 9NC HEX GR8 ZN PLT     3.30$                    
Nuts 1157738B301 COLLAR HUCK BOLT 3/4"HPCF‐R24U  5.50$                     0.24
Nuts 1157738B302 COLLAR HUCK BOLT 3/4" TAB LOCK  5.85$                    
Nuts 1157740B101 L'NUT 1/4‐20 WHIZ‐LOCK FLANGE   0.25$                    
Nuts 1157747BM12 NUT M12‐1.75 THRD               0.50$                     0.09
Nuts 1157747BM16 NUT M16‐2.0 THRD                1.00$                    

Washers 1160005 2.75"OD WASHER .100" (UHMW)     24.50$                  
Washers 1160009 SHIM WASHER .25 X 3.13 X 1.35   8.90$                    
Washers 1160010 SPACER 1.5ODx1.19IDx.13TK       8.40$                    
Washers 1160011 L'WASHER 3/8" INTERNAL TOOTH    0.45$                    
Washers 1160012 SHIM WASHER .125 X 3.13 X 1.35  8.90$                    
Washers 1160018 WASHER M24 FLAT ZINC PLTD 1.75$                    
Washers 1160021 WEAR WASHER UHMW‐PE MODEL 260   10.00$                   0.19
Washers 1160519B302 WASHER BRN'G SLV 7GA            6.70$                     0.52
Washers 1160519B901 WASHER/SHIM UHMW 9GA (.15")     7.45$                     0.14
Washers 1160519B903 WASHER/SHIM 12GA (UHMW)         6.65$                     0.05
Washers 1160556B100 L'WASHER 1/2" S/T MED           0.30$                     0.01
Washers 1160557B100 L'WASHER 3/4" S/T MED           0.45$                     0.04
Washers 1160576B100 WASHER 3/4" SAE FLAT            0.35$                     0.05
Washers 1160598B100 L'WASHER 5/8" S/T MED           0.35$                     0.02
Washers 1160610B100 L'WASHER 1‐1/8" S/T MED         2.25$                     0.11
Washers 1160673B000 L'WASHER 1‐1/2" INT TOOTHLOCK   13.00$                   0.06
Washers 1160675B100 L'WASHER 3/8" S/T MED           0.15$                     0.01
Washers 1160706B100 WASHER 3/4" SHOCK MOUNT         2.25$                     0.04
Washers 1160868B100 WASHER 7/8" A‐325 FLAT          1.20$                     0.07
Washers 1161097B100 L'WASHER 1‐1/2" S/T HVY         7.75$                     0.37
Washers 1161459B100 L'WASHER 1‐1/4" INT TOOTH       4.45$                    
Washers 1161461B100 WASHER 5/8 STD‐FLAT             0.65$                     0.08
Washers 1161480B100 WASHER 1" A‐325 FLAT            1.65$                     0.18
Washers 1161677B100 WASHER 1" SAE FLAT              0.80$                     0.3
Washers 1161829B100 WASHER 1‐1/8" A‐325 FLAT        2.85$                     0.09
Washers 1162030B100 WASHER 3/4 STD FLAT             1.10$                     0.1
Washers 1163836B000 L'WASHER 1‐1/8" INT TOOTH       2.20$                     0.02
Washers 1164259B100 L'WASHER 1/4" S/T MED           0.15$                    
Washers 1164263B100 L'WASHER 5/16 MED               0.15$                    
Washers 1164718B100 WASHER 7/8" TYPE B NARROW       1.65$                     0.02
Washers 1166025B000 L'WASHER 1" INTERNAL TOOTH      1.15$                     0.02
Washers 1166118B100 WASHER 1‐1/2" SAE A‐325         4.20$                     0.24
Washers 1166227B000 L'WASHER 7/8" INTERNAL TOOTH    1.00$                     0.01
Washers 1167053B100 WASHER 1/2" A‐325 FLAT          0.45$                     0.02
Washers 1167140B100 WASHER 3/4" A‐325 FLAT (F436)   0.90$                     0.04
Washers 1167369B100 WASHER 5/8" SAE/A‐325           0.65$                     0.03
Washers 1167482B000 L'WASHER 1/2 INTERNAL TOOTH     0.30$                    
Washers 1167680B000 WEAR WASHER, UHMW‐PE, BLACK     10.00$                   0.17

U‐bolts, Square Top 1170001 UB 7/8" 14NF 5‐1/16"X14"L       84.50$                  
U‐bolts, Square Top 1170002 UB 7/8" 14NF 5‐1/4"X14‐1/2"L    124.00$                
U‐bolts, Square Top 1170003 UB 7/8" 14NF 5‐11/16"X14‐1/2"L  47.80$                   5.3
U‐bolts, Square Top 1170004 UB 7/8" 14NF 6‐1/8"X15"L        49.95$                   5.5
U‐bolts, Square Top 1170005 UB 7/8 14NF 5‐3/16"X11"SPECIAL  47.25$                   4.24
U‐bolts, Square Top 1170006 UB 7/8" 14NF 5‐7/8"X13‐1/2"LG   51.30$                   4.2



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

8

Category Part Number Description                     List Price   Weight
U‐bolts, Square Top 1170010 UB 7/8" 14NF 6.0 x 12.5"        60.25$                  
U‐bolts, Square Top 1172603B306 UB 1" 14UNS 5‐11/16"X14"L       82.65$                  
U‐bolts, Square Top 1172603B307 UB 1" 14UNS 6‐3/16"X15"L        96.15$                  
U‐bolts, Square Top 1172603B313 UB 1" 14UNS 5‐1/16" X 11"       64.30$                   6
U‐bolts, Square Top 1172603B314 UB 1" 14UNS 5‐5/8" X 11‐1/2"    75.10$                   5.09
U‐bolts, Square Top 1173532B311 UB 7/8" 14NF 4‐15/16"X10‐1/2"L  49.15$                   4.12
U‐bolts, Square Top 1173532B315 UB 7/8" 14NF 5‐9/16"X10"L       105.50$                 3.92
U‐bolts, Square Top 1173532B317 UB 7/8" 14NF 5‐11/16"X10"L      105.50$                 4.2
U‐bolts, Square Top 1173532B326 UB 7/8" 14NF 5‐3/8"X14‐1/2"L    100.60$                 5.28
U‐bolts, Square Top 1173532B330 UB 7/8" 14NF 6‐3/16"X13"L       110.70$                 4.82
U‐bolts, Square Top 1173532B343 UB 7/8" 14NF 5‐1/8"X13‐1/2"L    56.20$                   4.9
U‐bolts, Square Top 1173532B344 UB 7/8" 14NF 5‐1/16"X10‐1/2"L   45.90$                   4
U‐bolts, Square Top 1173532B346 UB 7/8" 14NF 5‐1/16"X12"L       45.90$                   5.06
U‐bolts, Square Top 1173532B354 UB 7/8" 14NF 5‐1/16X13‐1/2      54.85$                  
U‐bolts, Square Top 1173532B355 UB 7/8" 14NF 5‐3/8"X13‐1/2"L    62.40$                   4.94
U‐bolts, Square Top 1173532B360 UB 7/8" 14NF 5‐1/8X9‐1/2        48.90$                  
U‐bolts, Square Top 1173532B362 UB 7/8" 14NF 5‐1/4X13‐1/2 1"R   56.70$                  
U‐bolts, Square Top 1173532B363 UB 7/8" 14NF 5‐11/16X14 W/1"R   64.55$                  
U‐bolts, Square Top 1173532B369 UB 7/8" 14NF 5‐1/8"X10‐3/4"L    45.90$                   4.9
U‐bolts, Square Top 1177401B000 UB 1‐1/8" 12NF 7.06"X14.5"L     81.55$                   9.3
U‐bolts, Square Top 1180004 UB 1"‐14UNS X 6.19 X 16.0LG     77.25$                   7.34
U‐bolts, Square Top 1180007 UB 3/4"‐16NF 6‐1/4"X6‐1/2"L     25.00$                   1.95
U‐bolts, Square Top 1183393B303 UB 7/8" 14NF 5"X12"L            46.45$                   4.88
U‐bolts, Square Top 1183393B304 UB 7/8" 14NF 10‐3/4"L           37.30$                   3.86
U‐bolts, Square Top 1187375B000 UB 7/8" 14NF 3"X18"L            69.15$                   6
U‐bolts, Square Top 1187393B000 UB 7/8" 14NF 3"X13‐1/2"L        42.15$                  
U‐bolts, Square Top 1187482B000 UB 3/8" 16NC 1‐3/4"X2‐1/2"L     28.10$                   0.18
U‐bolts, Square Top 1187676B301 UB 1" 14UNS 3"x20"L             86.40$                   8.6
U‐bolts, Square Top 1187676B302 UB 1" 14UNS 3"x19"L             86.40$                  
U‐bolts, Square Top 1187726B000 UB 3/8" 16NC 2"X3"LG ROUND TOP  26.50$                   0.2

Air Control Kits 1200016 ACK, 2 HCV W/LIFT               475.00$                 3.26
Air Control Kits 1200028 ACK W/MAN AX LIFT C'TRL, W/O    448.05$                 3
Air Control Kits 1200031 ACK‐DUMP KIT OPTION‐ELECTRIC    123.60$                 1
Air Control Kits 1200032 ACK‐DUMP KIT OPTION‐MANUAL      123.00$                 0.9
Air Control Kits 1200036 HCK‐(2)6330BDAC05 & (1)BPPV     240.00$                
Air Control Kits 1200038 ACK‐MANUAL LIFT AXLE CONTROL    450.00$                 5
Air Control Kits 1200038S    ACK‐MANUAL W/ST LOCK CONTROL    547.50$                 5.78
Air Control Kits 1200039 ACK‐ELECTRIC W/LIFT‐IN‐REVERSE  545.00$                 5
Air Control Kits 1200039S    ACK‐ELECTRIC W/ST LOCK CNTRL    635.00$                 6
Air Control Kits 1200042 ACK for LKS AXLE‐STEER LOCK     148.85$                 0.5
Air Control Kits 1200045 ACK FOR MULTI‐AXLE APPS         370.00$                 3.5
Air Control Kits 1200051 ACK FOR HCV W/ELECTRIC RAISE    412.00$                
Air Control Kits 1200052 AIR CONTROL KIT W/INTEG.TANK    1,297.50$             37
Air Control Kits 1200060 TANDEM HCV KIT                  235.00$                 1.5
Air Control Kits 1200061 HCV W/NON‐INTEGRTD MAN DUMP     265.00$                
Air Control Kits 1200062 ACK‐LIFT AXLE W/O PANEL         385.00$                 5.4
Air Control Kits 1200063 INTEGRATED 215 ACK W/O TANK     1,280.00$            
Air Control Kits 1200064 INTEGRATED 215 ACK W/TANK       1,485.00$            
Air Control Kits 1200072 ACK ELECTRIC W/O LIFT‐IN‐REV    515.00$                 5.68
Air Control Kits 1200075 AIR TANK KIT 232LM & 232‐8k     1,375.00$             37
Air Control Kits 1200076 AIR TANK KIT 232MM & 232HM      1,360.00$            
Air Control Kits 1200076S AIR TANK KIT 232MM & 232HM      1,380.00$            
Air Control Kits 1200077 A/TANK KIT 1300ci W/O ACK PANL  1,100.00$            
Air Control Kits 1200078 A/TANK KIT 1300ci W/O ACK PANL  1,095.00$            
Air Control Kits 1200080 HCV W/ELEC DUMP,NON‐INTEGRATED  221.45$                
Air Control Kits 1200081 HCV W/MANUAL DUMP,NON‐INTEGRTD  255.00$                 2.66
Air Control Kits 1200082 HCV W/MANUAL DUMP,NON‐INTEGRTD  212.00$                
Air Control Kits 1200083 HCV W/MANUAL DUMP,NON‐INTEGRTD  225.00$                
Air Control Kits 1200085 HCV W/ELEC DUMP, INTEGRATED     242.50$                
Air Control Kits 1200086 HCV W/MANUAL DUMP,INTEGRATED    357.50$                
Air Control Kits 1200087 HCV W/MANUAL DUMP, INTEGRATED   212.70$                
Air Control Kits 1200089 HCV W/AUTOMATIC DUMP,INTEGRATD  149.35$                
Air Control Kits 1200090 A/TANK KIT 1300ci W/BRAKE REL   230.00$                 18
Air Control Kits 1200091 A/TANK KIT 2200ci W/BRAKE REL   275.00$                 35.8
Air Control Kits 1200092 ACK,HCV W/ELEC LIFT&LWR 24V     674.65$                 2.1
Air Control Kits 1200100 ACK,TRLR W/AUX AXL,MANUAL       207.00$                 1.54
Air Control Kits 1200101 ACK,TRLR W/AUX AXL,ELECTRIC     520.00$                 2.1
Air Control Kits 1200102 ACK,TRLR,ELEC/L‐IN‐R,PWR‐2‐LFT  500.00$                
Air Control Kits 1200104 ACK,TRLR,ELEC/L‐IN‐R,PWR‐2‐LWR  499.55$                
Air Control Kits 1200105 ACK,TRLR W/AUX AXL,MANUAL       350.00$                
Air Control Kits 1200110 ACK,AUTO PRESS,12V,ENER.TO LFT  905.00$                 12.18
Air Control Kits 1200110S    ACK,AUTO PRESS,12V,ENER.TO LFT  1,040.00$            
Air Control Kits 1200111 ACK_BOX,ONE,ETOLIFT,LIFT N REV  809.00$                
Air Control Kits 1200112 ACK box,One E, M GL.DEF‐DOWN    780.00$                
Air Control Kits 1200200 HCK OVRD MAN,FLADJ.NO LFT       460.00$                
Air Control Kits 1200201 HCK OVRD MAN,FLADJ.W/LIFT       660.00$                



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

9

Category Part Number Description                     List Price   Weight
Air Control Kits 1200202 HCK OVRD MAN, FLADJ. NO LIFT 565.00$                
Air Control Kits 1200212 HCK OVRD MAN, FULL RAISE, NO LFT 367.50$                
Air Control Kits 1200221 HCK OVRD MAN,FLRAS OVRD,W/LIFT  220.00$                
Air Control Kits 1200224 HCK OVRD ELEC,FLRAS OVRD,N/LFT  67.50$                  
Air Control Kits 1201112111A ACK_box,One,M,A,Reg,            655.00$                
Air Control Kits 1201112211A ACK_box,One,M,A,Reg,PPV,        681.00$                
Air Control Kits 1201121111A ACK_box,One,M,M_GL,NO‐PPV,      700.00$                
Air Control Kits 1201121211A ACK_box,One,M,M_GL,PPV,         805.00$                
Air Control Kits 1201121211A ACK_box,One,M,M_GL,PPV,DIONBIL  793.00$                 13.3
Air Control Kits 1201122111A ACK_box,One,M,M_GL,Reg,NO PPV,  780.00$                
Air Control Kits 1201122211A ACK_box,One,M,M_GL,Reg,PPV,     805.00$                 12.5
Air Control Kits 1201212111A ACK_box,One,E,A,Reg,            873.00$                 11.9
Air Control Kits 1201212211A ACK_box,One,E,A,REG,PPV,NO S/L  844.00$                
Air Control Kits 1201212211S ACK_box,One,E,A,REG,PPV,S/L     890.00$                
Air Control Kits 1201221211A ACK_box,One,E,M_GL,PPV,         817.50$                 16
Air Control Kits 1201221211A ACK,1,E,M_GL,PPV,DIONBILT,SPCL  805.00$                
Air Control Kits 1201222111A ACK_box,One,E,M GL,Reg,NO PPV   765.00$                
Air Control Kits 1201222211A ACK_box,One,E,M GL,Reg,PPV      812.70$                 12.64
Air Control Kits 1201312111A ACK_box,One,E_LR,A Reg.         825.00$                
Air Control Kits 1201312112A ACK_box,One,E_LR,A Reg.         1,401.00$             17
Air Control Kits 1201321211A ACK_box,One,E_LR,M GL,PPV       785.00$                 13.18
Air Control Kits 1201321221A ACK_box,One,E_LR,M_GL,PPV,Sch,  780.00$                
Air Control Kits 1201322111A ACK_box,One,E_LR,A Reg.         785.00$                
Air Control Kits 1201322211A ACK_box,One,E_LR,M GL,Reg,PPV   810.00$                
Air Control Kits 1202121111A ACK_box,Two,M,M_GL,NO/PPV,      1,158.00$            
Air Control Kits 1202121211A ACK_box,Two,M,M_GL,PPV,         1,402.50$             16.5
Air Control Kits 1202121211A ACK,2,M,M_GL,PPV,DIONBILT,SPCL  1,373.00$            
Air Control Kits 1202121211S ACK_box,Two,M,M_GL,PPV,S/L      1,250.00$            
Air Control Kits 1202212211A ACK_box,Two, ELECT. E‐TO LOWER  1,355.00$            
Air Control Kits 1202220C100 ACK 1HCV MAN AX LIFT W/ELE DMP  430.00$                 5.62
Air Control Kits 1202221211A ACK_box,Two,E,M_GL,PPV,         1,390.00$             16
Air Control Kits 1202221211A ACK,2,E,M_GL,PPV,DIONBILT,SPCL  1,366.00$            
Air Control Kits 1202222211A ACK_box,Two,E,M_GL,Reg,PPV,     1,270.00$            
Air Control Kits 1202321211A ACK_box,Two,E_LR,M_GL,PPV,      1,221.00$            
Air Control Kits 1202322111A ACK_box,Two,E_LR,M_GL,Reg       1,281.00$            
Air Control Kits 1202322211A ACK_box,Two,E_LR,M_GL,Reg,PPV   1,307.00$             16.5

Control Panel Assemblies 1210001 (3) SOL/TOG SW KIT              319.30$                
Control Panel Assemblies 1210004 AIR CONTROL PANEL FOR PLT VLV   420.00$                 3
Control Panel Assemblies 1210013 ACK BOX,AUTO,P/S REG, E‐TO LOW  765.00$                
Control Panel Assemblies 1210014 ACK BOX,AUTO,P/S REG, E‐TO LOW  745.00$                
Control Panel Assemblies 1210019 ACK BOX,ONE AXLE, MAN, W/GUAGE  625.00$                
Control Panel Assemblies 1210021 ACK BOX,AUTO,P/S REG,E‐TO LIFT  725.00$                
Control Panel Assemblies 1210023 ACK BOX,W/LATCH & GROMMETS      240.00$                
Control Panel Assemblies 1210024 ACK PANEL, MANUAL LIFT AX CTRL  305.00$                
Control Panel Assemblies 1210025 ACK PANEL, ELECT LIFT AX CTRL   380.00$                
Control Panel Assemblies 1212408C000 AIR CONTROL PANEL‐REG W/GAGE    200.00$                 1.82

Air Compressor Assemblies 1220003 AIR COMP./P.SWTCH/W/ FITTINGS   1,125.00$             37.7
Air Compressor Assemblies 1220004 USE 1200031                     130.00$                 0.44
Air Compressor Assemblies 1220005 USE 1200032                     95.00$                   0.86
Air Compressor Assemblies 1220006 AIR COMP./P.SWTCH/W/ FITTINGS   785.00$                 6.14
Air Compressor Assemblies 1220007 AIR COMP./P.SWTCH/W/AIR TANK    920.00$                 28.66
Air Compressor Assemblies 1220008 AIR COMP W/ TANK, P‐SWTCH HCV 1,395.00$            
Air Compressor Assemblies 1220009 AIR COMP W/ TANK, P‐SWTCH FIT 1,170.00$            
Air Compressor Assemblies 1220010 OPTIONAL AIR TANK KIT 160.00$                
Air Compressor Assemblies 1220016 AC ASY/100PSI 1/3HP PNU         2,600.00$             25
Air Compressor Assemblies 1220021 AC INSTL/1TK 100# 1/3HP         2,722.50$             30
Air Compressor Assemblies 1220031 AC INSTL/2TK 100# 1/3HP         2,865.00$             48

Air Control Parts, Purchased 1230006 ADAPTER, R/W HCV/DUMP COMBO     23.00$                  
Air Control Parts, Purchased 1230011 ELBOW 90 Dg 1/4MNPT X 1/4 PTC   9.80$                    
Air Control Parts, Purchased 1230021 RUB GROMMET 60 DURO GMT118860S  2.45$                    
Air Control Parts, Purchased 1230023 V‐LINK D‐FLT 4" Lg.             8.65$                    
Air Control Parts, Purchased 1230031 AIR GAUGE 0‐100psi 1.5OD        20.80$                   0.16
Air Control Parts, Purchased 1230036 FTG,PTC,STRGHT,1/4NPT X 1/4PTC  6.05$                    
Air Control Parts, Purchased 1230037 SWITCH, PRESS. 84‐105PSI, 1/8   89.50$                   0.88
Air Control Parts, Purchased 1230038 BUSHING, HEX, 1/4NPT X 1/8NPT   3.00$                     0.04
Air Control Parts, Purchased 1230039 VALVE, INFLATER, 1/4"NPT        26.50$                  
Air Control Parts, Purchased 1230047 PRE‐SET PRESSURE REGULATOR      61.50$                   0.56
Air Control Parts, Purchased 1230048 GAUGE/PRESS./AIR/0‐160#/LIQ.    68.50$                   0.44
Air Control Parts, Purchased 1230051 MUFFLER 1/8 NPT                 11.50$                  
Air Control Parts, Purchased 1230053 FITTING, STRT 3/8PTC X 1/4NPT   8.50$                    
Air Control Parts, Purchased 1230055 VALVE, AIR PILOT, NO or NC      79.00$                   0.62
Air Control Parts, Purchased 1230056 SOL VLV 3‐WAY W/OVERIDE 12VDC   118.20$                
Air Control Parts, Purchased 1230057 VALVE,PRESSURE RETENTION 10PSI  35.30$                  
Air Control Parts, Purchased 1230059 PLUG 1/4" MPT HEX SOCKET        0.60$                     0.04



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

10

Category Part Number Description                     List Price   Weight
Air Control Parts, Purchased 1230060 VALVE, PPV W/CHECK  3/8 NPT     34.55$                   0.4
Air Control Parts, Purchased 1230061 AIR COMP. 12V 1/5HP THOMAS      455.00$                 6.98
Air Control Parts, Purchased 1230065 CONN.#66X4X4 FEMALE 1/4FNPT X   8.35$                     0.06
Air Control Parts, Purchased 1230066 WIRE ASSY 70 Amp 1/5 HP         66.25$                  
Air Control Parts, Purchased 1230067 WIRE ASSY 70A 1/3&1/4 HP        72.10$                  
Air Control Parts, Purchased 1230068 RELAY 30AMP 12VDC‐MCM #26‐534B  17.75$                  
Air Control Parts, Purchased 1230069 VALVE, 4‐WAY MANUAL AIRMAN      105.00$                
Air Control Parts, Purchased 1230071 FITTING,BLKHD 3/8"PTCX3/8"FNPT  42.75$                  
Air Control Parts, Purchased 1230077 VALVE,SOLENOID, 3WAY‐2POS HUM   244.25$                
Air Control Parts, Purchased 1230078 VALVE,QUICK EXHAUST, 1/4"PORTS  42.25$                   0.7
Air Control Parts, Purchased 1230080 GAUGE,2"PANEL,LIGHT 0‐150 PSI   38.00$                  
Air Control Parts, Purchased 1230081 RELAY VALVE,HALDEX RG2,6PSI     106.35$                
Air Control Parts, Purchased 1230082 FITTING,BLKHD 1/4"FNPTX3/8"PTC  19.55$                  
Air Control Parts, Purchased 1230087 VALVE, 4‐WAY MANUAL (PARKER)    275.00$                
Air Control Parts, Purchased 1230088 VALVE, 4‐WAY 12V SOL            255.00$                
Air Control Parts, Purchased 1230092 AIR HOSE P.S.I. SHORT >17.5     68.00$                   0.15
Air Control Parts, Purchased 1230093 AIR HOSE P.S.I. LONG >17.5      68.00$                   0.15
Air Control Parts, Purchased 1230095 TANK, 1300 CI, 8"OD x 28.5L     135.50$                 19
Air Control Parts, Purchased 1230096 ACK PANEL,AUX AX CNTRL,ELECTRC  509.85$                
Air Control Parts, Purchased 1230097 RELAY W/SOCKET,5PIN,14/16GA     6.45$                    
Air Control Parts, Purchased 1230100 FITTING,STEM ELBOW 3/8" PTC     8.25$                     0.02
Air Control Parts, Purchased 1230105 PLUG 3/8" PTC DOT               3.10$                    
Air Control Parts, Purchased 1230107 VALVE,RATIO RELAY ADJUSTABLE    557.75$                
Air Control Parts, Purchased 1230109 REDUCER 3/8"TUBEx1/4" PTC       8.00$                    
Air Control Parts, Purchased 1230110 ACK ENCLOSURE                   236.00$                
Air Control Parts, Purchased 1230111 VALVE 4WAY ELEC 24VDC 175PSI    260.60$                
Air Control Parts, Purchased 1230112 PANEL ACK ENCLOSURE             22.75$                  
Air Control Parts, Purchased 1230113 VALVE, 4‐WAY 12V M‐OVRD S‐PRES  223.00$                
Air Control Parts, Purchased 1230115 ELBOW 90 Dg 1/8FNPT X 1/4 PTC   5.50$                    
Air Control Parts, Purchased 1230116 VALVE,4‐WAY MANUAL S‐PRESS      178.00$                
Air Control Parts, Purchased 1230117 VALVE,4‐WAY MANUAL DUAL PRESS   183.50$                
Air Control Parts, Purchased 1230120 ACK PANEL,AUX AXLE CNTRL,ELECT  422.30$                
Air Control Parts, Purchased 1230121 INACTIVE USE 1230069            407.00$                
Air Control Parts, Purchased 1230122 VALVE, 4‐WAY ELECTRIC S‐PRESS   333.50$                
Air Control Parts, Purchased 1230123 VALVE 4‐WAY 12V D‐PRES EXT PLT  365.50$                
Air Control Parts, Purchased 1230125 FITTING,1/4 MNPT‐3/8 STEM METL  9.95$                     0.02
Air Control Parts, Purchased 1230126 FITTING,1/4 MNPT‐3/8 STEM PLAS  2.50$                     0.02
Air Control Parts, Purchased 1230128 BRACKET KIT, AIR TANK 9.5" OD   40.00$                  
Air Control Parts, Purchased 1230129 TANK, 2200 CI 9.5"OD 32.0"Lg    175.00$                
Air Control Parts, Purchased 1230130 KNOB, PUSH/PULL 1.5"RD X M6‐1   7.00$                    
Air Control Parts, Purchased 1230139 TANK, 925CI,W/BRACKETS          215.00$                
Air Control Parts, Purchased 1230141 PRESSURE REG,1/4 NPT,NO NUT     29.15$                  
Air Control Parts, Purchased 1230142 VALVE, 3‐WAY, 24V 1/8" PORTS    228.15$                 1
Air Control Parts, Purchased 1230143 NUT, REGULATOR MOUNT (PARKER)   4.50$                    
Air Control Parts, Purchased 1230144 CHECK VALVE PILOT TO OPEN       495.00$                
Air Control Parts, Purchased 1230145 PRESSR SWITCH CLOSE P< OPEN P>  172.75$                
Air Control Parts, Purchased 1230146 PROXIMITY SWITCH ‐ NORM OPEN    170.00$                
Air Control Parts, Purchased 1230147 VALVE 24V 5‐WAY W/MAN           422.50$                
Air Control Parts, Purchased 1230149 PROXIMITY SWITCH ‐ N/C 1052674  238.00$                
Air Control Parts, Purchased 1230154 VALVE, 4‐WAY 12V 4PORT MAC 900  225.00$                
Air Control Parts, Purchased 1230156 VLV,MAN,4‐WAY SPRES LEVERDOWN   132.00$                
Air Control Parts, Purchased 1230160 VALVE,PRESSURE RETENTION 20PSI  47.00$                  
Air Control Parts, Purchased 1230171 AIR COMP 1/4HP 0.94 CFM@100 PSI 750.00$                
Air Control Parts, Purchased 1230172 P SWITCH WITH RELAY 90‐120 PSI 57.75$                  
Air Control Parts, Purchased 1230175 VALVE,DETENT TOGGLE #404811000  187.50$                
Air Control Parts, Purchased 1230688B000 FILTER,1/4NPT X 1/4NPT          22.15$                   0.22
Air Control Parts, Purchased 1230793B002 AIR GAUGE LQUID FILED 160 PSI   88.10$                  
Air Control Parts, Purchased 1230986B301 VALVE,PRESS REG,HAND OP WILMS   466.10$                 4.32
Air Control Parts, Purchased 1231644B000 VLV QUICK RELEASE 288251        155.05$                 0.7
Air Control Parts, Purchased 1231681B001 VALVE,TOGGLE CTRL,3‐WAY MANUAL  64.00$                   0.5
Air Control Parts, Purchased 1232153B000 PRESSURE REG,1/4 NPT NORGREN    41.75$                   0.36
Air Control Parts, Purchased 1232751B001 DECAL "AXLE LOAD" +/‐ROTERY     2.50$                    
Air Control Parts, Purchased 1232753B000 DECAL "UP/DOWN"                 2.50$                    
Air Control Parts, Purchased 1232753B001 DECAL "AXLE DN <‐‐ ‐‐> UP"      2.50$                    
Air Control Parts, Purchased 1232754B000 DECAL "UNIVERSAL AIR C"         2.50$                    
Air Control Parts, Purchased 1232754B001 DECAL "RWC AXL/LD UP/DN"        2.50$                    
Air Control Parts, Purchased 1232754B002 DECAL "RIDEWELL LOGO" .5x2.31   2.50$                    
Air Control Parts, Purchased 1232754B003 DECAL "AXLE #1" .5x1.25         2.50$                    
Air Control Parts, Purchased 1232754B004 DECAL "AXLE #2" .5x1.25         2.50$                    
Air Control Parts, Purchased 1234237B001 DECAL FOR TOGGLE VALVE          2.50$                     1
Air Control Parts, Purchased 1234248B000 PRESSURE SWITCH‐A/C ASY         101.50$                 0.88
Air Control Parts, Purchased 1234249B000 STARTER SOL SP. SS‐584          117.00$                 0.86
Air Control Parts, Purchased 1234250B301 NIPPLE 1/4MNPT X 1/4MNPT        4.00$                     0.01
Air Control Parts, Purchased 1234250B303 CONNECTOR 1/4T X 1/4MP #68X4X4  5.10$                     0.06
Air Control Parts, Purchased 1234250B305 REDUCER 3/8"MNPT X 1/4"FNPT     4.00$                     0.04
Air Control Parts, Purchased 1234250B317 PLUG 3/8 MNPT HEX HEAD BRASS    5.25$                     0.06
Air Control Parts, Purchased 1234250B322 PLUG 1/4MPT HEX HEAD            2.50$                     0.04



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

11

Category Part Number Description                     List Price   Weight
Air Control Parts, Purchased 1234250B326 HEX NIPPLE 1/4PX1/8P#C3325X4X2 5.90$                    
Air Control Parts, Purchased 1234250B327 STREET TEE 1/4MPT #3750X4       13.75$                  
Air Control Parts, Purchased 1234250B334 ELBOW 1/4MNPT X 1/4MNPT         10.75$                  
Air Control Parts, Purchased 1234250B337 MUFFLER 1/4 NPT,HI FLOW #P‐28   7.70$                    
Air Control Parts, Purchased 1234250B347 NTA CONNECTOR 1/4x1/4#1468X4X4  10.25$                   0.07
Air Control Parts, Purchased 1234250B348 NTA CONNECTOR 3/8x1/4 #1468x6   9.95$                     0.08
Air Control Parts, Purchased 1234250B350 ELBOW NTA 3/8x1/4#1469X6        14.00$                   0.06
Air Control Parts, Purchased 1234250B352 NTA CONTR 1/4 TO 10mm           14.85$                  
Air Control Parts, Purchased 1234250B355 NIPPLE 3/8"NPT STEEL HEX        4.70$                    
Air Control Parts, Purchased 1234256B001 TANK 1175 CI, 8" OD x 27"L      121.50$                 19.18
Air Control Parts, Purchased 1234257B000 BRACKET KIT, AIR TANK‐8"TANK    40.95$                   3.54
Air Control Parts, Purchased 1234258B000 DRAIN COCK, 1/4" MNPT BRASS     4.20$                     0.04
Air Control Parts, Purchased 1234267B000 TOGGLE SWITCH ON‐OFF            9.65$                     0.06
Air Control Parts, Purchased 1234645B000 VALVE, MANUAL 4‐WAY, 1/8"PORTS  240.00$                 0.56
Air Control Parts, Purchased 1234761B000 PRESSURE PROTECTION VLV WM778A  30.40$                   0.5
Air Control Parts, Purchased 1234924B000 CHECK VALVE, 1/4MNPT X 1/4FNPT  30.40$                   0.28
Air Control Parts, Purchased 1235247B002 PRESSURE REGLATR WM279R‐111949  198.80$                 0.5
Air Control Parts, Purchased 1235247B003 WILLIAMS #104738 ‐PANEL ONLY    44.85$                  
Air Control Parts, Purchased 1235247B004 PRSURE REGULATR WM279R2‐117599  142.70$                
Air Control Parts, Purchased 1235555B000 DAMPENER LK 1/4"IDX3"L          7.50$                     0.04
Air Control Parts, Purchased 1235555B001 P‐DAMPNER/CONNECTOR             4.90$                     0.04
Air Control Parts, Purchased 1235842B001 CONNECTING ROD 1/4" 15‐1/2"Lg   7.75$                    
Air Control Parts, Purchased 1235842C301 CONNECTING ROD 1/4" 9.5"L       7.00$                    
Air Control Parts, Purchased 1236478B000 CLAMP 3/16"‐5/16" HOSE          1.40$                     0.01
Air Control Parts, Purchased 1237185B000 AIR COMP. 12V 1/3HP THOMAS      2,230.00$             24
Air Control Parts, Purchased 1237257B000 INACTIVE ‐ USE 1237185B000      1,890.00$             27
Air Control Parts, Purchased 1237257B001 AIR FILTER PNEUMOTIVE           23.70$                  
Air Control Parts, Purchased 1237321B001 TANK 6"DIA 500 CU IN            117.70$                 8.72
Air Control Parts, Purchased 1237379B001 DIODE 20 AMP NTE 5912           29.90$                   0.02
Air Control Parts, Purchased 1237379B002 AIR PILOT VALVE ‐ #111542 WM    164.80$                 0.82
Air Control Parts, Purchased 1237379B004 VLV AIR PILOT 3/8" 5 PRT/2 POS  192.50$                 0.98
Air Control Parts, Purchased 1237423B001 FIT'G ORB 3/4‐16X1/4NPTF        3.55$                    
Air Control Parts, Purchased 1237423B002 LOWER CONCT'R 5/16" 18NC        8.25$                    
Air Control Parts, Purchased 1237423B003 LOWER STR CONN 5/16" 2.5"       3.10$                     0.2
Air Control Parts, Purchased 1237423B008 LOWER CONN STR 1/4"20NC         3.10$                    
Air Control Parts, Purchased 1237423B009 LEVELING ARM 1/4"D W/UPSETS     5.05$                     0.18
Air Control Parts, Purchased 1237423B010 RIDEWELL UNIVERSAL BRKT@VALVE   2.00$                     0.2
Air Control Parts, Purchased 1237423B012 VALVE MTG BRK'T REYCO 12908‐03  9.30$                     0.6
Air Control Parts, Purchased 1237423B013 LOWER CONCT'R 5/16" 18NC 2"L    5.45$                    
Air Control Parts, Purchased 1237423B014 GROMMET EYE END DAMPNER .25"ID  1.55$                     0.01
Air Control Parts, Purchased 1237423B015 V LINK SINGLE EYE 14"           3.65$                    
Air Control Parts, Purchased 1237423B016 V LINK SINGLE EYE 18"           7.15$                    
Air Control Parts, Purchased 1237423B018 V LINK SINGLE EYE 10.5"         9.10$                    
Air Control Parts, Purchased 1237423B019 V LINK SINGLE EYE 19.9L         13.65$                   0.04
Air Control Parts, Purchased 1237423B020 V LINK SINGLE EYE 25.0" Zn PLT  11.75$                   0.38
Air Control Parts, Purchased 1237423B028 V‐LINK ‐90 DBL EYE 10.75        4.55$                    
Air Control Parts, Purchased 1237423B029 V LINK FLT DBL EYE 7.6"         0.65$                    
Air Control Parts, Purchased 1237423B044 V LINK SINGLE EYE 15.00"        10.70$                  
Air Control Parts, Purchased 1237423B045 V LINK SINGLE EYE 12"           6.95$                    
Air Control Parts, Purchased 1237570B301 VALVE,4‐WAY 12V SOL HUMPHREY    240.50$                 0.78
Air Control Parts, Purchased 1237652B000 SOL VLV 3‐WAY 12DC MAC          8.00$                     0.26
Air Control Parts, Purchased 1237670B000 VALVE 3 WAY MANUAL TOGGLE       212.70$                 0.88
Air Control Parts, Purchased 1237670B002 VALVE 3 WAY MANUAL ROTARY       82.00$                   1
Air Control Parts, Purchased 1237670B003 VALVE 3WAY ARPILT 250A 3‐11‐21  145.75$                 0.5
Air Control Parts, Purchased 1237723B000 3‐WAY CART ASSY FOR DUMP VLV    48.45$                  
Air Control Parts, Purchased 1237740B001 CONNECTOR PIN, 1/4", HCV        3.35$                    
Air Control Parts, Purchased 1237741B301 SOLENOID VALVE 4‐WAY 24V        269.15$                 0.8

Air Control Parts & Sub‐Assemblies, Mfg. 1240002 REVERSING CYL W/CONTROL VLV     1,615.00$            
Air Control Parts & Sub‐Assemblies, Mfg. 1240028 WIRE ASY 14 Ga RED 2' Lg        8.75$                    
Air Control Parts & Sub‐Assemblies, Mfg. 1240029 WIRE ASY 10 Ga BLACK 10‐1/2"Lg  13.45$                  
Air Control Parts & Sub‐Assemblies, Mfg. 1240097 2‐1/4" ANCHOR PAK‐VLV           3.70$                    
Air Control Parts & Sub‐Assemblies, Mfg. 1240105 Mac 4‐way 24V sol. w/breathers  213.50$                
Air Control Parts & Sub‐Assemblies, Mfg. 1240106 Mac 4‐way 12V sol. w/breathers  213.50$                
Air Control Parts & Sub‐Assemblies, Mfg. 1240108 1/4" COPPER TUBE, 3 FT.         30.05$                  
Air Control Parts & Sub‐Assemblies, Mfg. 1240109 REV'G CYL W/12Vdc VLV 19.25"    1,730.00$            
Air Control Parts & Sub‐Assemblies, Mfg. 1240110 TOGGLE SWITCH KIT 3 WAY MANUAL  95.95$                  
Air Control Parts & Sub‐Assemblies, Mfg. 1240124 VALVE ASY,4WY ELEC PWR TO LIFT  465.00$                
Air Control Parts & Sub‐Assemblies, Mfg. 1244252B301 PLASTIC TUBE 1/4" 15'L          24.75$                   0.2
Air Control Parts & Sub‐Assemblies, Mfg. 1244761B000 BRAKE PROTECTION VLV W/SCREEN   35.05$                   0.5
Air Control Parts & Sub‐Assemblies, Mfg. 1247423B016 L'KIT W/DBL OFFSET 15.5LK       33.50$                   0.4
Air Control Parts & Sub‐Assemblies, Mfg. 1247423B019 LEVELING ARM W/UPSETS 9‐3/8"L   5.05$                    
Air Control Parts & Sub‐Assemblies, Mfg. 1247423C011 L'KIT 5/16"ST 14"VRT 11.75"ARM  21.40$                   0.6
Air Control Parts & Sub‐Assemblies, Mfg. 1247423C012 L'KIT 5/16"ANG 14"VRT 11.75ARM  25.70$                   0.75
Air Control Parts & Sub‐Assemblies, Mfg. 1247423C013 L'KIT 1/4"ST 18"VRT 11.75"ARM   27.80$                   0.62
Air Control Parts & Sub‐Assemblies, Mfg. 1247423C014 L'KIT 5/16"ST 18"VRT 9.5"ARM    28.25$                  
Air Control Parts & Sub‐Assemblies, Mfg. 1247423C015 L'KIT 1/4"ST 16" VRT 9.5"ARM    27.80$                  



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

12

Category Part Number Description                     List Price   Weight
Air Control Parts & Sub‐Assemblies, Mfg. 1247423C016 L'KIT 5/16"ST 10.5"VRT & 11.75  18.30$                  
Air Control Parts & Sub‐Assemblies, Mfg. 1247423C017 L'KIT 5/16"ST 500mm 11.75"ARM   27.05$                   0.52
Air Control Parts & Sub‐Assemblies, Mfg. 1247423C114 L'KIT 5/16ST 500mmVRT 9.5"ARM   31.70$                   0.68
Air Control Parts & Sub‐Assemblies, Mfg. 1247570B000 REVERSING CYL W/CONTROL VLV     1,480.00$            
Air Control Parts & Sub‐Assemblies, Mfg. 1247570C301 REVERSNG CYL ASM W/MNTS A=2.63  1,665.00$            
Air Control Parts & Sub‐Assemblies, Mfg. 1247570C302 REVERSNG CYL ASM W/MNTS A=7.63  1,717.50$             28
Air Control Parts & Sub‐Assemblies, Mfg. 1247726C000 AIR CYL W/MTG 2.63" (NO SOLND)  1,320.00$             23.54
Air Control Parts & Sub‐Assemblies, Mfg. 1247747B000 rev'g cylw/24vdc vlv 19.25"     1,675.00$             25

Shocks, Gabriel 1250789B000 SHOCK ASY 8.01" 665526‐40T      119.50$                 6.48
Shocks, Gabriel 1251894B000 SHOCK ASY 13.26" 665153         194.00$                 8.68
Shocks, Gabriel 1252607B000 SHOCK ASY 8.5" 680101           145.50$                 9.8
Shocks, Gabriel 1253069B000 SHOCK ASY 9.51" 665198          129.75$                 7.06

Shocks, Koni 1260008 SHOCK ASS'Y 90‐2610SP1 KONI     540.00$                 13
Shocks, Koni 1260009 SHOCK ASS'Y 90‐2611 KONI        540.00$                 12.97
Shocks, Koni 1265478B000 SHOCK ASY 90‐1868 8.31"         447.50$                 12.46
Shocks, Koni 1265583B001 SHOCK ASY 90‐2152 10.08" KONI   550.00$                 14.48
Shocks, Koni 1266009B000 SHOCK ASSY 84‐1168              192.50$                 5.38
Shocks, Koni 1267120B000 SHOCK ASY 90‐1951‐SP1           455.00$                 11.66
Shocks, Koni 1267249B000 SHOCK ASY 90‐1968‐P 6.53"       490.00$                 11.3
Shocks, Koni 1267611B000 SHOCK ASY 90C‐1951‐SP2          460.00$                 11.2

Shocks, Misc. 1270007 SHOCK MONROE #66627   (X72816)  167.00$                
Shocks, Misc. 1270563B000 SHOCK ASY 6.0" MNRO #70654      129.50$                 6.96
Shocks, Misc. 1270563B003 SHOCK ASY 6.0" MNRO #OE70720    143.00$                 6.92
Shocks, Misc. 1275813B000 SHK ASY 10.4" MNRO 74412        221.50$                 10.52

Shock Studs/Specialty Studs 1287465B000 SHOCK STUD/PEDST'L 5‐5/8        17.10$                  
Shock Studs/Specialty Studs 1287594B000 STUD 7/8" 14NF/14NF‐2A 6"L Gr5  24.40$                   0.76

Straps 1290002 PAIR/2"STRAP 19.5‐20"LG/1 PLY   140.50$                 0.9
Straps 1290563B001 PAIR,SHOCK STRAPS 17‐17.25"LG   225.00$                 1.04
Straps 1297680B000 STRAP AXLE LIFT 36"L NYLON WEB  59.50$                   0.68
Straps 1297680B001 STRAP AXLE LIFT 48"L NYLON WEB  94.00$                   0.68

Retainer Kits 1304398B000 RET KIT MED DUTY 3"X6" 21140‐7  506.50$                 20
Retainer Kits 1304963B000 RETAINER KIT 6"X 2.5"           320.00$                 12.24

Steering Dampeners 1307409B001 STR'G DMPN'R/GBR'L 6.0"#665486  150.00$                 5.46
Steering Dampeners 1307409B004 STR'G DMPN'R/GBR'L 9.51"        143.90$                 6.74
Steering Dampeners 1307564B000 RETAINER KIT 5.75X2.5 HVY DTY   189.50$                 12.1
Steering Dampeners 1310002 STEERING STABILIZER W/SPRING    162.95$                 8.36
Steering Dampeners 1317570B001 DAMPER SELF‐CTRG GBRL#646155    135.50$                 7.66

Steel Springs 1320007 ANTI‐ROLL IPD#149122 IFS SPRTN  802.50$                

Height Control Valve Parts, Misc. 13500002 ELBOW 90 Dg 1/8MNPT X 1/4 PTC   4.60$                    
Height Control Valve Parts, Misc. 13500003 ELBOW 90 Dg 1/4MNPT X 3/8 PTC   7.00$                    
Height Control Valve Parts, Misc. 13500007 TEE MALE BRANCH 1/4NPT 3/8 PTC  9.55$                    
Height Control Valve Parts, Misc. 1350008 FLEXIBLE DRAW LATCH #F7‐71      23.00$                  
Height Control Valve Parts, Misc. 1350018 H CLAMP,.562" OETIKER 10100019  2.50$                    
Height Control Valve Parts, Misc. 1350022 PANEL, MANUAL ACK, MAC VALVE    44.25$                  
Height Control Valve Parts, Misc. 1350023 PANEL, ELECTRIC ACK, MAC VALVE 40.50$                  
Height Control Valve Parts, Misc. 1357423B008 SCREEN 280 MICRON               0.90$                    
Height Control Valve Parts, Misc. 1357423B011 O‐RING #908‐8307/BUNA‐N 70 DUR  0.25$                    
Height Control Valve Parts, Misc. 1357423B026 PLASTIC PLUG I‐1/2              0.25$                    
Height Control Valve Parts, Misc. 1357740C002 PLUG 1/4" PTC INSERT            3.10$                    

Covers 1370014 COVER, 3.88 SQ, ADHESIVE BACK   6.00$                     0.2

Wear Pads 1400001 WP 5"X 6" W/4 HOLES F‐550 S.D.  45.60$                  
Wear Pads 1405578B303 WP 4‐1/2"X6" W/4 HOLES SYM      0.44$                     0.44
Wear Pads 1407750B000 WEAR PAD 2"x 4.5" 2 HOLE,E‐350  41.10$                  

Electric Control Parts, Purchased 1420004 RELAY 70AMP 12VDC #VF741F11     23.95$                  
Electric Control Parts, Purchased 1420005 ECU/VLV ASY 2S/1M #4005001010   710.00$                
Electric Control Parts, Purchased 1420006 EXTENSION CABLE 10'#4497130300  23.75$                  
Electric Control Parts, Purchased 1420007 POWER CABLE 36' #4493281100     101.00$                
Electric Control Parts, Purchased 1420008 ABS INDICATOR LAMP #SN154FC     43.50$                  
Electric Control Parts, Purchased 1420009 ECU/VLV ASY 4S/2M #4005001030   1,060.00$            
Electric Control Parts, Purchased 1420011 RADIO RECEIVER VC‐93 SER.       2,065.00$            
Electric Control Parts, Purchased 1420013 WIRING HARNESS SET              960.00$                
Electric Control Parts, Purchased 1420016 PALM PILOT #B40022B Kar‐Tech    1,050.00$            
Electric Control Parts, Purchased 1420021 ROTARY POSITION SENSOR 60 Deg.  760.00$                 0.5
Electric Control Parts, Purchased 1420025 WIRE ASSY SYNC R'CVR/TRANSMTR   475.00$                
Electric Control Parts, Purchased 1420026 BATTERY PACK for K‐T #3A1162B   200.00$                



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

13

Category Part Number Description                     List Price   Weight
Electric Control Parts, Purchased 1420029 CABLE ASSY C.A.P #BHR20 22 20'  215.00$                
Electric Control Parts, Purchased 1420030 BATTERY CHARGER DMC #05505      200.00$                

Compression Caps 1527487B000 COMPRESSION CAP DUCTILE         48.50$                   4.86

Casting, Misc. 1530008 U‐BOLT PLATE, CASTING           73.30$                  

Hydraulic Pump & Motor 1550001 PUMP & MOTOR 24V DC DUAL .5GAL  4,185.00$            

Cylinders, Hydraulic/Air 1560002 CYLINDER,5"BORE X 8",1/4 PORTS  985.00$                 18.4
Cylinders, Hydraulic/Air 1560008 HYD CYL 3"x8"X1.38 LRT #662260  1,625.00$            
Cylinders, Hydraulic/Air 1570001 REPAIR KIT,CYLINDER(TRD MFG)    380.00$                 0.3
Cylinders, Hydraulic/Air 1570002 REPAIR KIT‐EAGLE CYL. #R‐581    145.25$                 0.3
Cylinders, Hydraulic/Air 1570009 BREATHER‐AIR, 3/4"NPT, 40 SCFM  75.00$                  
Cylinders, Hydraulic/Air 1570011 FILTER ELEMENT ‐ HYDRAULIC OIL  52.00$                  
Cylinders, Hydraulic/Air 1570012 CYLINDER END O&S #6462 1.125    265.00$                
Cylinders, Hydraulic/Air 1577482B000 REPAIR KIT‐1567482B000 (B1960)  295.00$                

Connectors 1580002 CONNECTOR SET ETS SYS (WEWELER  145.50$                

Sway Bars/Torque Rods 1605881B000 END ASY SWAY BAR‐R 1"D          117.00$                 4.3
Sway Bars/Torque Rods 1605881B900 T'ROD END SUB‐ASSY RH           32.25$                   3.34
Sway Bars/Torque Rods 1605882B000 END ASY SWAY BAR‐L 1"D          117.00$                 4.3
Sway Bars/Torque Rods 1605882B900 T'ROD END SUB‐ASSY LH           32.25$                  
Sway Bars/Torque Rods 1607046B309 S'BAR T'PIN SB317 23.25"        400.50$                 22
Sway Bars/Torque Rods 1607049B301 T'ROD END 1‐1/4" SU‐348         201.75$                 10.68
Sway Bars/Torque Rods 1607049B302 T'ROD END 1‐1/4" BU‐347         232.75$                 12.14
Sway Bars/Torque Rods 1607049B303 TUBE T'ROD 1.13 S 8151‐1 8"LG   41.25$                   2.4
Sway Bars/Torque Rods 1607049B304 TUBE T'ROD 1.13 L 8607‐1 18"LG  146.25$                 7.76
Sway Bars/Torque Rods 1607049B306 T'ROD END 1‐1/4 SU‐379          227.00$                 10.46
Sway Bars/Torque Rods 1607049B307 T'ROD END 2‐1/2"#HU‐121 7/8"ID  205.50$                
Sway Bars/Torque Rods 1607166B307 T'ROD S'PIN SS321 27.00"        296.20$                
Sway Bars/Torque Rods 1607259B000 TORQUE ROD ASY 16‐1/2"L         286.20$                 16.02
Sway Bars/Torque Rods 1607414B301 SWAY BAR T'PIN 24.75" 925111    257.25$                
Sway Bars/Torque Rods 1614326B304 T'ROD SCREW 13.25"              50.25$                  
Sway Bars/Torque Rods 1614326B309 T'ROD SCREW 22.50"              75.00$                  
Sway Bars/Torque Rods 1614326B311 T'ROD SCREW 20.75"              78.05$                  

Axle, Assembled 1642211B012 AXL 77.5 FP N 20 W/SLAKS OTHER  1,761.10$            

Axle, Misc. Parts 1660006 KNUCKLE ASSY LH W‐P 13K ABS     900.00$                 42
Axle, Misc. Parts 1660007 KNUCKLE ASSY RH W‐P 13K ABS     900.00$                 42
Axle, Misc. Parts 1660008 KING PIN 12/16K WP#143660‐0001  72.75$                   7.64
Axle, Misc. Parts 1660009 BRG ASY T1822S 12/16K THRUST    105.00$                 0.82
Axle, Misc. Parts 1660011 SHIM KING PIN‐.005"THK          5.10$                    
Axle, Misc. Parts 1660012 SHIM KING PIN‐.010"THK          6.35$                    
Axle, Misc. Parts 1660013 LOCK PIN .44/20 4.00" 13.2 230  12.40$                   0.24
Axle, Misc. Parts 1660014 KING PIN CAP 12/16K SCREW IN    15.75$                  
Axle, Misc. Parts 1660015 TIE ROD 12K 1.75"OD 64.93"Lg    333.00$                 30
Axle, Misc. Parts 1660021 WASHER SPINDLE 12/14K           9.25$                     0.3
Axle, Misc. Parts 1660022 NUT SPINDLE 12/14K 1‐1/2" 18NF  17.25$                   0.63
Axle, Misc. Parts 1660023 TIE ROD ARM LH W‐P 13K DBL BOS  211.75$                
Axle, Misc. Parts 1660024 TIE ROD ARM RH W‐P 13K DBL BOS  211.75$                
Axle, Misc. Parts 1660028 BRAKE ASSY LH 15X4 Q‐PLUS @45   502.00$                 52.97
Axle, Misc. Parts 1660029 BRAKE ASSY RH 15X4 Q‐PLUS @45   502.50$                 52.97
Axle, Misc. Parts 1660036 SLACK R'WELL 5.5" 1.5X28 .62NF  151.50$                
Axle, Misc. Parts 1660037 BRAKE CMB'R TYPE 20L X=1.38     96.00$                  
Axle, Misc. Parts 1660048 BRG ASY HM518445 F24H SERIES    46.05$                   4.45
Axle, Misc. Parts 1660054 HUB CAP F24S SERIES #343‐4195   28.00$                   1.5
Axle, Misc. Parts 1660055 GASKET H/C F24S SER. #330‐3118  4.65$                     0.03
Axle, Misc. Parts 1660057 WHL NUT FLANGED M22 X 1.5       2.70$                     0.36
Axle, Misc. Parts 1660060 HUB&DRUM #23431UQ6 H/P N/ABS    515.00$                 164
Axle, Misc. Parts 1660063 SEAL ASSY FP 373‐0123 VOYAGER   29.50$                   0.75
Axle, Misc. Parts 1660064 TIE ROD END RH P‐12937BLT 7.38  118.75$                
Axle, Misc. Parts 1660065 TIE ROD END LH P‐12938BLT 7.38  118.75$                
Axle, Misc. Parts 1660076 HUB&DRUM H/P N/ABS 15"X4" KIC   525.00$                 121
Axle, Misc. Parts 1660101 KNUCKLE LH (FG SER) 232         735.00$                 33.5
Axle, Misc. Parts 1660102 KNUCKLE RH (FG SER) 232         706.75$                 35
Axle, Misc. Parts 1660106 KING PIN KIT FG‐941 (232)       725.00$                
Axle, Misc. Parts 1660108 HUB&DRUM ASSY H/P 6STUD 8.07BC  377.50$                 69
Axle, Misc. Parts 1660110 BRAKE ASSY RH 325X100mm Q Ser.  834.00$                 54
Axle, Misc. Parts 1660111 TIE ROD END LH 520‐2188 (LKS)   125.00$                
Axle, Misc. Parts 1660112 TIE ROD END RH 520‐2288 (LKS)   125.00$                
Axle, Misc. Parts 1660119 KING PIN #520‐2030 LKS Pentron  345.00$                
Axle, Misc. Parts 1660120 KING PIN BUSHING #520‐2027 LKS  390.00$                
Axle, Misc. Parts 1660121 KING PIN BEARING #520‐2026 LKS  112.75$                
Axle, Misc. Parts 1660122 KING PIN CAP #520‐1029 LKS      24.50$                  



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

14

Category Part Number Description                     List Price   Weight
Axle, Misc. Parts 1660123 KING PIN CAP GASKET #520‐2028   39.00$                  
Axle, Misc. Parts 1660128 HUB CAP PSI OIL #343‐4370 D22   39.50$                   1
Axle, Misc. Parts 1660129 SPINDLE PLUG 1.75" OD PSI D‐22  46.25$                   0.2
Axle, Misc. Parts 1660130 PSI STATOR/FILTER 1/4"NPT       29.00$                   0.1
Axle, Misc. Parts 1660131 SEAL ASY KING PIN FG‐941 (232) 7.15$                    
Axle, Misc. Parts 1660140 WOODRUFF KEY ANSI 1210 .37"THK  2.55$                    
Axle, Misc. Parts 1660141 NUT,CASTLE 1‐1/8" 12 UNF FG941  9.35$                    
Axle, Misc. Parts 1660142 THRU TEE ASSY 6.25" PSI TANDEM  75.40$                   0.35
Axle, Misc. Parts 1660146 KNUCKLE RH (FC‐941) 232 8K      720.00$                
Axle, Misc. Parts 1660147 KNUCKLE INSTAL KIT FC‐941 (232  513.00$                
Axle, Misc. Parts 1660152 GASKET H/C 3.63"B.C. #330‐3040  5.25$                     0.1
Axle, Misc. Parts 1660153 TIE ROD 8K (1.50"OD) 66.69"Lg   301.00$                
Axle, Misc. Parts 1660155 HUB CAP D22 for SEMI FLUID      22.00$                  
Axle, Misc. Parts 1660160 ABS BUSHING WABCO #1225S1189    20.50$                  
Axle, Misc. Parts 1660170 KING PIN KIT FC‐941 (232‐8k)    1,295.00$            
Axle, Misc. Parts 1660174 BRAKE CMB'R DI‐PRO 3030 A=5.75  143.50$                 19
Axle, Misc. Parts 1660175 KNUCKLE INSTAL KIT FG SER. 232  285.00$                
Axle, Misc. Parts 1660179 SLACK BENDIX 5.5" 1.5X28 .62NF  113.00$                
Axle, Misc. Parts 1660183 TIE ROD 20K (1.75"OD) 59.50"Lg  388.00$                
Axle, Misc. Parts 1660186 HUB&DRUM #23431UQ6T H/P W/ABS   524.50$                 170
Axle, Misc. Parts 1660189 KING PIN KIT FL‐941 KAISER 20K  1,237.50$            
Axle, Misc. Parts 1660192 BRAKE CMB'R TP30 A=7.31 DI‐PRO  70.00$                  
Axle, Misc. Parts 1660215 SEAL ASSY FP 373‐0223 DISCOVER  37.50$                   0.7
Axle, Misc. Parts 1660256 TIE ROD ARM RH FF‐FG 232 W'PRT 257.50$                
Axle, Misc. Parts 1660240 THRU‐TEE ASY 6.25" SINGLE TIRE  60.50$                  
Axle, Misc. Parts 1660261 KING PIN KIT FG‐941 KAISER 14K  1,385.00$            
Axle, Misc. Parts 1660262 TIE ROD 8/13K 64.62‐67.38"Lg    248.75$                
Axle, Misc. Parts 1660265 BRAKE CMB'R DI‐PRO 3030 A=6.38  138.75$                 19
Axle, Misc. Parts 1660283 BRAKE CMB'R DI‐PRO 3030 A=12.0  173.50$                 20.5
Axle, Misc. Parts 1660286 BRAKE CMB'R 3030 R=9.1 C=10.36  242.50$                 21
Axle, Misc. Parts 1660295 TIE ROD END LH 12180‐BLW0       166.50$                 4.6
Axle, Misc. Parts 1660296 TIE ROD END RH 12179‐BLW0       166.50$                 4.6
Axle, Misc. Parts 1660306 CAM COVER SER. KIT CL=613 10SP  59.50$                  
Axle, Misc. Parts 1660317 KING PIN KIT FG‐941 (W'PORT) 605.00$                
Axle, Misc. Parts 1660318 TONE RING W‐EMC #05‐0037 79.60$                  
Axle, Misc. Parts 1660326 KING PIN KIT FL‐941 (MERITOR) 818.75$                
Axle, Misc. Parts 1664204B006 BRAKE SHOE FUWA FMSI‐4692 244 164.75$                
Axle, Misc. Parts 1664204B008 DUST SHIELD 12.25x7.5 H18‐0202  27.45$                  
Axle, Misc. Parts 1664205B005 HUB/DRUM 15" H/P #20271CW6T‐10  529.00$                 134.9
Axle, Misc. Parts 1664205B011 HUB/DRUM 15"S/P #10519CLML‐T80  440.00$                
Axle, Misc. Parts 1664205B012 HUB/DRUM 15"S/P #10519CLMR‐T80  440.00$                
Axle, Misc. Parts 1664206B006 HUB CAP 5.5"B.C. #343‐4009      26.75$                   0.88
Axle, Misc. Parts 1664206B007 GASKET H/C 5.5"B.C. #330‐3009   3.55$                     0.02
Axle, Misc. Parts 1664206B008 BEARING ASY 3.543 ID HM218248   25.25$                   3.64
Axle, Misc. Parts 1664206B009 BEARING ASY 2.625 ID HM212049   27.00$                   2.76
Axle, Misc. Parts 1664206B011 SLACK 6" 28 SP 409‐10673        198.00$                 6.5
Axle, Misc. Parts 1664206B017 HUB CAP PLUG Dual Dyn DOF10137  4.50$                     0.88
Axle, Misc. Parts 1664206B025 SEAL ASSY FN 373‐0143 VOYAGER   30.50$                   0.7
Axle, Misc. Parts 1664702B001 ABS SENSOR#4410328080 (RIDW'L)  71.75$                   0.11
Axle, Misc. Parts 1664702B002 BUSH‐ABS #8997598154 (RID'WL)   4.95$                     0.01
Axle, Misc. Parts 1664702B003 ABS SENSOR#4410323340 1m STR'T  78.00$                   0.16
Axle, Misc. Parts 1667271B001 BRAKE BOOSTER MIDLAND C‐472‐A   552.50$                 16.36
Axle, Misc. Parts 1667271B002 SYNCHRONIZING VALVE #C‐2904‐E   252.50$                 2.9
Axle, Misc. Parts 1667325B008 BRG ASY #3782 12/14K OUTER      19.00$                   1.48
Axle, Misc. Parts 1667325B012 HUB CAP 12/14K 4.5"BC 340‐4024  24.40$                   0.69
Axle, Misc. Parts 1667325B013 GASKET H/C 4.5"B.C. #330‐3024   3.90$                     0.2
Axle, Misc. Parts 1667325B032 SEAL ASY 12/14K Stmco 383‐0136  28.75$                   0.59
Axle, Misc. Parts 1667325B034 KING PIN KIT 12/16K SCREW IN    630.00$                 21
Axle, Misc. Parts 1667325B036 KING PIN BUSHING 12/16K         13.25$                  
Axle, Misc. Parts 1667325B037 KING PIN SEAL 12/16K            6.30$                    
Axle, Misc. Parts 1667325B039 DUST SHIELD 15.0x4 (MPS 4043)   98.75$                   3.55
Axle, Misc. Parts 1667511B005 DUST SHIELD 16.5x7 #3003‐0001   20.00$                   4.7
Axle, Misc. Parts 1667511B026 HUB ADI H/P FN 3.73 STUD W/ABS  275.00$                 34
Axle, Misc. Parts 1667537B005 HUB CAP 16/20K Stemco 343‐4249  40.00$                  
Axle, Misc. Parts 1667537B006 GASKET H/C 5.5" B.C. #330 3122  2.50$                    
Axle, Misc. Parts 1667537B008 BRAKE CMB'R MGM TR2424L Y=2.75  299.50$                
Axle, Misc. Parts 1667591B031 DRUM CAST #66864F 16.5X7 10.62  255.00$                 100
Axle, Misc. Parts 1667591B104 CAM L 28S 24.25"L M16WKL25‐242  82.30$                  
Axle, Misc. Parts 1667591B106 CAM L 28S 24.13" #C110301C613L  82.10$                  
Axle, Misc. Parts 1667591B204 CAM R 28S 24.25"L M16WKR25‐242  82.30$                  
Axle, Misc. Parts 1667591B206 CAM R 28S 24.13" #C110301C613R  82.10$                  
Axle, Misc. Parts 1667591B305 BRAKE SHOE FUWA FMSI‐4707 133   148.00$                
Axle, Misc. Parts 1667591B313 BRAKE SHOE ASY Q+ 16.5x7 MA312  105.00$                
Axle, Misc. Parts 1667726B000 TIE ROD 16/20K 1.90"OD 62.93Lg  401.50$                 25
Axle, Misc. Parts 1667726B001 KING PIN KIT 18/20K BOLT‐ON     775.00$                
Axle, Misc. Parts 1667726B011 BRAKE ASSY LH 16.5x6 Q+ CBA 0' 1,005.00$            



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

15

Category Part Number Description                     List Price   Weight
Wheels 1670004 WHEEL ALU 17.5x6 #664801 POLSH  885.00$                 29
Wheels 1670005 WHEEL ALU 17.5x6 #664800 MACHD  845.00$                 28.75

Brackets, Misc. 1740004 U‐BOLT TOP PLATE REYCO          146.00$                
Brackets, Misc. 1740007 TRQ ROD FRAME BRKT #46015‐000   100.50$                
Brackets, Misc. 1740009 TIE ROD ARM RH 8K 232 BLACK ZN  231.50$                
Brackets, Misc. 1740010 TIE ROD ARM LH 232TRL BLACK ZN  320.00$                
Brackets, Misc. 1740011 TIE ROD ARM RH 232TRL BLACK ZN  320.00$                
Brackets, Misc. 1740017 U‐BOLT TOP PLATE 241            64.00$                  
Brackets, Misc. 1740760B000 TRQ ROD FRAME BRKT 22186‐000    36.75$                   2.72
Brackets, Misc. 1747564B000 CLMP'G BL'K 6"X7"X1.5" MECH'D   140.00$                 13.86
Brackets, Misc. 1747564B001 CAST COMP CAP MCH'D 3.5ID       70.00$                   4.62

Major Purchase Assm. 1750010 BODY RAIL HUTCH 172" #16718‐05  310.50$                 88.2

Fasteners 1800001 PARTS BAG(SHOCK/MISC.)          32.45$                   3.02
Fasteners 1800002 PARTS BAG (1)1/2&3/4 STUD A.S   8.30$                     0.8
Fasteners 1800003 PARTS BAG (1)3/4 STUD A.S       6.25$                     0.88
Fasteners 1800004 PARTS BAG (2)3/4 STUD A.S       9.00$                     1.1
Fasteners 1800019 PARTS BAG (RIDELITE)            51.50$                   4.86
Fasteners 1800021 PARTS BAG 240LKS                50.50$                  
Fasteners 1800029 PARTS BAG (2)3/4" &(4)1/2"NUTS  5.25$                    
Fasteners 1800033 PARTS BAG 2840006               460.00$                
Fasteners 1800035 FST'NR KIT FOR ELDO‐NAT 7/8"    400.00$                 19.92
Fasteners 1800038 PARTS BAG (BUSH REPL KIT)       35.50$                  
Fasteners 1860001 CROSS CHNL, 24.22"LG, 6"X8.2    75.00$                  
Fasteners 1860003 CROSS CHNL, 40"LG, 3"X4.1       84.50$                  
Fasteners 1860004 CROSS CHNL, 46"LG, 3"X4.1       100.00$                

Epoxy Fusor 1987625B000 ADHESIVE EPOXY FUSOR‐320 50ML   58.70$                   0.5

Axle Lift Assemblies 2990002 AXLE CHAIN LIFT NO TUBE 39"B.C  870.00$                 86
Axle Lift Assemblies 2990003 AXLE CHAIN LIFT OSW 49"B.C.     1,390.00$             90
Axle Lift Assemblies 2990004 AXLE CHAIN LIFT NO TUBE 35"B.C  920.00$                 79
Axle Lift Assemblies 2990005 AXLE CHAIN LIFT OSW 31.5" B.C.  1,360.00$            
Axle Lift Assemblies 2990006 AXLE CHAIN LIFT OSW 35" B.C.    1,370.00$             122
Axle Lift Assemblies 2990007 AXLE CHAIN LIFT OSW 41" B.C.    1,370.00$             116
Axle Lift Assemblies 2990008 AXLE CHAIN LIFT W/TUBE 33" B.C  1,200.00$             104.5
Axle Lift Assemblies 2990009 AXLE CHAIN LIFT W/TUBE 35" B.C  1,170.00$             80
Axle Lift Assemblies 2990010 AXLE CHAIN LIFT W/TUBE 38" B.C  1,250.00$             80
Axle Lift Assemblies 29900101 AXLE LIFT 6.5/9‐USW REAR MOUNT  810.00$                 73
Axle Lift Assemblies 2990011 AXLE CHAIN LIFT W/TUBE 39" B.C  1,160.00$             118
Axle Lift Assemblies 2990012 AXLE CHAIN LIFT W/TUBE 41" B.C  1,200.00$             124
Axle Lift Assemblies 2990013 AXLE CHAIN LIFT W/TUBE 43" B.C  1,210.00$             80
Axle Lift Assemblies 2990014 AXLE CHAIN LIFT W/TUBE 47.5"BC  1,230.00$             127
Axle Lift Assemblies 2990015 AXLE CHAIN LIFT W/TUBE 45" B.C  1,220.00$             80
Axle Lift Assemblies 2990016 AXLE CHAIN LIFT NO TUBE 45"B.C  940.00$                 79
Axle Lift Assemblies 2990017 AXLE CHAIN LIFT NO TUBE 33"B.C  950.00$                
Axle Lift Assemblies 2990018 AXLE CHAIN LIFT NO TUBE 38"B.C  965.00$                
Axle Lift Assemblies 2990019 AXLE CHAIN LIFT NO TUBE 41"B.C  930.00$                 85
Axle Lift Assemblies 2990020 AXLE CHAIN LIFT NO TUBE 43"B.C  942.50$                
Axle Lift Assemblies 2990021 AXLE CHAIN LIFT NO TUBE 47.5BC  945.00$                 95
Axle Lift Assemblies 2990022 LIFT KIT, RAR‐240 U/S           686.00$                 44.4
Axle Lift Assemblies 2990023 AXLE CHAIN LIFT W/TUBE 57" B.C  1,270.00$             137
Axle Lift Assemblies 2990024 AXLE CHAIN LIFT OSW 43" B.C.    1,380.00$             125.5
Axle Lift Assemblies 2990025 AXLE CHAIN LIFT W/TUBE 42" B.C  1,200.00$             110
Axle Lift Assemblies 2990026 AXLE CHAIN LIFT W/TUBE 49" B.C  1,240.00$            
Axle Lift Assemblies 2990027 AXLE CHAIN LIFT W/TUBE 39" B.C  1,120.00$            
Axle Lift Assemblies 2990028 AXLE CHAIN LIFT W/TUBE 38" B.C  1,150.00$             104
Axle Lift Assemblies 2990029 AXLE CHAIN LIFT W/TUBE 53" B.C  1,270.00$            
Axle Lift Assemblies 2990030 AXLE CHAIN LIFT W/TUBE 41" B.C  1,160.00$             109
Axle Lift Assemblies 2990031 AXLE CHAIN LIFT W/TUBE 37" B.C  1,120.00$            
Axle Lift Assemblies 2990032 LIFT KIT ASSEMBLY, 6" PIVOT     697.00$                 43.1
Axle Lift Assemblies 2990079 LIFT KIT FOR 2400079            708.00$                 56
Axle Lift Assemblies 2990083 LIFT KIT FOR 2400083            870.00$                
Axle Lift Assemblies 2990084 LIFT KIT FOR 2400084            724.00$                 56
Axle Lift Assemblies 2990085 LIFT KIT FOR 2400085            870.00$                
Axle Lift Assemblies 2990086 LIFT KIT FOR 2400086            852.00$                 57.92
Axle Lift Assemblies 2990087 LIFT KIT FOR 2400087            729.00$                
Axle Lift Assemblies 2990088 LIFT KIT FOR 2400088            725.00$                
Axle Lift Assemblies 2990100 LIFT KIT ASSEMBLY, 240 25K O/S  760.00$                 68.7
Axle Lift Assemblies 2990101 LIFT KIT ASSEMBLY, 240 30K O/S  760.00$                 63.7
Axle Lift Assemblies 2992000 LIFT KIT 8.0" PIVOT RIDELITE    570.00$                 40
Axle Lift Assemblies 2992001 LIFT KIT 10.0" PIVOT RIDELITE   580.00$                 46.74
Axle Lift Assemblies 2992002 LIFT KIT ‐ HIGH PIVOT RIDELITE  610.00$                
Axle Lift Assemblies 2992600 LIFT KIT MODEL 260 8" PIVOT     590.00$                 47.1
Axle Lift Assemblies 2992601 LIFT KIT MODEL 260 10" PIVOT    600.00$                 47.1



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

16

Category Part Number Description                     List Price   Weight
Axle Lift Assemblies 2992602 LIFT KIT MODEL 260 12" PIVOT    600.00$                
Axle Lift Assemblies 2997680D335 AXLE STRAP LIFT OSW 35" B.C.    1,190.00$             109
Axle Lift Assemblies 2997680D341 AXLE STRAP LIFT OSW 41" B.C.    1,190.00$             117

Hanger/Beam Assemblies 3010163 HGR/BEAM LH 306/346/356         1,452.60$             150
Hanger/Beam Assemblies 3010164 HGR/BEAM RH 306/346/356         1,452.60$             150
Hanger/Beam Assemblies 3010175 HGR/BEAM LH W/LH REVERSNG 2 BM  5,090.00$            
Hanger/Beam Assemblies 3010176 HGR/BEAM RH 1 BEAM SIDE         4,000.00$            
Hanger/Beam Assemblies 3010216 BEAM/ROD ASSY LH 2270032/44     2,855.00$            
Hanger/Beam Assemblies 3010222 HGR BEAM LH 2270036             2,585.00$             287
Hanger/Beam Assemblies 3010223 HGR BEAM RH 2270036             2,585.00$             287
Hanger/Beam Assemblies 3010228 HGR/BEAM LH 2400069             1,300.00$             112
Hanger/Beam Assemblies 3010229 HGR/BEAM RH 2400069             1,300.00$             112
Hanger/Beam Assemblies 3010332 HGR/BEAM ASSY RH‐ 2400055 1,635.00$            
Hanger/Beam Assemblies 3010339 HGR/BEAM LH 2440002/3           925.00$                
Hanger/Beam Assemblies 3010340 HGR/BEAM RH 2440002/3           925.00$                
Hanger/Beam Assemblies 3016090B101 HGR/BEAM LH 2276090D001         2,970.00$             190
Hanger/Beam Assemblies 3016090B201 HGR/BEAM RH 2276090D001         2,865.00$             181
Hanger/Beam Assemblies 3017739B102 HGR/BEAM LH 2400010             1,325.00$            
Hanger/Beam Assemblies 3017739B202 HGR/BEAM RH 2400010             1,325.00$            
Hanger/Beam Assemblies 3017744B100 HGR/BEAM LH 2407744D107,307,    1,310.00$             112
Hanger/Beam Assemblies 3017744B200 HGR/BEAM RH 2407744D107,307,    1,310.00$             112
Hanger/Beam Assemblies 3040003 BOLSTER HGR ASY RAS227 SMN‐LTI  4,360.00$             173
Hanger/Beam Assemblies 3040006 HANGER CROSSMEMBER 232TRAILER   1,150.00$             69.7

Bolster Assemblies 3047762D000 BOLSTER HGR ASY RAS‐227/GILLIG  2,387.50$            

Hangers, RAR‐221, RED‐228 3057401C100 HRA‐LH RED‐228 NYC              2,031.45$             108
Hangers, RAR‐221, RED‐228 3057401C102 HRA‐LH RED‐228C (FORGED ECC.)   1,597.30$            
Hangers, RAR‐221, RED‐228 3057401C200 HRA‐RH RED‐228 NYC              2,031.45$             108
Hangers, RAR‐221, RED‐228 3057618C100 HANGER RAIL ASY LH MR688 33.38  1,549.05$             108
Hangers, RAR‐221, RED‐228 3057618C200 HANGER RAIL ASY‐RH MR688 33.38  1,575.85$             108

Hangers, RAS‐227 3090020 HRA‐L RAS‐227 8.38"& 6"         1,098.80$             63
Hangers, RAS‐227 3090021 HRA‐R RAS‐227 8.38"& 6"         1,098.80$             63
Hangers, RAS‐227 3090022 HRA‐LH RAS‐227 BLUE BIRD        1,441.85$            
Hangers, RAS‐227 3090024 HRA LH RAS‐227 AERIAL           2,760.40$             116.5
Hangers, RAS‐227 3090025 HRA RH RAS‐227 AERIAL           2,921.20$             128.2
Hangers, RAS‐227 3100010 HGR RAIL ASSEMBLY RH RAD‐227    1,580.00$            

Hangers, RAD‐227 3100013 HANGER ASS'Y LH FORG ECC BOLT   1,597.30$            
Hangers, RAD‐227 3100014 HANGER ASS'Y RH FORG ECC BOLT   1,597.30$            
Hangers, RAD‐227 3100017 HGR RAIL ASY‐LH 227 OSHKOSH‐V   1,500.80$            
Hangers, RAD‐227 3100018 HGR RAIL ASY‐RH 227 OSHKOSH‐V   1,500.00$            
Hangers, RAD‐227 3100025 HRA‐LH RAD‐227 BB QBRE          1,935.00$            
Hangers, RAD‐227 3100026 HRA‐RH RAD‐227 BB QBRE          1,935.00$            
Hangers, RAD‐227 3100027 HRA‐LH RAD‐227 BB QBRE          2,090.40$            
Hangers, RAD‐227 3100028 HRA‐RH RAD‐227 BB QBRE          2,090.40$            
Hangers, RAD‐227 3100036 HANGER RAIL ASSY. RAD 227 LH    1,695.00$            
Hangers, RAD‐227 3100037 HANGER RAIL ASSY. RAD‐227 RH    1,695.00$            
Hangers, RAD‐227 3100042 HANGER AS'Y LH C'COACH RAD‐227  948.75$                
Hangers, RAD‐227 3100043 HANGER AS'Y RH C'COACH RAD‐227  948.75$                
Hangers, RAD‐227 3107068C200 HRA‐R RAD‐227 NEWELL            1,495.00$            
Hangers, RAD‐227 3107609C200 HGR RAIL ASSY RAD‐227 R THOMAS  1,345.40$            
Hangers, RAD‐227 3107649C145 HRA‐LH RAD‐227 BB QBRE          1,334.65$            
Hangers, RAD‐227 3107649C245 HRA‐RH RAD‐227 BB QBRE          1,334.65$            
Hangers, RAD‐227 3110013 F‐550 FRONT HANGER LH           715.00$                 45.2
Hangers, RAD‐227 3110014 F‐550 FRONT HANGER RH           715.00$                 45.2
Hangers, RAD‐227 3120014 HGR ASSY 18" 227R 35" F.W.      1,847.50$            
Hangers, RAD‐227 3120018 LH HGR ASS'Y ‐ 2460022          2,503.15$            
Hangers, RAD‐227 3120019 RH HGR ASS'Y ‐ 2460022          2,503.15$            
Hangers, RAD‐227 3127493C001 HGR ASY 18" 227C/L OR R 21/32H  2,650.00$            
Hangers, RAD‐227 3127732C000 HGR ASY 227R W/.656 MTG. 35"FW  1,965.00$             107

Hangers, RCA‐235 3160003 HRA‐LH RCA‐235‐1                1,270.00$             80
Hangers, RCA‐235 3160004 HRA‐RH RCA‐235‐1                1,270.00$             80
Hangers, RCA‐235 3160005 HGR‐LH RCA‐235‐1 TRAILER 13.5   885.00$                 56.26
Hangers, RCA‐235 3160006 HGR‐RH RCA‐235‐1 TRAILER 13.5   885.00$                 56.2
Hangers, RCA‐235 3160009 HRA‐LH RCA‐235‐1 PUSHER         1,705.00$            
Hangers, RCA‐235 3160010 HRA‐RH RCA‐235‐1 PUSHER         1,705.00$             91.05
Hangers, RCA‐235 3160015 HRA ASY RCA‐235 LH 35.5" F.W.   1,436.50$             79.8
Hangers, RCA‐235 3160016 HRA ASY RCA‐235 RH 35.5" F.W.   1,436.50$             79.8
Hangers, RCA‐235 3160019 HRA‐LH RCA‐235‐1 TALL HGR TRCK  1,535.00$            
Hangers, RCA‐235 3160020 HRA‐RH RCA‐235‐1 TALL HGR TRCK  1,535.00$            
Hangers, RCA‐235 3160024 HGR ASS'Y LH RCA‐225            938.00$                
Hangers, RCA‐235 3160025 HGR ASS'Y RH RCA‐225            938.00$                



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

17

Category Part Number Description                     List Price   Weight
Hangers, RLT‐230, RSS‐236, RSS‐237 3170005 HGR RSS‐236C LH ASY/33.5"FRAME  1,597.50$             80.9
Hangers, RLT‐230, RSS‐236, RSS‐237 3170006 HGR RSS‐236C RH ASY/33.5"FRAME  1,597.50$             80.9
Hangers, RLT‐230, RSS‐236, RSS‐237 3170017 HRA ASSY LH 14" RLT‐230 34.0FW  830.00$                 56
Hangers, RLT‐230, RSS‐236, RSS‐237 3170018 HRA ASSY RH 14" RLT‐230 34.0FW  830.00$                 56
Hangers, RLT‐230, RSS‐236, RSS‐237 3170019 HGR ASSY LH 14" RLT‐230 35.0FW  830.00$                 57
Hangers, RLT‐230, RSS‐236, RSS‐237 3170020 HGR ASSY RH 14" RLT‐230 35.0FW  830.00$                 57
Hangers, RLT‐230, RSS‐236, RSS‐237 3170029 HGR ASSY LH 11" RLT‐230 34.0FW  915.00$                 53
Hangers, RLT‐230, RSS‐236, RSS‐237 3170030 HGR ASSY RH 11" RLT‐230 34.0FW  915.00$                 53
Hangers, RLT‐230, RSS‐236, RSS‐237 3170031 HGR ASSY LH 11" RLT‐230 35.0FW  915.00$                 53
Hangers, RLT‐230, RSS‐236, RSS‐237 3170032 HGR ASSY RH 11" RLT‐230 35.0FW  915.00$                 53
Hangers, RLT‐230, RSS‐236, RSS‐237 3170036 HGR ASSY RH 11" RLT‐230 34.5FW  1,075.00$             53
Hangers, RLT‐230, RSS‐236, RSS‐237 3170041 HRA ASSY LH 14" RLT‐230 34.0FW  670.00$                 55.98
Hangers, RLT‐230, RSS‐236, RSS‐237 3170042 HRA ASSY RH 14" RLT‐230 34.0FW  670.00$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170043 HRA ASSY LH 14" RLT‐230 35.0FW  670.00$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170044 HRA ASSY RH 14" RLT‐230 35.0FW  670.00$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170045 HGR ASSY LH TALL 230 TRAILER    1,000.00$             50.15
Hangers, RLT‐230, RSS‐236, RSS‐237 3170046 HGR ASSY RH TALL 230 TRAILER    1,000.00$             50.15
Hangers, RLT‐230, RSS‐236, RSS‐237 3170047 HGR ASSY LH SHORT 230 TRAILER   1,355.00$            
Hangers, RLT‐230, RSS‐236, RSS‐237 3170048 HGR ASSY RH SHORT 230 TRAILER   1,355.00$            
Hangers, RLT‐230, RSS‐236, RSS‐237 3170070 HGR ASSY LH 13" RLT‐230 34.0FW  995.00$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170071 HGR ASSY RH 13" RLT‐230 34.0FW  995.00$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170078 HNG/X‐MEM,LH,34"‐35"FW,18"H232  637.85$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170079 HNG/X‐MEM,RH,34"‐35"FW,18"H232  637.85$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170080 HGR/X‐MEM,LH,34"‐35"FW,17"H232  637.85$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170081 HGR/X‐MEM,RH,34"‐35"FW,17"H232  637.85$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170082 HNG/X‐MEM,LH,34"‐35"FW,16"H232  637.85$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170083 HNG/X‐MEM,RH,34"‐35"FW,16"H232  637.85$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170084 HNG/X‐MEM,LH,34"‐35"FW, MM 232  610.00$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170085 HNG/X‐MEM,RH,34"‐35"FW, MM 232  610.00$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3170104 HANGER/X‐MEM,LH,34"‐35"FW,232   595.00$                 33.25
Hangers, RLT‐230, RSS‐236, RSS‐237 3170105 HANGER/X‐MEM,RH,34"‐35"FW,232   595.00$                 33.25
Hangers, RLT‐230, RSS‐236, RSS‐237 3177570C100 HRA‐L RSS‐236/ONE BEAM          1,300.00$             82
Hangers, RLT‐230, RSS‐236, RSS‐237 3177570C200 HRA‐R RSS‐236/TWO BEAM          1,360.00$             89.65
Hangers, RLT‐230, RSS‐236, RSS‐237 3177620C101 HRA‐L RSS‐236/16K ONE BEAM      1,995.00$             91
Hangers, RLT‐230, RSS‐236, RSS‐237 3177620C201 HRA‐R RSS‐236/16K TWO BEAM      2,060.00$             98
Hangers, RLT‐230, RSS‐236, RSS‐237 3177620C206 HRA RSS‐236 RH/16K TWO BEAM     1,500.00$             92.75
Hangers, RLT‐230, RSS‐236, RSS‐237 3177629C100 HRA‐L 236/ONE BEAM P'BILT       1,355.00$             81
Hangers, RLT‐230, RSS‐236, RSS‐237 3177629C200 HRA‐R 236/TWO BEAM P'BILT       1,355.00$             89.6
Hangers, RLT‐230, RSS‐236, RSS‐237 3177726C101 HRA‐L RSS‐236/16K TWO BEAM      1,510.00$             87
Hangers, RLT‐230, RSS‐236, RSS‐237 3177726C102 HRA‐L RSS‐237 18K TWO BEAMS     2,110.00$             105
Hangers, RLT‐230, RSS‐236, RSS‐237 3177726C202 HRA‐R RSS‐237 18K TWO BEAMS     2,110.00$             105
Hangers, RLT‐230, RSS‐236, RSS‐237 3177747C100 HGR RSS‐236 LH ASS'Y            855.00$                
Hangers, RLT‐230, RSS‐236, RSS‐237 3177747C200 HGR RSS‐236 RH ASS'Y            855.00$                

Hangers, RUA‐220 3224306C100 HGR ASY‐L 220B 13"              1,015.00$            
Hangers, RUA‐220 3224306C200 HGR ASY‐R 220B 13"              1,015.00$            

Hangers, RAR‐221, RED‐228 3242860C101 HGR ASY‐L 9" A=6‐3/4"           525.00$                
Hangers, RAR‐221, RED‐228 3242860C102 HGR ASY‐L 9" A=6‐1/4"           525.00$                
Hangers, RAR‐221, RED‐228 3242860C103 HGR ASY‐L 9" A=7‐1/4"           615.00$                 24.38
Hangers, RAR‐221, RED‐228 3242860C202 HGR ASY‐R 9" A=6‐1/4"           525.00$                
Hangers, RAR‐221, RED‐228 3242863C101 HGR ASY‐L 10" A=8‐1/4"          690.00$                 26.52
Hangers, RAR‐221, RED‐228 3242870C105 HGR ASY‐L 6‐5/8" A=3‐5/8"       662.50$                
Hangers, RAR‐221, RED‐228 3242870C205 HGR ASY‐R 6‐5/8" A=3‐5/8"       662.50$                
Hangers, RAR‐221, RED‐228 3247096C100 HGR ASY 6‐5/8 LH 231            505.00$                
Hangers, RAR‐221, RED‐228 3247096C200 HGR ASY 6‐5/8 RH 231            505.00$                
Hangers, RAR‐221, RED‐228 3247193C101 HGR ASY 6‐5/8"TL LH 231         509.20$                
Hangers, RAR‐221, RED‐228 3247193C201 HGR ASY 6‐5/8"TL RH 231         509.20$                 23

Hangers, RAR‐240 32600017 HGR ASSY‐LH 17.25" W/H‐T TOP    621.80$                
Hangers, RAR‐240 32600018 HGR ASSY‐RH 17.25" W/H‐T TOP    621.80$                
Hangers, RAR‐240 3260013 HGR ASSY‐LH 17.25" W/STD TOP    444.90$                 47.62
Hangers, RAR‐240 3260014 HGR ASSY‐RH 17.25" W/STD TOP    444.90$                 47.62
Hangers, RAR‐240 3260016 HGR ASY RH W/LIFT BRKT 2400902  637.85$                
Hangers, RAR‐240 3260019 HGR LH 12.5"240‐15‐30K STD TOP  360.00$                
Hangers, RAR‐240 3260020 HGR RH 12.5"240‐15‐30K STD TOP  360.00$                 41.2
Hangers, RAR‐240 3260021 HGR LH 14.5"240‐17‐30K STD TOP  402.00$                
Hangers, RAR‐240 3260022 HGR RH 14.5"240‐17‐30K STD TOP  402.00$                

Hangers, RAR‐244 3260052 HANGER ASSEMBLY LH 2440002      220.00$                
Hangers, RAR‐244 3260053 HANGER ASSEMBLY RH 2440002      220.00$                

Hangers, RAR‐240 3260054 HGR ASSY LH 8.0" SHK@8.44X2.63  280.00$                
Hangers, RAR‐240 3260056 HANGER LH 10‐3/4 PVT (2400614)  460.00$                
Hangers, RAR‐240 3260057 HANGER RH 10‐3/4 PVT (2400614)  460.00$                
Hangers, RAR‐240 3260058 HANGER LH 10‐3/4 PVT            605.00$                
Hangers, RAR‐240 3260059 HANGER RH 10‐3/4 PVT            605.00$                



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

18

Category Part Number Description                     List Price   Weight
Hangers, RAR‐240 3260070 HANGER ASSY LH 21" W/STD TOP    643.20$                 57.62
Hangers, RAR‐240 3260071 HANGER ASSY RH 21" W/STD TOP    643.20$                
Hangers, RAR‐240 3260091 HANGER ASSY RH 12.75" 2400816   750.00$                

Hangers, RAR‐200 3260092 HGR ASS'Y LH 14/15"MH BOLT‐ON   452.95$                
Hangers, RAR‐200 3260093 HGR ASS'Y RH 14/15"MH BOLT‐ON   452.95$                
Hangers, RAR‐200 3260094 HGR ASS'Y LH 14/15"MH WELD‐ON   444.90$                 30.8
Hangers, RAR‐200 3260095 HGR ASS'Y RH 14/15"MH WELD‐ON   444.90$                 30.8
Hangers, RAR‐200 3260096 HGR ASS'Y LH 16/17"MH BOLT‐ON   562.80$                
Hangers, RAR‐200 3260097 HGR ASS'Y RH 16/17"MH BOLT‐ON   562.80$                
Hangers, RAR‐200 3260098 HGR ASS'Y LH 16/17"MH  WELD‐ON  428.80$                 33.1
Hangers, RAR‐200 3260099 HGR ASS'Y RH 16/17"MH  WELD‐ON  428.80$                 33.1

Hangers, RAR‐240 3260100 HANGER LH 10.75" PVT (2400079)  415.00$                 32.7
Hangers, RAR‐240 3260101 HANGER RH 10.75" PVT (2400079)  415.00$                 32.7
Hangers, RAR‐240 3260104 HANGER ASSEMBLY LH 11.06" PVT   610.00$                
Hangers, RAR‐240 3260105 HANGER ASSEMBLY RH 11.06" PVT   610.00$                
Hangers, RAR‐240 3260106 HGR ASSY LH 11.81" PVT BOLT‐ON 635.00$                
Hangers, RAR‐240 3260108 HGR ASSY LH 11.75" PVT WELD‐ON  514.60$                 45.8
Hangers, RAR‐240 3260109 HGR ASSY RH 11.75" PVT WELD‐ON  514.60$                 45.8
Hangers, RAR‐240 3260110 HGR ASSY LH (LOW‐BOY APPLIC.)   514.60$                
Hangers, RAR‐240 3260111 HGR ASSY RH (LOW‐BOY APPLIC.)   514.60$                

Hangers, RAR‐200 3260124 HGR ASS'Y LH 16/17"MH  WELD‐ON  391.30$                 33.44
Hangers, RAR‐200 3260125 HGR ASS'Y RH 16/17"MH  WELD‐ON  391.30$                 33.44

Hangers, RAR‐240 3260126 HANGER LH 10.75 PIVOT           467.50$                
Hangers, RAR‐240 3260127 HANGER RH 10.75 PIVOT           467.50$                

Hangers, RAR‐200 3260132 HGR ASS'Y LH 16/17"MH BOLT‐ON   443.75$                
Hangers, RAR‐200 3260133 HGR ASS'Y RH 16/17"MH BOLT‐ON   443.75$                
Hangers, RAR‐200 3260136 HGR ASS'Y LH 18/19"MH  BOLT‐ON  615.00$                
Hangers, RAR‐200 3260137 HGR ASS'Y RH 18/19"MH  BOLT‐ON  615.00$                

Hangers, RAR‐240 3260138 HGR ASS'Y LH 11/12"MH WELD‐ON   525.00$                
Hangers, RAR‐240 3260146 HGR ASSY LH 14.75" PVT BOLT‐ON  720.00$                 45.8
Hangers, RAR‐240 3260147 HGR ASSY RH 14.75" PVT BOLT‐ON  720.00$                 45.8
Hangers, RAR‐240 3260156 HANGER ASS'Y BOLT‐ON LH 243     575.00$                
Hangers, RAR‐240 3260157 HANGER ASS'Y BOLT‐ON RH 243     575.00$                

Hangers, RAR‐200 3260162 HGR ASS'Y LH 16/17"MH BOLT‐ON   410.00$                

Hangers, RAR‐260 3260180 HANGER ASSY LH U/S 260          211.25$                
Hangers, RAR‐260 3260181 HANGER ASSY RH U/S 260          211.25$                
Hangers, RAR‐260 3260182 HANGER ASSY LH U/S 260          185.25$                
Hangers, RAR‐260 3260183 HANGER ASSY RH U/S 260          185.25$                
Hangers, RAR‐260 3260186 HANGER ASSY LH O/S 260          205.00$                
Hangers, RAR‐260 3260187 HANGER ASSY RH O/S 260          205.00$                
Hangers, RAR‐260 3260188 HANGER ASSY LH O/S 260          212.85$                
Hangers, RAR‐260 3260192 HANGER ASSY LH O/S 260          285.00$                
Hangers, RAR‐260 3260193 HANGER ASSY RH O/S 260          285.00$                
Hangers, RAR‐260 3260196 HANGER ASSY LH O/S 260          220.00$                
Hangers, RAR‐260 3260197 HANGER ASSY RH O/S 260          220.00$                

Hangers, RAR‐240 3267680D100 HGR ASY HVY‐L 11.5" STR BOLT    423.45$                 48
Hangers, RAR‐240 3267680D200 HGR ASY HVY‐R 11.5" ECC BOLT    477.05$                 48
Hangers, RAR‐240 3267692C100 HGR/RAIL LH BOLT ON W/ECC 240   761.15$                 49.6
Hangers, RAR‐240 3267692C117 HGR ASY‐LH 240 BOLT‐ON 14.25"   800.00$                 55.8
Hangers, RAR‐240 3267692C200 HGR/RAIL RH BOLT ON W/ECC 240   800.00$                 49.6
Hangers, RAR‐240 3267692C217 HGR ASY‐RH 240 BOLT‐ON 14.25"   800.00$                 55.8
Hangers, RAR‐240 3267694C100 HGR ASSY LH 11.5" SLIDER APPL.  423.45$                 33.8
Hangers, RAR‐240 3267694C200 HGR ASSY RH 11.5" SLIDER APPL.  423.45$                 33.8
Hangers, RAR‐240 3267709C101 HGR ASY‐LH RAR‐240 8.00"TALL    294.80$                 20.12
Hangers, RAR‐240 3267709C201 HGR ASY‐RH RAR‐240 8.00"TALL    294.80$                 20.12
Hangers, RAR‐240 3267738C100 HGR ASSY‐LH RAR‐240 10.50"TALL  221.45$                 27.28
Hangers, RAR‐240 3267738C200 HGR ASSY‐RH RAR‐240 10.50"TALL  221.45$                 27.28
Hangers, RAR‐240 3267739C100 HGR ASY‐LH 14.25"TL W/ TOP PLT  355.35$                 45
Hangers, RAR‐240 3267739C101 HGR ASSY‐LH 14"TALL NO TOP PLT  445.00$                 39
Hangers, RAR‐240 3267739C102 HGR ASSY‐LH (BENSON TOP PLT)    595.00$                 55
Hangers, RAR‐240 3267739C103 HGR ASY‐LH H‐T TOP PLATE        660.00$                 51
Hangers, RAR‐240 3267739C200 HGR ASY‐RH 14.25"TL W/ TOP PLT  355.35$                 45
Hangers, RAR‐240 3267739C201 HGR ASSY‐RH 14"TALL NO TOP PLT  445.00$                 40
Hangers, RAR‐240 3267739C202 HGR ASSY‐RH (BENSON TOP PLT)    595.00$                 54.7
Hangers, RAR‐240 3267739C203 HGR ASY‐RH H‐T TOP PLATE        660.00$                 52.4
Hangers, RAR‐240 3267744C105 HGR ASY‐LH 10.50"TL 7.63X .88   288.40$                 30
Hangers, RAR‐240 3267744C106 HGR ASY‐LH 10.50"TL 7.63X1.50   288.40$                 31.58
Hangers, RAR‐240 3267744C107 HGR ASY‐LH 10.50"TL 7.91X1.91   288.40$                 31.4



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

19

Category Part Number Description                     List Price   Weight
Hangers, RAR‐240 3267744C108 HGR ASY‐LH 10.50"TL 8.44X2.63   288.40$                 32.4
Hangers, RAR‐240 3267744C110 HGR ASY‐LH 14.25"TL 7.50X5.63   662.00$                 49.8
Hangers, RAR‐240 3267744C112 HGR ASY‐LH 14.25"TL 7.63X6.94   650.00$                
Hangers, RAR‐240 3267744C113 HGR ASY‐LH 14.25"TL 8.13X7.28   830.00$                 51
Hangers, RAR‐240 3267744C205 HGR ASY‐RH 10.50"TL 7.63X .88   288.40$                 30
Hangers, RAR‐240 3267744C206 HGR ASY‐RH 10.50"TL 7.63X1.50   288.40$                 31.58
Hangers, RAR‐240 3267744C207 HGR ASY‐RH 10.50"TL 7.91X1.91   288.40$                 31.46
Hangers, RAR‐240 3267744C208 HGR ASY‐RH 10.50"TL 8.44X2.63   288.40$                 32.4
Hangers, RAR‐240 3267744C210 HGR ASY‐RH 14.25"TL 7.50X5.63   662.00$                 49.8
Hangers, RAR‐240 3267744C212 HGR ASY‐RH 14.25"TL 7.63X6.94   650.00$                
Hangers, RAR‐240 3267744C213 HGR ASY‐RH 14.25"TL 8.13X7.28   830.00$                 51

Hangers, RAR‐241 3270002 HGR ASSY RAD‐241/8.75 PIVOT     985.00$                
Hangers, RAR‐241 3270004 HANGER ASSEMBLY 8.75" PIVOT     525.00$                 50.2

Hangers, RAS‐227 3296090C200 HGR RAIL ASSY‐RH RAS‐227        1,020.00$            

Hangers, RUL‐245 33600001 HGR ASY‐LH 245 W/ BOLTING RAIL  810.00$                 51.5
Hangers, RUL‐245 33600002 HGR ASY‐RH 245 W/ BOLTING RAIL  810.00$                 51.5
Hangers, RUL‐245 3360013 HGR/RAIL ASS'Y LH ECC BOLT      814.75$                
Hangers, RUL‐245 3360014 HGR/RAIL ASS'Y RH ECC BOLT      814.75$                
Hangers, RUL‐245 3360015 HGR/RAIL ASS'Y LH ECC BOLT      730.00$                
Hangers, RUL‐245 3360016 HGR/RAIL ASS'Y RH ECC BOLT      730.00$                
Hangers, RUL‐245 3360025 HGR/RAIL ASS'Y LH ECC BOLT      1,082.75$            
Hangers, RUL‐245 3360026 HGR/RAIL ASS'Y RH ECC BOLT      1,082.75$            
Hangers, RUL‐245 3360027 HGR ASY‐LH RUL‐245   45DEG      935.00$                 56.5
Hangers, RUL‐245 3360028 HGR ASY‐RH RUL‐245  45DEG       935.00$                 56.5
Hangers, RUL‐245 3360029 HGR ASSY LH (2450021)           635.00$                
Hangers, RUL‐245 3360030 HGR ASSY RH (2450021)           635.00$                
Hangers, RUL‐245 3360031 HGR ASY‐LH RUL‐245   45DEG      546.75$                 57
Hangers, RUL‐245 3360032 HGR ASY‐RH RUL‐245   45DEG      546.75$                
Hangers, RUL‐245 3360046 HANGER ASY LH 6"PVT TRUCK 215   565.00$                
Hangers, RUL‐245 3360047 HANGER ASY RH 6"PVT TRUCK 215   565.00$                

Hangers, RCA‐215 3360050 HANGER ASY LH 215XLT/LMT        495.00$                
Hangers, RCA‐215 3360051 HANGER ASY, RH 215XLT/LMT       495.00$                

Hangers, RUL‐245 3360064 HANGER ASY LH 6"PVT TRUCK 215   560.00$                 54.72
Hangers, RUL‐245 3360065 HANGER ASY RH 6"PVT TRUCK 215   560.00$                 54.72
Hangers, RUL‐245 3360080 HANGER ASSY. LH‐215XHT          655.00$                
Hangers, RUL‐245 3360081 HANGER ASSY. RH‐215XHT          655.00$                
Hangers, RUL‐245 3360084 HANGER ASY LH 8" PVT TRUCK 215  695.00$                
Hangers, RUL‐245 3360085 HANGER ASY RH 8" PVT TRUCK 215  695.00$                
Hangers, RUL‐245 33666108 HGR ASY‐LH 245 W/ ECC BOLT      1,195.30$             55.9
Hangers, RUL‐245 33666208 HGR ASY‐RH 245 W/ ECC BOLT      1,195.30$             56
Hangers, RUL‐245 3367666C104 HGR ASY‐LH 245 W/ ECC BOLT      560.00$                 40.92
Hangers, RUL‐245 3367666C105 HGR ASY‐LH 245 W/ ECC BOLT      670.00$                 50.24
Hangers, RUL‐245 3367666C204 HGR ASY‐RH 245 W/ ECC BOLT      560.00$                 40.92
Hangers, RUL‐245 3367666C205 HGR ASY‐RH 245 W/ ECC BOLT      670.00$                 50.24

Air Spring Top Mounting Plates 34500001 TOP MTG PL ASSY‐ A.S.           205.00$                
Air Spring Top Mounting Plates 3450006 A.S. PEDESTAL 2 3/16 HI         197.50$                
Air Spring Top Mounting Plates 3450008 A.S. MTG BRKT‐LH/BB LTC‐40 TAG  210.00$                 6
Air Spring Top Mounting Plates 3450009 A.S. MTG BRKT‐RH/BB LTC‐40 TAG  210.00$                 6
Air Spring Top Mounting Plates 3450025 AIR SPRG MNT 34"FRM X=2‐3/4"    122.00$                 5.52
Air Spring Top Mounting Plates 3450033 AIR SPRG MNT 35"FRM X=3‐1/4"    133.90$                
Air Spring Top Mounting Plates 3450044 A.S. MTG‐LH/RH DRIVE OPTIMA     130.00$                
Air Spring Top Mounting Plates 3450050 A.S. HGR REAR F‐550 SD LH       550.00$                
Air Spring Top Mounting Plates 3450073 AIR SPRING SPACER (2"TALL)      196.00$                 7.85
Air Spring Top Mounting Plates 3450082 AIR SPRING SPACER 2.25" @7.75"  166.20$                
Air Spring Top Mounting Plates 3450084 SPRING MTG ASS'Y LH 2270040     530.65$                 23.46
Air Spring Top Mounting Plates 3450085 SPRING MTG ASS'Y RH             1,093.45$             47.24
Air Spring Top Mounting Plates 3450089 AIR SPRG MNT 34"FRM X=2‐3/4"FW  130.00$                
Air Spring Top Mounting Plates 3450100 UPPER A/SPG MTG BRKT LH         836.20$                 60.7
Air Spring Top Mounting Plates 3450101 UPPER A/SPG MTG BRKT RH         836.20$                 60.7
Air Spring Top Mounting Plates 3450104 A.S. HGR REAR F‐550 SD LH       278.75$                
Air Spring Top Mounting Plates 3450107 AIR SPRING MTG PLATE 232        110.00$                 4.2
Air Spring Top Mounting Plates 3450113 AIR SPRING SPACER 4.19" @7.75"  195.50$                
Air Spring Top Mounting Plates 3450126 A/S MTG SPACER,1" 215 137.35$                
Air Spring Top Mounting Plates 3450127 A/S MTG SPACER, 2"    215       167.00$                
Air Spring Top Mounting Plates 3450131 UPPER AIR SPRING MTG BRKT       185.00$                 3.54
Air Spring Top Mounting Plates 3450132 UPPER A/S MTG BRKT 215XHT 116.50$                
Air Spring Top Mounting Plates 3450155 A/S MTG SPACER, 2"    215       152.50$                
Air Spring Top Mounting Plates 3450156 SPRING MTG ASS'Y RH             1,105.00$             47.24
Air Spring Top Mounting Plates 3450159 AIR SPRING SPCR LH (5.5"TALL)   243.75$                
Air Spring Top Mounting Plates 3457224B000 UPPER A.S. PLT A=1‐3/4"         132.00$                 3.46
Air Spring Top Mounting Plates 3457599B301 A.S.MTG PLT ASY                 225.15$                



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

20

Category Part Number Description                     List Price   Weight
Air Spring Top Mounting Plates 3457676B002 AIR SPG PLATE ASSY 34.31" FW    145.00$                
Air Spring Top Mounting Plates 3457702B000 UPPER A.S.PLT A=1‐1/4" 8"Oct.   2,010.00$            
Air Spring Top Mounting Plates 3467479C200 A.S./SHOCK UPPER BRKT‐RH        409.25$                
Air Spring Top Mounting Plates 3467715C100 AIR SPRING/SHOCK BRKT ASSY‐LH   575.00$                
Air Spring Top Mounting Plates 3467715C200 AIR SPG/SWAY BAR/SHOCK BRKT‐RH  745.00$                
Air Spring Top Mounting Plates 3477618B000 SPRING PLT ASSY‐MR688P 33.38"   578.90$                 56.72
Air Spring Top Mounting Plates 3497606B015 A.S. MTG BOLSTER ASS'Y 31.5"    530.00$                 33.24

Shock Mounting Bracket Assemblies, Misc. 3500001 SHOCK BRKT ASY‐TAG BB LTC‐40    174.00$                
Shock Mounting Bracket Assemblies, Misc. 3500008 SHOCK BRKT ASS'Y ‐ CHANCE RETR  290.00$                
Shock Mounting Bracket Assemblies, Misc. 3500026 UPPER SHOCK MT @ FRAME 215      201.50$                
Shock Mounting Bracket Assemblies, Misc. 3500034 DRIVE AXLE UPPER SHOCK BRKT     286.50$                 5.6
Shock Mounting Bracket Assemblies, Misc. 3500044 UPPER SHOCK BRACKET, LH (241)   272.50$                
Shock Mounting Bracket Assemblies, Misc. 3500045 UPPER SHOCK BRACKET, RH (241)   272.50$                
Shock Mounting Bracket Assemblies, Misc. 3507679B000 SHOCK MTG BRKT ASY              95.00$                   1.84

Shock Mounting Bracket Assemblies, 1" Fastener 3510004 WELD‐ON SHOCK BRKT              210.00$                
Shock Mounting Bracket Assemblies, 1" Fastener 3510024 REAR SHK MT BKT RH (ELDO)       253.00$                
Shock Mounting Bracket Assemblies, 1" Fastener 3510025 AXLE CLAMP PLATE 190.50$                 3.74
Shock Mounting Bracket Assemblies, 1" Fastener 3510028 SHOCK BRACKET @ FRAME (C4RE)    270.00$                
Shock Mounting Bracket Assemblies, 1" Fastener 3510032 SHOCK BRACKET ASS'Y             170.00$                
Shock Mounting Bracket Assemblies, 1" Fastener 3516191B002 SHOCK BRKT ASSY @ FRAME         304.00$                
Shock Mounting Bracket Assemblies, 1" Fastener 3517484B000 SHOCK STUD ASSY 5.063           227.50$                
Shock Mounting Bracket Assemblies, 1" Fastener 3517485B100 SHOCK STUD ASSY‐LH 260.00$                
Shock Mounting Bracket Assemblies, 1" Fastener 3517485B200 SHOCK STUD ASSY‐RH              260.00$                
Shock Mounting Bracket Assemblies, 1" Fastener 3517493B100 SHOCK BRACKET ASSY LH           310.00$                
Shock Mounting Bracket Assemblies, 1" Fastener 3517493B200 SHOCK BRACKET ASSY RH           310.00$                
Shock Mounting Bracket Assemblies, 1" Fastener 3517606B100 SHOCK STUD ASY‐L 3/4" ANGL MT   305.00$                 9
Shock Mounting Bracket Assemblies, 1" Fastener 3517606B101 SHOCK STD MTG BRKT‐L 3/4" OPT   305.00$                 9
Shock Mounting Bracket Assemblies, 1" Fastener 3517606B200 SHK STUD ASY L 3/4" ANGL MT     305.00$                 9
Shock Mounting Bracket Assemblies, 1" Fastener 3517606B201 SHK STD MTG BRKT R 3/4" OPT     305.00$                 9

Sway Bar Mounting Bracket Assemblies, Chassis 1" 3520019 FRAME‐END PANHARD MTG BRKT      380.00$                 6.98
Sway Bar Mounting Bracket Assemblies, Chassis 1" 3520020 FRAME‐END PANHARD MTG BRKT      380.00$                 7.02
Sway Bar Mounting Bracket Assemblies, Chassis 1" 3530009 PANHARD BRACKET @ FRAME B'BIRD  340.00$                
Sway Bar Mounting Bracket Assemblies, Chassis 1" 3535704B000 S'BAR MTG BRKT 227 STD          258.00$                 7.78

Mounting Brackets, Misc. 3537505B000 T'BM MTG BRKT ASY @ C/MEM       435.00$                 9.96
Mounting Brackets, Misc. 3550002 SHK BKT MTG PLT ASS'Y           270.00$                
Mounting Brackets, Misc. 3550003 SHK BKT MTG BRK'T  ASS'Y C'COA  550.00$                
Mounting Brackets, Misc. 3560002 WEAR PAD SUPPORT ASSY F‐550 SD  140.00$                
Mounting Brackets, Misc. 3567676B002 AIR SPRG SUPT BRKT 34.31" A‐LF  194.05$                
Mounting Brackets, Misc. 3577482B000 CYL MTG BRKT REAR               220.00$                

Pedestals, RD‐202 3597465D004 MACH'D PEDSTL PACCAR 34"FW      2,190.00$             92
Pedestals, RD‐202 3607465D001 PED ASY STD 34"FW MACK          2,360.00$             95
Pedestals, RD‐202 3607465D002 PED ASY FORD E5HS5879BB         2,360.00$             89
Pedestals, RD‐202 3607465D004 PEDSTL ASY 34"FW PACAR          2,360.00$             94
Pedestals, RD‐202 3610002 PED ASY/FAB H/D 10.75" 34 FW 2,280.00$            
Pedestals, RD‐202 3616598D000 PED ASY/FAB W/SHK CCC           1,520.00$             114
Pedestals, RD‐202 3617494D000 PED ASY/FAB H/D 10.00" 34.0 FW  2,705.00$            
Pedestals, RD‐202 3617557D301 PED ASY/FAB 34.125"FW           3,975.00$            
Pedestals, RD‐202 3620006 SMPA 202S/WS 16.25 34.00 STD    2,926.60$             148
Pedestals, RD‐202 3620007 SMPA 202S/WS 16.75 34.00 STD    2,710.00$             153
Pedestals, RD‐202 3620010 SMPA 202S/WS 16.25 35.00 SPRTN  1,870.00$             153

Pedestals, RD‐202S 3620013 SMPA 204S‐1‐27                  1,768.80$            
Pedestals, RD‐202S 3620016 SMPA 204S‐1‐27                  1,913.55$            
Pedestals, RD‐202S 3620017 SMPA 202S/WS W/ON 15.5T 34.25F  2,475.00$             152
Pedestals, RD‐202S 3620021 SMPA 202S/WS 17.6T 35.0FW SPTN  2,105.00$             153
Pedestals, RD‐202S 3620027 SMPA 202S/WS 16.75 35.00 SPTN   2,180.00$            
Pedestals, RD‐202S 3627594D001 SMPA 202S/WS 14.75 34.00 STD    2,358.40$             141
Pedestals, RD‐202S 3627594D002 SMPA 202S/WS 14.75 34.81 FORD   2,358.40$             141
Pedestals, RD‐202S 3627594D003 SMPA 202S/WS 14.75 34.00 PACR   2,358.40$             95
Pedestals, RD‐202S 3627594D007 SMPA 202S/WS 14.75 34.06 CCC    2,065.00$            
Pedestals, RD‐202S 3627594D012 SMPA 202S/WS 14.75 34.5 CCC     1,876.00$            
Pedestals, RD‐202S 3627634D002 SMPA 202S/NS 14.75 34.81 F3HS   2,224.40$             140
Pedestals, RD‐202S 3627634D003 SMPA 202S/NS 14.75 34.00 PACR   2,224.40$             138
Pedestals, RD‐202S 3627634D004 SMPA 202S/NS 14.75 34.68 NAVI   2,224.40$             140
Pedestals, RD‐202S 3627634D006 SMPA 202S/NS 14.75 34.06 CCC    2,224.40$            
Pedestals, RD‐202S 3627634D009 SMPA 202S/NS 14.75 34.81 F6‐BA  1,880.00$             140
Pedestals, RD‐202S 3627651D000 SMPA 202S/NS 17.63 34.00 MACK   1,945.00$             151
Pedestals, RD‐202S 3627651D011 SMPA 202S/WS 17.63 34.00 MACK   2,130.00$             161
Pedestals, RD‐202S 3627690D001 SMPA 202S/WS 15.75 34.00 STD    2,058.25$             150

Pre‐Assembled Chassis Parts 3977676B002 HGR/ECC.BOLT ASY W/3277676C002  1,645.00$            



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

21

Category Part Number Description                     List Price   Weight
Shock Mounting Brackets 4000010 SHOCK ARM ASY LH                170.00$                 11.46

Beam Assemblies, Transit Bus 4000044 NABI "C‐FRAME" LH LBA 2270098   3,680.00$             273.5
Beam Assemblies, Transit Bus 4000045 NABI "C‐FRAME" RH LBA 2270098   3,680.00$             273.5
Beam Assemblies, Transit Bus 4000046 NABI "C‐FRAME" LH LBA DRUM BRK  2,837.50$             273.5
Beam Assemblies, Transit Bus 4000047 NABI "C‐FRAME" RH LBA DRUM BRK  2,837.50$             273.5

Lower Beam Assemblies, RAR‐221, RCA‐235 4024743D100 LBA LH 26‐1/2" 4"TALL           1,260.00$            
Lower Beam Assemblies, RAR‐221, RCA‐235 4027097D100 LBA LH 26.5" 4"TL RAR‐231       1,225.00$            
Lower Beam Assemblies, RAR‐221, RCA‐235 4027097D200 LBA RH 26.5" 4"TL RAR‐231       1,225.00$            
Lower Beam Assemblies, RAR‐221, RCA‐235 4027193D100 LBA LH 26.5" 4"TL WILSON        1,190.00$             60
Lower Beam Assemblies, RAR‐221, RCA‐235 4027193D200 LBA RH 26.5" 4"TL WILSON        1,190.00$             60
Lower Beam Assemblies, RAR‐221, RCA‐235 4042761D200 LBA‐R 221 29" 4"T               1,370.00$             74.8
Lower Beam Assemblies, RAR‐221, RCA‐235 4050003 LBA‐LH RCA‐235 (TALL AX SEAT)   910.00$                 62
Lower Beam Assemblies, RAR‐221, RCA‐235 4050004 LBA‐RH RCA‐235 (TALL AX SEAT)   910.00$                 62
Lower Beam Assemblies, RAR‐221, RCA‐235 4050005 LBA‐LH RCA‐235 (SHORT AX SEAT)  805.00$                 53.74
Lower Beam Assemblies, RAR‐221, RCA‐235 4050006 LBA‐RH RCA‐235 (SHORT AX SEAT)  805.00$                 53.16
Lower Beam Assemblies, RAR‐221, RCA‐235 4050012 LOWER BEAM ASSY ‐ LH HIGH MNT   1,230.00$            
Lower Beam Assemblies, RAR‐221, RCA‐235 4050013 LOWER BEAM ASSY ‐ RH HIGH MNT   1,230.00$            
Lower Beam Assemblies, RAR‐221, RCA‐235 4053454D100 LBA‐L RAR‐221BT 5"RD            997.00$                 43.64
Lower Beam Assemblies, RAR‐221, RCA‐235 4053454D200 LBA‐R RAR‐221BT 5"RD            997.00$                 43.64

Lower Beam Assemblies, RAR‐241 4230003 BEAM‐241LH 32.5K 34‐5/8 X 6.5   1,760.00$            
Lower Beam Assemblies, RAR‐241 4230004 BEAM‐241RH 32.5K 34‐5/8 X 6.5   1,760.00$            
Lower Beam Assemblies, RAR‐241 4236191D102 LOAD BEAM ASSY‐LH RAD‐241 FWD   3,475.00$            
Lower Beam Assemblies, RAR‐241 4236191D202 LOAD BEAM ASSY‐RH RAD‐241 FWD   3,475.00$             174
Lower Beam Assemblies, RAR‐241 4237599D102 LBA‐241 LH 31K 34‐5/8 x 7.0     3,065.00$             166.64
Lower Beam Assemblies, RAR‐241 4237599D202 LBA‐241 RH 31K 34‐5/8 x 7.0     3,065.00$             166.64
Lower Beam Assemblies, RAR‐241 4237603D100 LBA‐241 LH 25K 34‐5/8 x 7.0     2,965.00$             140
Lower Beam Assemblies, RAR‐241 4237603D200 LBA‐241 RH 25K 34‐5/8 X 7.0     2,965.00$             156
Lower Beam Assemblies, RAR‐241 4237614D100 LBA‐241 LH 27K 34‐5/8 X 8‐3/8   3,520.00$             157
Lower Beam Assemblies, RAR‐241 4237614D200 LBA‐241 RH 27K 34‐5/8 X 8‐3/8   3,520.00$             157
Lower Beam Assemblies, RAR‐241 4237676D100 LBA‐241 LH 31K 34‐5/8 X 8‐3/4   3,570.00$            
Lower Beam Assemblies, RAR‐241 4237676D200 LBA‐241 RH 31K 34‐5/8 X 8‐3/4   3,570.00$            
Lower Beam Assemblies, RAR‐241 4237688D100 LOW BEAM ASY‐LH NISSAN RAD241R  3,001.60$             26.3
Lower Beam Assemblies, RAR‐241 4237688D200 LOW BEAM ASY‐RH NISSAN RAD241R  3,001.60$             26.3

Lower Beam Assemblies, RAS‐227 4250004 BEAM ASSY RH 2270021            1,784.90$            
Lower Beam Assemblies, RAS‐227 4250015 LBA RH FOR 2270029              1,530.00$             91.65
Lower Beam Assemblies, RAS‐227 4250016 LBA LH FOR 2270029              1,455.00$             84.8
Lower Beam Assemblies, RAS‐227 4250019 LOWER BEAM ASSEMBLY LH C4RE     2,015.40$            
Lower Beam Assemblies, RAS‐227 4250032 LBA LH 2270071                  1,441.85$            
Lower Beam Assemblies, RAS‐227 4250033 LBA RH 2270071                  1,516.90$            
Lower Beam Assemblies, RAS‐227 4256805D100 LBA 227 LH FF‐932 THOMAS        1,972.50$            
Lower Beam Assemblies, RAS‐227 4256805D200 LBA 227 RH FF‐932 THOMAS        1,910.00$            
Lower Beam Assemblies, RAS‐227 4257479D100 LBA‐L RAS‐227 FF‐943@3D         1,902.80$            
Lower Beam Assemblies, RAS‐227 4257479D200 LBA‐R RAS‐227 FF‐943            1,795.60$             55.36
Lower Beam Assemblies, RAS‐227 4257541D103 LBA 227 LH FL‐943 AERIAL        2,717.55$            
Lower Beam Assemblies, RAS‐227 4257554D100 LBA 227 LH FL‐941 3.5DEG        1,720.60$             81
Lower Beam Assemblies, RAS‐227 4257554D201 LBA 227 RH FL‐941QX458 3.5 DEG  1,597.30$             67
Lower Beam Assemblies, RAS‐227 4257586D200 LBA RAS‐227 RH/I‐146@31.5 B.C.  1,775.00$            
Lower Beam Assemblies, RAS‐227 4257638D200 LOWER BEAM ASY‐RH FF‐943 3DEG   1,760.00$            

Lower Beam Assemblies, RAD‐227 4260064 LBA‐LH RS‐21‐145 OPTIMA         2,375.00$             117.25
Lower Beam Assemblies, RAD‐227 4260065 LBA‐RH RS‐21‐145 OPTIMA         2,375.00$             117.25
Lower Beam Assemblies, RAD‐227 4267403D200 LBA (RH) 227 R‐128 AX 5 DEG PU  2,935.00$             96
Lower Beam Assemblies, RAD‐227 4267605D100 LOWER BEAM ASSY‐LH RS23160 2DG  2,250.00$            
Lower Beam Assemblies, RAD‐227 4267637D100 LOWER BEAM ASY‐LH RS19‐145 3DG  2,030.00$            
Lower Beam Assemblies, RAD‐227 4267712D101 FRWD/LH LBA RAD‐227R DT451@2    2,261.95$            
Lower Beam Assemblies, RAD‐227 4267712D103 REAR/LH LBA RAD‐227R RT451@10   2,074.35$            
Lower Beam Assemblies, RAD‐227 4267712D202 FRWD/RH LBA RAD‐227R DT451@2    2,047.55$            
Lower Beam Assemblies, RAD‐227 4267712D204 REAR/RH LBA RAD‐227R RT451@10   2,288.75$            

Lower Beam Assemblies, RAD‐227R 4267732D101 LOW BM ASY‐L/FRWD RT52180 2DG 2,080.00$            
Lower Beam Assemblies, RAD‐227R 4267732D102 LOW BM ASY‐L/REAR RT52180 10DG 2,120.00$            
Lower Beam Assemblies, RAD‐227R 4267732D201 LOW BM ASY‐R/FRWD RT52180 2DG 2,090.00$            
Lower Beam Assemblies, RAD‐227R 4267732D202 LOW BM ASY‐R/REAR RT52180 10DG 2,105.00$            

Lower Beam Assemblies, RAD‐227WB 4277611D102 LBA‐L 227WB RS‐19‐145           3,720.00$             181
Lower Beam Assemblies, RAD‐227WB 4277611D201 LBA‐R 227WB RC‐22‐145 @4De      3,720.00$            

Lower Beam Assemblies, RAR‐240, RUL‐245 4280008 LBA‐LH 30K 5 AXLE 240‐OS HUCK   765.00$                 85.7
Lower Beam Assemblies, RAR‐240, RUL‐245 4280009 LBA‐RH 30K 5 AXLE 240‐OS HUCK   765.00$                 67
Lower Beam Assemblies, RAR‐240, RUL‐245 4280010 LBA‐LH 30K 5‐3/4 AXLE 240‐OS    990.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280011 LBA‐RH 30K 5‐3/4 AXLE 240‐OS    990.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280017 LBA‐LH W/ REAR SHOCK            777.20$                 79.5
Lower Beam Assemblies, RAR‐240, RUL‐245 4280020 LBA‐RH RAR‐240(2400013)         745.00$                 80



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

22

Category Part Number Description                     List Price   Weight
Lower Beam Assemblies, RAR‐240, RUL‐245 4280023 LBA‐LH (2400308 HIGH TRAVEL)    762.20$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280024 LBA‐RH (2400308 HIGH TRAVEL)    762.20$                 86
Lower Beam Assemblies, RAR‐240, RUL‐245 4280028 LBA 227WB F‐550 SD RH           1,610.00$            
Lower Beam Assemblies, RAR‐240, RUL‐245 4280041 LBA‐LH 240HD‐OSW HI‐SEAT 2.75"  930.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280042 LBA‐RH 240HD‐OSW HI‐SEAT 2.75"  930.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280051 LBA 227WB F‐550 SD LH           1,238.20$             65.4
Lower Beam Assemblies, RAR‐240, RUL‐245 4280052 LBA 227WB F‐550 SD RH           1,238.20$             71
Lower Beam Assemblies, RAR‐240, RUL‐245 4280057 BEAM ASSY LH W/BUSHING RAR‐244  900.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280058 BEAM ASSY RH W/BUSHING RAR‐244  900.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280063 LBA‐LH 227WB E‐350(SUPER DUTY)  1,875.00$            
Lower Beam Assemblies, RAR‐240, RUL‐245 4280064 LBA‐RH 227WB E‐350(SUPER DUTY)  1,838.50$            
Lower Beam Assemblies, RAR‐240, RUL‐245 4280066 BEAM ASS'Y LH (2400614)         1,045.20$            
Lower Beam Assemblies, RAR‐240, RUL‐245 4280067 BEAM ASS'Y RH (2400614)         1,045.20$            
Lower Beam Assemblies, RAR‐240, RUL‐245 4280073 BEAM ASS'Y LH (2400814)         885.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280074 BEAM ASS'Y RH (2400814)         885.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280084 LBA‐L 240USW                    643.20$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280085 LBA‐R 240USW                    643.20$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280090 BEAM ASSEMBLY LH 14/15"MTG HGT  616.40$                 51.8
Lower Beam Assemblies, RAR‐240, RUL‐245 4280091 BEAM ASSEMBLY RH 14/15"MTG HGT  616.40$                 51.8
Lower Beam Assemblies, RAR‐240, RUL‐245 4280096 BEAM ASSEMBLY LH 16/17"MTG HGT  600.35$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280097 BEAM ASSEMBLY RH 16/17"MTG HGT  600.35$                 53.45
Lower Beam Assemblies, RAR‐240, RUL‐245 4280098 BEAM ASSEMBLY L RAR‐240‐25‐LKS  970.20$                 62.1
Lower Beam Assemblies, RAR‐240, RUL‐245 4280099 BEAM ASSEMBLY R RAR‐240‐25‐LKS  970.20$                 62.9
Lower Beam Assemblies, RAR‐240, RUL‐245 4280100 LBA LH 2400080                  705.00$                 74.25
Lower Beam Assemblies, RAR‐240, RUL‐245 4280101 LBA RH 2400080                  830.80$                 74.25
Lower Beam Assemblies, RAR‐240, RUL‐245 4280110 BEAM ASS'Y LH 16/17"MTG HGT     625.00$                 53.64
Lower Beam Assemblies, RAR‐240, RUL‐245 4280111 BEAM ASS'Y RH 16/17"MTG HGT     625.00$                 53.64

Lower Beam Assemblies, RADT‐246 4280122 LBA LH STUB AXLE 2460026/27/30 2,312.50$            
Lower Beam Assemblies, RADT‐246 4280123 LBA RH STUB AXLE 2460026/27/30 2,312.50$            

Lower Beam Assemblies, RAR‐240, RUL‐245 4280204 BEAM ASSY LH 30K 14/15"MTG HGT  700.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280205 BEAM ASSY RH 30K 14/15"MTG HGT  700.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280206 BEAM ASSY LH 30K 16/17"MTG HGT  770.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280212 BEAM ASS'Y LH 25K U/S 5.0"AXLE  780.00$                
Lower Beam Assemblies, RAR‐240, RUL‐245 4280213 BEAM ASS'Y RH 25K U/S 5.0"AXLE  780.00$                

Lower Beam Assemblies, RAR‐260 4280267 BEAM ASSY RH YOKE 260           1,345.00$             94.75

Lower Beam Assembies, RAR‐240, RUL‐245 4287615B101 LD BM‐L W/BONDED MONOPIVOT      950.00$                 69
Lower Beam Assembies, RAR‐240, RUL‐245 4287615B201 LD BM‐R W/BONDED MONOPIVOT      950.00$                 69
Lower Beam Assembies, RAR‐240, RUL‐245 4287666B011 L'BM ASS'Y RUL‐245 LH/RH        1,025.00$             63
Lower Beam Assembies, RAR‐240, RUL‐245 4287666B103 L'BM LH ASS'Y RUL‐245           990.00$                 67.1
Lower Beam Assembies, RAR‐240, RUL‐245 4287666B203 L'BM RH ASS'Y RUL‐245           990.00$                 66.6
Lower Beam Assembies, RAR‐240, RUL‐245 4287666D103 L'BM SUB LH RUL‐245             775.00$                
Lower Beam Assembies, RAR‐240, RUL‐245 4287666D203 L'BM SUB RH RUL‐245             740.00$                
Lower Beam Assembies, RAR‐240, RUL‐245 4287694D200 LBA‐R 6067694D000/001           895.15$                
Lower Beam Assembies, RAR‐240, RUL‐245 4287716D101 LBA LH YOKE MOUNT 25K CAP       950.00$                 105
Lower Beam Assembies, RAR‐240, RUL‐245 4287716D201 LBA RH YOKE MOUNT 25K CAP       950.00$                 105
Lower Beam Assembies, RAR‐240, RUL‐245 4287729C200 LBA RH STUB AXLE C'COACH        1,205.00$            
Lower Beam Assembies, RAR‐240, RUL‐245 4287738D200 LBA‐RH 240‐USW HUCK SHK @5.81"  905.00$                 80
Lower Beam Assembies, RAR‐240, RUL‐245 4287739D100 LBA‐LH 240‐OSW LO‐SEAT HUCK     612.85$                 65
Lower Beam Assembies, RAR‐240, RUL‐245 4287739D102 LBA‐LH 25K 5" AXLE 240‐OSW      635.00$                 61
Lower Beam Assembies, RAR‐240, RUL‐245 4287739D200 LBA‐RH 240‐OSW LO‐SEAT HUCK     612.85$                 64.25
Lower Beam Assembies, RAR‐240, RUL‐245 4287739D202 LBA‐RH 25K 5" AXLE 240‐OSW      612.85$                 61
Lower Beam Assembies, RAR‐240, RUL‐245 4287744D100 LBA‐L 240USW HUCK SHK w/o bush  755.00$                 80
Lower Beam Assembies, RAR‐240, RUL‐245 4287744D200 LBA‐R 240USW HUCK SHK w/o bush  755.00$                 80
Lower Beam Assembies, RAR‐240, RUL‐245 4287754D100 LBA LH YOKE 30K, 5.75" AXLE 995.00$                 120
Lower Beam Assembies, RAR‐240, RUL‐245 4287754D200 LBA RH YOKE 30K, 5.75" AXLE 995.00$                 120
Lower Beam Assembies, RAR‐240, RUL‐245 4287754D175 LBA‐L 30K CAP 240US 5" AXLE     1,155.00$             92
Lower Beam Assembies, RAR‐240, RUL‐245 4287754D275 LBA‐R 30K CAP 240US 5" AXLE     1,155.00$             92
Lower Beam Assembies, RAR‐240, RUL‐245 4297224D100 LBA SUB‐ASY LH/227C             2,775.00$            
Lower Beam Assembies, RAR‐240, RUL‐245 4297224D200 LBA SUB‐ASY RH/227C             2,775.00$            

Lower Beam Assemblies, RAD‐227 4307224B100 LBA 227 TANDEM LH 2,640.00$            
Lower Beam Assemblies, RAD‐227 4307224B200 LBA 227 TANDEM RH 2,640.00$            

Lower Beam Assemblies, RSS‐236, 237 4370009 LBA 15‐1/2" LT WT LIFT BEAM     246.50$                 16.67
Lower Beam Assemblies, RSS‐236, 237 4370025 LBA‐LH RSS‐236 NO HOLES 1" SAE 825.00$                
Lower Beam Assemblies, RSS‐236, 237 4270029 LBA‐RH RSS‐236 NO HOLES 1" SAE 680.00$                
Lower Beam Assemblies, RSS‐236, 237 4370046 LBA‐LH RSS‐236 TWO BEAM         911.20$                
Lower Beam Assemblies, RSS‐236, 237 4370047 LBA‐RH RSS‐236 LOW MOUNT        590.00$                
Lower Beam Assemblies, RSS‐236, 237 4377570D100 LBA RSS‐236 LH/ONE BEAM         712.50$                 30
Lower Beam Assemblies, RSS‐236, 237 4377570D200 LBA‐R RSS‐236 TWO BEAM          820.00$                 58.46
Lower Beam Assemblies, RSS‐236, 237 4377620D101 LBA RSS‐236 LH/16K ONE BEAM     700.00$                
Lower Beam Assemblies, RSS‐236, 237 4377620D102 LBA LH RSS‐236/237 20K W/SLOTS  995.00$                 63.75
Lower Beam Assemblies, RSS‐236, 237 4377620D105 LBA RSS‐236 LH/16K ONE BEAM     917.50$                 38.9



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

23

Category Part Number Description                     List Price   Weight
Lower Beam Assemblies, RSS‐236, 237 4377620D201 LBA RH RSS‐236/237 16/20K VAR.  1,090.00$             64
Lower Beam Assemblies, RSS‐236, 237 4377620D205 LBA RSS‐236 RH/16K TWO BEAM     1,002.50$            
Lower Beam Assemblies, RSS‐236, 237 4377629D100 LBA 236 LH/ONE BEAM P'BILT      809.40$                 36
Lower Beam Assemblies, RSS‐236, 237 4377629D200 LBA 236 RH/TWO BEAM P'BILT      932.65$                 63
Lower Beam Assemblies, RSS‐236, 237 4377726D100 LBA LH RSS‐236 20K W/SLOTS      1,131.00$             63.7
Lower Beam Assemblies, RSS‐236, 237 4377726D200 LBA RH RSS‐236 20K W/SLOTS      1,131.00$            

Axle Seat Assemblies, RDX‐204 4400001 UPPER AXLE SEAT ASS'Y           275.00$                
Axle Seat Assemblies, RDX‐204 4401464B305 SPG END ASY A=6‐11/16"          246.60$                 16

Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4410002 AXLE SHOE ASY,5.75" 206 & 300   595.00$                 56
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4410004 AXLE SHOE ASY,5" AXLE           530.00$                
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4413462C100 AX SEAT ASY LH 5.75D/206        1,095.00$            
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4413462C200 AX SEAT ASY RH 5.75D/206        1,095.00$            
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4414731C000 AX SEAT ASY‐5"D/RWB‐300         1,095.00$            
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4430005 BEAM ASY LH 2290005             1,350.75$             99
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4430006 BEAM ASY RH 2290005             1,350.75$             99
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4460006 LBA ASSY LH 3.5 DEG             1,635.00$            
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4460007 LBA ASSY RH 3.5 DEG             1,665.00$            
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4557335B100 BEAM ASY/CTR TRI‐AXLE LH        2,105.00$            
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4557335B200 BEAM ASY/CTR TRI‐AXLE RH        2,105.00$            
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4557722B100 CTR BEAM ASSY LH RWB‐300        2,990.00$            
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4557722B200 CTR BEAM ASSY RH RWB‐300        2,990.00$             93
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4557767B100 CTR TRI‐AXL BEAM LH 5‐3/4"@30"  2,150.00$            
Axle Seat Assemblies, RWB‐206, RWB‐300, RED‐228 4557767B200 CTR TRI‐AXL BEAM RH 5‐3/4"@30"  2,150.00$            

Sway Bar Brackets & Axle 4600006 SWAY BAR BRKT ASSY PIERCE       410.00$                 15.26
Sway Bar Brackets & Axle 4600009 S'BAR BKT RS‐23‐160 10.188X16H  739.70$                 21.68
Sway Bar Brackets & Axle 4600012 S'BAR BRKT @ AXLE 2460018       423.45$                
Sway Bar Brackets & Axle 4600013 S'BAR BKT RT‐52‐180 10.5X17.06  482.40$                 33.16
Sway Bar Brackets & Axle 4600018 SB BRKT @ AXLE RS‐21‐160        460.00$                 13.48
Sway Bar Brackets & Axle 4600023 S'BAR BRKT @ AXLE 2460023       475.00$                
Sway Bar Brackets & Axle 4600024 S'BAR BRKT @ AXLE 2460026       405.00$                 14.04
Sway Bar Brackets & Axle 4607485C000 SB BRKT ASY/AX T'PIN RT52       455.60$                
Sway Bar Brackets & Axle 4607539C145 SB BRKT @ AXLE RC‐22‐145        455.60$                 13.48
Sway Bar Brackets & Axle 4607611C002 SB MTG BRKT @ RS‐19‐145         580.00$                 12.44
Sway Bar Brackets & Axle 4627552C120 S'BAR MTG BRKT@RS‐15‐120        470.00$                 15.2
Sway Bar Brackets & Axle 4627596B000 SB BRKT ASY RC22 4.5 11.0x13.0  405.00$                 17.92
Sway Bar Brackets & Axle 4627637C000 SWAY BAR BRKT @ RS‐19‐145 AXLE  490.00$                 17.26
Sway Bar Brackets & Axle 4627649B001 SB AXLE BRKT J230‐4.5DG         415.00$                 16.77

U‐Bolt Spacer Assemblies 4640009 UB SPA‐LH RS‐21‐145 OPTIMA      149.00$                 2.35
U‐Bolt Spacer Assemblies 4640010 UB SPA‐RH RS‐21‐145 OPTIMA      125.00$                 2.2
U‐Bolt Spacer Assemblies 4640013 UB SPA ASY LH DANA R404 34"BC   203.70$                 2.64
U‐Bolt Spacer Assemblies 4640014 UB SPA ASY RH DANA R404 34"BC   203.70$                 2.64
U‐Bolt Spacer Assemblies 4640017 UB SPACER ASS'Y RC‐23‐160       140.00$                
U‐Bolt Spacer Assemblies 4640019 UB SPACER RS‐23‐160 EL DORADO   147.50$                
U‐Bolt Spacer Assemblies 4640036 UPPER U‐BOLT SPACER ASS'Y LH    154.00$                 1.94
U‐Bolt Spacer Assemblies 4640037 LOWER U‐BOLT SPACER ASS'Y RH    174.00$                 2.18
U‐Bolt Spacer Assemblies 4647618B000 UB SPACER ASSY‐EATON 30055P     142.50$                 4.88
U‐Bolt Spacer Assemblies 4647637B100 UB SPACER‐L RS19‐145 36"BC      150.00$                 2.62
U‐Bolt Spacer Assemblies 4647637B200 UB SPACER‐R RS19‐145 36BC       150.00$                 2.62
U‐Bolt Spacer Assemblies 4647688B100 UB SPACER‐LH RS22‐145 @ 36.5BC  170.25$                

U‐Bolt Spacer Plate Assemblies 4657471B000 UB SPACER ASY RS‐17 @ 39.5      120.00$                
U‐Bolt Spacer Plate Assemblies 4657611B001 UB SPACER ASY‐R RC‐19‐145       160.00$                
U‐Bolt Spacer Plate Assemblies 4657611B102 UB SPACER ASY‐L RS‐19‐145       160.00$                

Bolt‐On Axle Brackets 4660008 DAMPER MOUNT LH @ AXLE          105.00$                 2.24
Bolt‐On Axle Brackets 4660009 DAMPER MOUNT RH @ AXLE          96.00$                   2.24
Bolt‐On Axle Brackets 4660010 TIE ROD MOUNT DUAL DMPNER       142.50$                 4.14
Bolt‐On Axle Brackets 4660033 TUBE ASSY, STEER LOCK 147.50$                
Bolt‐On Axle Brackets 4660036 STRAIGHT BOLT UPPER ASS'Y       300.00$                 12.46

Axle & Torque Rod Brackets, Misc. 4670012 SHK BRACKET @ AX/240 STYLE‐BB   147.50$                 2.6
Axle & Torque Rod Brackets, Misc. 4670013 LOWER SHOCK TO AXLE MT 215      150.00$                
Axle & Torque Rod Brackets, Misc. 4673457B000 SHOCK MTG BRKT @ AXLE           180.00$                 1.66
Axle & Torque Rod Brackets, Misc. 4677570B000 LOWER AXLE PLT W/DOWEL          139.60$                

Eccentric Bolt Assemblies 5000699B000 ECCENTRIC BOLT ASSY W/STRIP     315.00$                 5.8
Eccentric Bolt Assemblies 5001030B000 ECCENTRIC BOLT ASY              310.00$                 5.2
Eccentric Bolt Assemblies 5001458B000 ECC' BOLT ASSY W/O STRIP PLATD  230.00$                 5.54
Eccentric Bolt Assemblies 5005063B000 ECCENTRIC BOLT ASY‐HEAVY        345.00$                
Eccentric Bolt Assemblies 5005366B000 ECC BOLT ASY HD 10.5 W/S        415.00$                 10.4
Eccentric Bolt Assemblies 5005394B000 ECCENTRIC BOLT ASY              310.00$                 5.44
Eccentric Bolt Assemblies 5005470B000 ECC BOLT 1.25" 10L 3.75C        260.00$                 6.38
Eccentric Bolt Assemblies 5007099B000 ECENTRC BOLT ASY 8‐1/4"W/STRIP  405.00$                 6.12



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

24

Category Part Number Description                     List Price   Weight
Eccentric Bolt Assemblies 5007177B000 ECCENTRIC BOLT ASY 8.25" WO/ST  275.00$                 5.92
Eccentric Bolt Assemblies 5007300B000 ECC BOLT 10"L W/5.75"CAM        275.00$                 7

Clamping Plate Assemblies 5010696B000 CLAMPING PLATE ASY W/STRIP      110.00$                 2.12
Clamping Plate Assemblies 5011317B000 CLAMPING PLT ASY THREADED       125.00$                

Eccentric Bolt Service Kits 5021458B306 ECC BOLT KIT/L'NUT C 12G        300.00$                 8.44
Eccentric Bolt Service Kits 5024614B000 ECCENTRIC BOLT SER KIT          460.00$                 10.02
Eccentric Bolt Service Kits 5025873B000 HGR BOLT SER KIT 8‐1/2" 96.50$                  
Eccentric Bolt Service Kits 5027177B000 ECC BOLT SER KIT 8‐1/4" 330.25$                 9.04
Eccentric Bolt Service Kits 5027177B235 ECC BOLT SER KIT 8‐1/4" TRUCK   350.00$                 9.06

Sway Bar Assemblies 5030002 SWAY BAR ASSY 22.28"LG          584.00$                 16.94
Sway Bar Assemblies 5030004 ROD ASY 15.5"&1.5"OFFSET EYES   181.00$                 3.6
Sway Bar Assemblies 5030007 SWAY BAR ASY 90x19‐3/16"        500.00$                 11.02
Sway Bar Assemblies 5030010 T'ROD B'PIN/THRU BOLT 15.00"LG  590.00$                 14.88
Sway Bar Assemblies 5030011 T'ROD B'PIN/THRU BOLT 34.50"LG  735.50$                 22.96
Sway Bar Assemblies 5030017 T'ROD 34.50 CTRS                845.00$                 20.45
Sway Bar Assemblies 5030022 T'ROD 15.000 CTRS               760.00$                 15.6
Sway Bar Assemblies 5030023 T'ROD 14.875" CTRS              760.00$                 14.24
Sway Bar Assemblies 5030030 S'BAR T'PIN 26.313"LG @ 11.5    665.00$                
Sway Bar Assemblies 5030031 S'BAR T'PIN 28.031"LG @ 11.5    615.00$                
Sway Bar Assemblies 50309101 TORQUE ROD ASY 32‐3/8"          736.00$                 23
Sway Bar Assemblies 5033896B305 SWAY BAR ASY A=15‐1/2"L         255.00$                
Sway Bar Assemblies 5033896B306 SWAY BAR ASY A=14"L             240.50$                 10.1
Sway Bar Assemblies 5033896B308 SWAY BAR ASY A=16‐1/2"L         270.00$                
Sway Bar Assemblies 5037046B301 SWAY BAR T'PIN A=25.00" SB317   630.00$                 24
Sway Bar Assemblies 5037046B302 SWAY BAR T'PIN A=30.00" SB317   630.00$                
Sway Bar Assemblies 5037046B303 SWAY BAR T'PIN A=24.00" SB317   630.00$                 23
Sway Bar Assemblies 5037046B305 SWAY BAR T'PIN A=26.50" SB317   630.00$                
Sway Bar Assemblies 5037046B317 SWAY BAR T'PIN A=24.19" SB317   630.00$                
Sway Bar Assemblies 5037046B319 SWAY BAR T'PIN A=24.75" SB317   630.00$                
Sway Bar Assemblies 5037046B320 SWAY BAR T'PIN A=24.56" SB317   630.00$                
Sway Bar Assemblies 5037046B323 SWAY BAR T'PIN A=27.25" SB317   630.00$                
Sway Bar Assemblies 5037046B324 SWAY BAR T'PIN A=29.50" SB317   630.00$                
Sway Bar Assemblies 5037046B327 SWAY BAR T'PIN A=19.66" SB337   685.00$                 21.95
Sway Bar Assemblies 5037046B329 SWAY BAR T'PIN A=20.62" SB337   685.00$                 23
Sway Bar Assemblies 5037046B332 SWAY BAR T'PIN A=23.25" SB317   630.00$                 22.98
Sway Bar Assemblies 5037046B333 SWAY BAR T'PIN A=23.50" SB317   630.00$                 23.15
Sway Bar Assemblies 5037046B334 SWAY BAR T'PIN A=18.19" SB317   630.00$                
Sway Bar Assemblies 5037046B335 SWAY BAR T'PIN A=20.06" SB317   630.00$                 18
Sway Bar Assemblies 5037046B340 SWAY BAR T'PIN A=22.938 SB317   375.00$                 24
Sway Bar Assemblies 5037046B341 SWAY BAR T'PIN A=19.50 SB317    630.00$                 21.84
Sway Bar Assemblies 5037046B342 SWAY BAR T'PIN A=22.264  SB317  630.00$                 21.84
Sway Bar Assemblies 5037046B343 SWAY BAR T'PIN A=26.436  SB317  630.00$                 21.84
Sway Bar Assemblies 5037046B344 SWAY BAR T'PIN A=26.375"        660.00$                 21.84
Sway Bar Assemblies 5037046B345 SWAY BAR T'PIN A=28.031"        615.00$                 21.84
Sway Bar Assemblies 5037166B302 TORQUE ROD S'PIN A=21.25"       625.00$                
Sway Bar Assemblies 5037166B312 TORQUE ROD S'PIN A=21.50        630.00$                 21.02
Sway Bar Assemblies 5037166B313 TORQUE ROD S'PIN A=27.00        630.00$                 22.54
Sway Bar Assemblies 5037166B316 TORQUE ROD S'PIN A=21.00"       630.00$                
Sway Bar Assemblies 5037166B323 TORQUE ROD S'PIN A=25.13" LG    630.00$                
Sway Bar Assemblies 5037166B324 TORQUE ROD S'PIN A=24.00"       630.00$                
Sway Bar Assemblies 5037166B325 TORQUE ROD S'PIN A=24.50"       630.00$                
Sway Bar Assemblies 5037166B326 TORQUE ROD S'PIN A=22.00"       630.00$                
Sway Bar Assemblies 5037166B327 TORQUE ROD S'PIN A=24.25"       630.00$                
Sway Bar Assemblies 5037264B301 SWAY BAR ASY X=25"L             370.00$                 13.14
Sway Bar Assemblies 5037264B303 SWAY BAR ASY X=33‐1/2"L         415.00$                 16
Sway Bar Assemblies 5037264B304 SWAY BAR ASY X=26‐15/32"L       370.00$                 14
Sway Bar Assemblies 5037264B305 SWAY BAR ASY X=25‐1/2"L         370.00$                 13
Sway Bar Assemblies 5037264B306 SWAY BAR ASY X=26"L             370.00$                 13.6
Sway Bar Assemblies 5037264B309 SWAY BAR ASY X=26‐1/4"L         370.00$                
Sway Bar Assemblies 5037264B314 SWAY BAR ASY X=22‐3/4"L         343.05$                 14
Sway Bar Assemblies 5037264B319 SWAY BAR ASY X=24‐23/32"L       346.00$                
Sway Bar Assemblies 5037264B321 SWAY BAR ASY X=16‐1/2"L         219.80$                 11.44
Sway Bar Assemblies 5037264B322 SWAY BAR ASY X=27‐5/8"L         346.00$                 14
Sway Bar Assemblies 5037264B323 SWAY BAR ASY X=37"L             394.00$                 16.16
Sway Bar Assemblies 5037264B324 SWAY BAR ASY X=31‐3/4"L         361.50$                 14.74
Sway Bar Assemblies 5037264B325 SWAY BAR ASY X=24"L             361.50$                 10
Sway Bar Assemblies 5037264B330 SWAY BAR ASY X=18"L             219.80$                 10.82
Sway Bar Assemblies 5037264B334 SWAY BAR ASY X=19‐3/16"         219.80$                 11.02
Sway Bar Assemblies 5037264B335 SWAY BAR ASY X=24‐1/2"L         346.00$                 13.18
Sway Bar Assemblies 5037264B336 SWAY BAR ASY X=30"L             358.00$                
Sway Bar Assemblies 5037264B337 SWAY BAR ASY A=15‐1/2"L         219.80$                
Sway Bar Assemblies 5037264B342 SWAY BAR ASY A=21.5"L           343.05$                 11.7
Sway Bar Assemblies 5037264B343 SWAY BAR ASY A=27‐11/16"L       358.00$                 13.96
Sway Bar Assemblies 5037264B346 SWAY BAR ASY X=26‐5/8"L         358.00$                



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

25

Category Part Number Description                     List Price   Weight
Sway Bar Assemblies 5037264B347 SWAY BAR ASY X=21‐1/8"L         343.05$                 13
Sway Bar Assemblies 5037264B353 SWAY BAR ASY X=27"L             358.00$                
Sway Bar Assemblies 5037264B359 SWAY BAR ASY X=27‐1/8"L         358.00$                
Sway Bar Assemblies 5037264B361 SWAY BAR ASY X=24‐9/16" LG      354.00$                 13.18
Sway Bar Assemblies 5037482B000 TORQUE ROD ASY 15‐5/8"          165.00$                 13
Sway Bar Assemblies 5037560B000 SWAY BAR ASY 1.13"PIN 31.25"LG  745.00$                
Sway Bar Assemblies 5037620B302 TORQUE ROD ASY X=15‐9/16        240.00$                
Sway Bar Assemblies 5037620B303 TORQUE ROD ASY X=15"            222.45$                 10.08
Sway Bar Assemblies 5037761B001 TORQUE ROD A=22.62" 592.00$                 16.98
Sway Bar Assemblies 5044501 LINK CHAIN 3/8"  (4‐LINKS)      61.50$                   12.8
Sway Bar Assemblies 5044503 LINK CHAIN 1/2" (9‐LINKS) 105.00$                

Torque Beam Assemblies, 2 Eye Straight 5050001 T'BEAM ASS'Y 18.000"            704.50$                
Torque Beam Assemblies, 2 Eye Straight 5050002 T'BEAM ASS'Y 18.0" OFFSET       840.50$                
Torque Beam Assemblies, 2 Eye Straight 5050012 T'ROD SUB‐ASS'Y LH (232)        295.00$                
Torque Beam Assemblies, 2 Eye Straight 5050013 T'ROD SUB‐ASS'Y RH (232)        295.00$                
Torque Beam Assemblies, 2 Eye Straight 5051751B000 T'BEAM ASY 24‐1/2" ST H/H       624.00$                 33
Torque Beam Assemblies, 2 Eye Straight 5051960B000 T'BEAM ASY 21‐7/16" H/H         596.00$                
Torque Beam Assemblies, 2 Eye Straight 5052055B000 T'BEAM ASY 20‐7/8" H/H          810.00$                 33
Torque Beam Assemblies, 2 Eye Straight 5054001B000 T'BEAM ASY 4.44/5.25"X16.5"L    540.00$                 27.98
Torque Beam Assemblies, 2 Eye Straight 5054033B000 T'BEAM ASY STR 16.5"L H/S       503.85$                 23.02
Torque Beam Assemblies, 2 Eye Straight 5055033B000 T'BEAM ASY STR 18"L H/H         461.00$                 24.2
Torque Beam Assemblies, 2 Eye Straight 5055892B000 T'BEAM ASY STR 16.5"L H/H       461.00$                 23
Torque Beam Assemblies, 2 Eye Straight 5057110B003 T'BEAM ASY 3"OD 3/8W 40"LG H/H  785.00$                 48
Torque Beam Assemblies, 2 Eye Straight 5057224B000 T'BEAM ASY STR 15.5"L           562.80$                 19.52
Torque Beam Assemblies, 2 Eye Straight 5057249B000 T'BEAM ASY STR 18"L H/S         461.00$                
Torque Beam Assemblies, 2 Eye Straight 5057401B000 T'BEAM ASY STR 19.5" H/H        560.00$                 29
Torque Beam Assemblies, 2 Eye Straight 5057404B000 T'ROD ASY STRADL MT 18"         600.35$                 15.5
Torque Beam Assemblies, 2 Eye Straight 5057426B000 SWAY BAR (RIGID) 21‐1/2"        500.00$                 11
Torque Beam Assemblies, 2 Eye Straight 5057427B000 SWAY BAR (RIGID) 27‐11/16"      520.00$                 14
Torque Beam Assemblies, 2 Eye Straight 5064001B000 T'BEAM ASY 4.44/5.25"X16.5"L    530.00$                 24.98

Torque Beam Assemblies, 2 Eye Curved 5064035B000 T'BEAM ASY CVD 16.5"L H/S       536.00$                 23.9
Torque Beam Assemblies, 2 Eye Curved 5065030B000 T'BEAM ASY CVD 18"L H/H         493.15$                 23.8
Torque Beam Assemblies, 2 Eye Curved 5065893B000 T'BEAM ASY CVD 16.5"L H/H       470.00$                 24
Torque Beam Assemblies, 2 Eye Curved 5067224B000 T'BEAM ASY CVD 15.5L            575.00$                 20.08
Torque Beam Assemblies, 2 Eye Curved 5067249B000 T'BEAM ASY CVD 18"L H/S         482.40$                

Torque Beam Assemblies, 3 Eye Straight Tube 5071989B000 T'BEAM TUBE ASY 29.250" 3EYE    830.80$                
Torque Beam Assemblies, 3 Eye Straight Tube 5077271B093 T'BEAM ASY 20‐3/16"CTRS 3 EYE   605.00$                

5077427B000 T'BEAM ASY‐STR 3EYE/HEMAT       980.00$                 51

Torque Beam Assemblies, Misc. 5090001 T'BEAM ASSY 2EYE 14.00LG .88ID  346.00$                 7.2
Torque Beam Assemblies, Misc. 5091989B000 T'BEAM ASY 29‐1/4 3EYE          878.00$                 46
Torque Beam Assemblies, Misc. 5093264B000 T'BEAM ASY 221BT‐11             1,238.20$            
Torque Beam Assemblies, Misc. 5093454C000 T'BEAM ASY RAR‐221BT            858.00$                 44
Torque Beam Assemblies, Misc. 5097410B000 T'BEAM ASY 18"X2‐1/2"OS         704.00$                 24.5
Torque Beam Assemblies, Misc. 5097606B000 T'BEAM ASY‐LIFT 21.5"L          972.00$                 48.7
Torque Beam Assemblies, Misc. 5097749B000 T'BEAM ASSY 3 EYE 23.25"LG 246  755.80$                
Torque Beam Assemblies, Misc. 5104110B000 T'BEAM 16.5" STRAIGHT           380.00$                
Torque Beam Assemblies, Misc. 5114632B000 T'BEAM 16.5"CURVED              410.00$                

Torque Beam Sub‐Assemblies 5140006 OFFSET T'BEAM SUB 2EYE 15.50LG  238.00$                
Torque Beam Sub‐Assemblies 5140009 T'ROD SUB ASS'Y 34.50 CTRS      598.50$                
Torque Beam Sub‐Assemblies 5140013 T'ROD SUB ASS'Y 14.875 CTRS     541.75$                
Torque Beam Sub‐Assemblies 5147606B000 T'BEAM SUB‐ASSY LIFT 21.5"LG    930.00$                 41.3

Beam Assemblies, RWB‐300 5203600B314 WALK BM ASY 52 AX SP(80#)8‐7/8  3,071.30$             227.5
Beam Assemblies, RWB‐300 5207153B000 FW'D TRI‐AXL BEAM 60"           3,141.00$            
Beam Assemblies, RWB‐300 5207153B100 REAR TRI‐AXL BEAM LH 60"        3,484.00$            
Beam Assemblies, RWB‐300 5207153B200 REAR TRI‐AXL BEAM RH 60"        3,484.00$            
Beam Assemblies, RWB‐300 5207722B000 FRWD BEAM ASSY RWB‐300          3,060.60$            
Beam Assemblies, RWB‐300 5207722B100 REAR BEAM ASSY‐LH RWB‐300       4,395.20$            
Beam Assemblies, RWB‐300 5207722B200 REAR BEAM ASSY‐RH RWB‐300       4,395.20$            

Compensator Assemblies 5250010 COMPENSATOR ASS'Y   DYNAFLEX    1,980.00$            
Compensator Assemblies 5251469C000 COMPENSATOR RDX 36" 60M         2,010.00$             138
Compensator Assemblies 5253969C000 COMPENSATOR ASSEMBLY (45"LONG)  2,245.85$            
Compensator Assemblies 5254785C000 COMPENSATOR 44" 44000 LB        1,720.60$             154
Compensator Assemblies 5255107C000 COMPENSATOR RDX‐204 39"L        2,219.05$             138
Compensator Assemblies 5257389C002 COMP ASY 42" 48K 1.5"CTR        1,678.90$             182
Compensator Assemblies 5257522C000 COMP ASY 40X5.25" 48#1.5        1,774.20$             1710
Compensator Assemblies 5257542C000 COMP ASY 58L 52# STRD MT        3,189.20$            
Compensator Assemblies 5257558B100 COMP ASY‐LH 52"/48K RMD         2,625.00$            
Compensator Assemblies 5257558B200 COMP ASY‐RH 52"/48K RMD         2,625.00$            
Compensator Assemblies 5257634C000 COMP ASY 202S 40" 48K 1.5"OFST  1,838.55$             184
Compensator Assemblies 5257678C001 COMP SUB 42" 52K RD‐202S        1,420.40$            



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

26

Category Part Number Description                     List Price   Weight

Trunnion Shaft Assemblies 5260001 TRUNNION SHAFT ASY B=20.00"     3,846.00$            
Trunnion Shaft Assemblies 5260016 TRUNNION SHAFT ASY BC=45.0"     4,830.00$            
Trunnion Shaft Assemblies 5260021 TRUNNION SHAFT ASY BC=56.0"     5,170.00$            
Trunnion Shaft Assemblies 5260027 TRUNNION SHAFT ASY BC=77.0"     6,075.00$            
Trunnion Shaft Assemblies 5260029 TRUNNION SHAFT ASY BC=62.0"     5,275.00$            
Trunnion Shaft Assemblies 5260030 TRUNNION SHAFT ASY BC=44.0"     4,945.00$            
Trunnion Shaft Assemblies 5260031 TRUNNION SHAFT ASY BC=60.0"     5,325.00$            
Trunnion Shaft Assemblies 5263279C301 TRUNNION ASY 4.75" 35.88" 3/4W  3,735.00$             182
Trunnion Shaft Assemblies 5263279C324 TRUNNION ASY HI 43" B.C.        4,180.00$            
Trunnion Shaft Assemblies 5263279C334 TRUNNION ASY 4.75" V=35.50" 3,865.00$             164
Trunnion Shaft Assemblies 5263280C301 TRUNNION ASY 3‐3/4 35.88 3/4W   3,575.00$             156
Trunnion Shaft Assemblies 5263623B000 TRUNNION ASY HI 37"B.C.         4,065.00$             156
Trunnion Shaft Assemblies 5263747C325 TRUNNION ASY HI V=35.5"         4,715.00$             201
Trunnion Shaft Assemblies 5263747C329 TRUNNION ASSY HI V=41"          4,507.80$            
Trunnion Shaft Assemblies 5263887C310 TRUNNION ASS'Y T=51"            4,650.00$            
Trunnion Shaft Assemblies 5267335B301 TRN'N ASY RWB‐300 35"BMS 4,000.00$            
Trunnion Shaft Assemblies 5267433B000 TRN'N ASY SOLID OTTO/CAP        2,905.00$             151
Trunnion Shaft Assemblies 5267448C000 TRN'N ASY 5‐3/4"@35.88 48K      2,840.00$            
Trunnion Shaft Assemblies 5267527B302 TRUNNION SHAFT ASS'Y B=38.00"   4,525.00$             213
Trunnion Shaft Assemblies 5267527B308 TRUNNION SHAFT ASS'Y B=44.50"   4,640.00$             231
Trunnion Shaft Assemblies 5267527B310 TRUNNION SHAFT ASS'Y B=41.00"   4,640.00$             219
Trunnion Shaft Assemblies 5267527B311 TRUNNION SHAFT ASS'Y B=34.00"   4,595.00$            
Trunnion Shaft Assemblies 5270009 TB ASY LH 21.5L 58K W/6.0X2.5   1,150.00$            
Trunnion Shaft Assemblies 5270010 TB ASY RH 21.5L 58K W/6.0X2.5   1,150.00$            
Trunnion Shaft Assemblies 5270015 TB ASY LH 21.5 202S‐54‐44‐ABS   1,210.00$             74
Trunnion Shaft Assemblies 5270016 TB ASY RH 21.5 202S‐54‐44‐ABS   1,210.00$            
Trunnion Shaft Assemblies 5270021 T'B ASY 21.5 SPG@7/AB NO SHK    1,150.00$            
Trunnion Shaft Assemblies 5271525C302 T'BEAM ASS'Y‐19‐1/2" C=5.0" 38    1,115.00$            
Trunnion Shaft Assemblies 5275225C100 T'BEAM ASY‐L 21.5 W/SHK CCC     1,260.00$             69
Trunnion Shaft Assemblies 5275225C200 T'BEAM ASY‐R 21.5 W/SHK CCC     1,260.00$             69
Trunnion Shaft Assemblies 5277351C200 T'BEAM ASY‐R 21.5" SHK@4.375    1,180.00$             65
Trunnion Shaft Assemblies 5277374C110 T'BEAM ASY‐L 21.5 SH@5.4 SP@8"  964.80$                 63
Trunnion Shaft Assemblies 5277374C210 T'BEAM ASY‐R 21.5 SH@5.4 SP@8"  964.80$                 63
Trunnion Shaft Assemblies 5277433C100 TB ASY/L 21.5 8.5" 6X2.5        1,125.00$            
Trunnion Shaft Assemblies 5277490C101 TB ASY LH 21.5L W/6" BUSHING 922.50$                 63.4
Trunnion Shaft Assemblies 5277490C201 TB ASY RH 21.5L W/6" BUSHING 922.50$                 63.4
Trunnion Shaft Assemblies 5277494C101 T'BM ASY‐L 22"L W/SHK 6X3 BSHG  2,040.00$            
Trunnion Shaft Assemblies 5277626C110 T'BEAM ASY‐L 21.5 SH@5.4 SP@7"  997.00$                 62.5
Trunnion Shaft Assemblies 5277626C210 T'BEAM ASY‐R 21.5 SH@5.4 SP@7"  997.00$                
Trunnion Shaft Assemblies 5277648C000 T'B ASSY 19.5" SPG @7.0 NO SHK  1,098.80$             56.1
Trunnion Shaft Assemblies 5277768C110 TB ASY LH 21.5 202S‐54‐52‐ABK   1,260.00$             75.6
Trunnion Shaft Assemblies 5281217C303 T'BEAM ASS'Y‐19‐1/2" C=5.0"     823.73$                
Trunnion Shaft Assemblies 5320001 T'ROD ARM/UPR LH BUSH ASSY 232  618.00$                 19.8
Trunnion Shaft Assemblies 5320003 LOWER T'ROD ARM/BUSH ASSY 232   455.00$                 11.9
Trunnion Shaft Assemblies 5320006 T'ROD ARM/LWR BUSH ASSY 232T    530.00$                 19.8
Trunnion Shaft Assemblies 5320007 T'ROD ARM/UPR LH BUSH ASY 232T  645.00$                 19.8
Trunnion Shaft Assemblies 5320008 T'ROD ARM/UPR RH BUSH ASY 232T  645.00$                 19.8
Trunnion Shaft Assemblies 5320010 T'ROD/UPPER BEAM/BUSH ASS'Y LH  557.50$                
Trunnion Shaft Assemblies 5320011 T'ROD/UPPER BEAM/BUSH ASS'Y RH  557.50$                
Trunnion Shaft Assemblies 5320012 T'ROD ARM/BUSH ASS'Y LH (232)   435.00$                
Trunnion Shaft Assemblies 5320013 T'ROD ARM/BUSH ASS'Y RH (232)   435.00$                
Trunnion Shaft Assemblies 5340011 ANCHOR ASSEMBLY                 485.00$                

Clamp Assemblies 5340018 ADJUSTER PLATE ASSEMBLY         49.85$                   1.26
Clamp Assemblies 5347711C000 U‐BOLT CLAMP ASSY 5" ROUND      264.80$                 10.76
Clamp Assemblies 5347711C100 U‐BOLT CLAMP ASSY 5"AX U/S&YOK  220.00$                 10.76

Mount Assemblies 5350020 LOWER AXLE SEAT ASS'Y           320.00$                
Mount Assemblies 5350025 OBSOLETE ‐ USE 5350028          314.00$                 14.8
Mount Assemblies 5350026 BOTTOM SPRING PLATE ASSY        814.75$                
Mount Assemblies 5350034 T'ROD W/LIFT ARM, 232‐20k       664.65$                
Mount Assemblies 5350036 UPPER LIFT ARM LH (232)         420.00$                
Mount Assemblies 5350037 UPPER LIFT ARM RH (232)         420.00$                
Mount Assemblies 5351465B305 BOTTOM PLT ASY A=5‐5/16         488.00$                 17
Mount Assemblies 5357570B000 T'ROD FIXED BRKT RH 236/237     210.00$                 10
Mount Assemblies 5357570B100 T'ROD FIXED BRKT LH 236/237     210.65$                 10
Mount Assemblies 5357618C000 BOTTOM SPRING PLATE ASSY        830.80$                 50
Mount Assemblies 5357747C000 HNGR ROCKER BRACKET ASS'Y‐LH    324.30$                 16.82
Mount Assemblies 5357747C001 HGR ROCKER/CYL BRACKET ASSY‐RH  729.00$                 39.16

Stabilizer Assemblies 5403345B000 STABILIZER PLATE ASY            166.00$                 3

Sub‐Assembly, Universal Bearing, Etc. 5440006 BUSHING HOUSING SUB‐ASSEMBLY    625.00$                
Sub‐Assembly, Universal Bearing, Etc. 54400101 HANGER/BUSH HOUSING‐LIFT KIT    380.00$                 19
Sub‐Assembly, Universal Bearing, Etc. 54409101 BUSH HOUSING SUB‐ASY 241HB      448.00$                 11
Sub‐Assembly, Universal Bearing, Etc. 5447482B000 MTG ASS'Y CYL BASE              158.00$                



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

27

Category Part Number Description                     List Price   Weight
Sub‐Assembly, Universal Bearing, Etc. 5447482B301 CYL ROD EYE END ASS'Y 1.50"     156.00$                
Sub‐Assembly, Universal Bearing, Etc. 5447482B302 CYL ROD EYE END ASS'Y 6.50"     186.00$                
Sub‐Assembly, Universal Bearing, Etc. 5447729B000 BUSHING SUPPORT WELDMENT        194.00$                

Universal Bearing/Bushing Assemblies 5450001 HOUSING BUSH ASY 241HB          428.80$                 11
Universal Bearing/Bushing Assemblies 5450002 BUSH SUP ASY LH 9.31" 207/246   390.00$                 18.88
Universal Bearing/Bushing Assemblies 5450003 BUSH SUP ASY RH 9.31" 207/246   390.00$                 18.88
Universal Bearing/Bushing Assemblies 5450006 BUSHING HOUSING ASS'Y           805.00$                 36.7
Universal Bearing/Bushing Assemblies 5450014 BUSH SUPT BRKT ASY/STUB AXLE    345.00$                
Universal Bearing/Bushing Assemblies 5450021 BUSHING ASSY BONDED YOKE 260    390.00$                
Universal Bearing/Bushing Assemblies 5450022 BUSHING ASSY BONDED YOKE        303.75$                
Universal Bearing/Bushing Assemblies 54509103 HOUSING BUSH ASY 80 DURO        541.40$                 11
Universal Bearing/Bushing Assemblies 5451096B000 LOAD BEAR'G ASY RMT‐211         245.00$                
Universal Bearing/Bushing Assemblies 5451950B000 BUSHING ASY/RED MODELS          267.00$                 5.48
Universal Bearing/Bushing Assemblies 5457729B000 BUSHING SUPPORT ASSY            293.00$                 12.64
Universal Bearing/Bushing Assemblies 5460001 TORQ SPRING ASY 3 LEAF          795.00$                 62

Lift Beam Assemblies/Shackles 5470004 ROCKER BEAM ASS'Y L=14.375"     640.00$                 25
Lift Beam Assemblies/Shackles 5470005 CAP ASS'Y FOR 9" BUSH           190.00$                 8
Lift Beam Assemblies/Shackles 54700101 LIFT BEAM ASSEMBLY              327.00$                 38
Lift Beam Assemblies/Shackles 5470029 ROCKER TUBE/BEAM ASS'Y‐14.4"CL  478.00$                
Lift Beam Assemblies/Shackles 5470032 CAP ASS'Y 9" BUSH/TRL 5/16 OFS  228.00$                 8
Lift Beam Assemblies/Shackles 5470035 REVERSING LEVER LH ASY/236 URE  525.00$                
Lift Beam Assemblies/Shackles 5470036 REVERSING LEVER RH ASY/236 URE  474.40$                 19.62
Lift Beam Assemblies/Shackles 5470038 SHACKLE ASY‐4.4"X6" URE BUSH    936.00$                
Lift Beam Assemblies/Shackles 5470039 T'BEAM ASY 17.375" W/URETHANE   530.00$                 25
Lift Beam Assemblies/Shackles 5473320B000 SHACKLE ASY 3.5" X6"C/C RWB300  690.00$                 16.92
Lift Beam Assemblies/Shackles 5477153B000 SHACKLE ASY 4.4" 6"C/C RWB‐300  420.00$                 21
Lift Beam Assemblies/Shackles 5477482B000 T'BEAM LIFT BRKT ASSY           388.00$                 18
Lift Beam Assemblies/Shackles 5477570B002 REVERSING LEVER RH ASY/236 531.25$                 19.42
Lift Beam Assemblies/Shackles 5477570C002 REVERSING LEVER SUB/236 RH      446.00$                
Lift Beam Assemblies/Shackles 5477570C102 REVERSING LEVER SUB/236 LH      498.50$                
Lift Beam Assemblies/Shackles 5477680D000 LIFT BEAM ASSEMBLY              458.00$                
Lift Beam Assemblies/Shackles 5477722B000 SHACKLE ASY‐4.4"X6" C/C GLUED   500.00$                 21
Lift Beam Assemblies/Shackles 5477726B000 T'BEAM ASY 17.375" 237          570.00$                 25
Lift Beam Assemblies/Shackles 5477747B000 Torque Beam/Bushing             616.40$                 32.32
Lift Beam Assemblies/Shackles 5477747B001 CLAMPING CAP ASSEMBLY           198.50$                
Lift Beam Assemblies/Shackles 5477747C001 T'BEAM SUB‐ASSEMBLY             596.00$                
Lift Beam Assemblies/Shackles 5477753B121 T'BEAM W/BUSHING (GLUED)        723.60$                
Lift Beam Assemblies/Shackles 5477753C120 T'BEAM SUB‐ASSEMBLY             725.00$                

Cross Channel Assemblies 5480002 CROSSCHN'L FOR COMPACT RSS‐236  337.70$                
Cross Channel Assemblies 5480010 CROSSCHN'L ASSY/OPTIMA          285.00$                
Cross Channel Assemblies 5480018 CROSS CHANNEL ASSY              145.00$                
Cross Channel Assemblies 5480021 CROSSCHN'L ASSY/OPTIMA          295.00$                
Cross Channel Assemblies 5486099B311 CROSS CHANNEL ASY Y=30"         278.75$                 22
Cross Channel Assemblies 5486099B313 CROSS CHANNEL ASY Y=33.50"      305.55$                 22
Cross Channel Assemblies 5487244B308 CROSS CHNL ASY 18"L             340.00$                
Cross Channel Assemblies 5487606B000 LIFT SPG SHIM ASSY/RCA‐235      78.50$                   2.78

Bolster Assemblies ‐ Spring/Shock Mount 5490018 A.S. CROSS CHNL ASY 43.750"     622.50$                 53.7
Bolster Assemblies ‐ Spring/Shock Mount 5490019 A.S. CROSS CHNL ASY 42.750"     622.50$                 55.6
Bolster Assemblies ‐ Spring/Shock Mount 5490020 A.S. CROSS CHNL ASY 42.875"     622.50$                
Bolster Assemblies ‐ Spring/Shock Mount 5497599C301 A.S. CROSS CHNL ASY 43"         1,082.75$             54
Bolster Assemblies ‐ Spring/Shock Mount 5497599C303 AIR SPG CROSSCHANNEL ASY 44.00  1,130.00$             57.45
Bolster Assemblies ‐ Spring/Shock Mount 5497599C304 A.S. CROSS CHNL ASY 43.25"      1,136.35$            
Bolster Assemblies ‐ Spring/Shock Mount 5497599C305 A.S. CROSS CHNL ASY 43.50"      884.40$                 52.3
Bolster Assemblies ‐ Spring/Shock Mount 5497680D335 MOUNTING BEAM ASY W=41" LG      722.50$                 0.35
Bolster Assemblies ‐ Spring/Shock Mount 5497680D341 MOUNTING BEAM ASY W=47" LG      722.50$                

Bracket Assemblies 5500003 BEAM BRACKET ASSY               114.70$                 4.63
Bracket Assemblies 5500006 AXLE SEATED LIFT CHAIN BRKT     180.00$                 4.32
Bracket Assemblies 5500007 LIFT CHAIN BRKT                 175.00$                 2.3
Bracket Assemblies 5500012 BEAM BRACKET ASSY LH            114.70$                
Bracket Assemblies 5500013 BEAM BRACKET ASSY RH            114.70$                

Axle Beam Assemblies, Fabricated 5640001 FAB AXL 13K 5.0 DRP 70"KPI 232  1,595.00$            
Axle Beam Assemblies, Fabricated 5640020S    FAXL 13K TAL,5"DRP,70"KPI,232S  1,850.00$            
Axle Beam Assemblies, Fabricated 5640030 FAB AXLE 68.875 x 2.25 13k TLR  1,835.00$            
Axle Beam Assemblies, Fabricated 5640030S    FAB AX 68.875x2.25 13k 232T SL  1,900.00$            

Shock Bracket Assemblies 5750018 LOWER A‐ARM SHOCK BKT ASSY LH   265.00$                
Shock Bracket Assemblies 5750019 LOWER A‐ARM SHOCK BKT ASSY RH   265.00$                
Shock Bracket Assemblies 5750020 LOWER A‐ARM SHOCK BKT ASSY LH   262.65$                
Shock Bracket Assemblies 5750021 LOWER A‐ARM SHOCK BKT ASSY RH   262.65$                

Compression Bolt Assemblies 5802876B301 COMP BOLT ASY 2‐7/32"           246.60$                 1.72



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

28

Category Part Number Description                     List Price   Weight
Compression Bolt Assemblies 5802876B302 COMP BOLT ASY 1.975"DIA         149.35$                 1.64
Compression Bolt Assemblies 5805471B000 COMPRESSION CAP ASY RAD‐226     163.50$                 3.52
Compression Bolt Assemblies 5807364B000 COMPRESSION CAP ASSY            1,030.00$            
Compression Bolt Assemblies 5807504B302 COMPRESN NUT ASY 1.969OD        115.00$                 0.8

Beam Assemblies 5847666D105 BEAM ASSY LH W/ BUSHING         911.20$                 67
Beam Assemblies 5847666D205 BEAM ASSY RH W/ BUSHING         911.20$                 67

Trunnion Sleeves 5900582B585 TRUN'N SLVE/RING ASY 6‐7/8"     185.00$                 6.94

Pre‐Assembled Parts Assemblies 59700007 BAR‐PIN MOUNTING BRACKET        190.00$                 4.78
Pre‐Assembled Parts Assemblies 5970003 BUSH'G BEAM W/4287744D100 & 60  1,034.50$             91
Pre‐Assembled Parts Assemblies 5970004 BUSH'G BEAM W/4287744D200 & 60  1,034.50$             90.6
Pre‐Assembled Parts Assemblies 5970008 USE 5970077                     1,050.60$             80
Pre‐Assembled Parts Assemblies 5970009 USE 5970078                     1,050.60$            
Pre‐Assembled Parts Assemblies 5970010 BUSH/BEAM LH 5.75 AX W/4280010  1,035.00$             98.75
Pre‐Assembled Parts Assemblies 5970011 BUSH/BEAM RH 5.75 AX W/4280011  1,035.00$             99.4
Pre‐Assembled Parts Assemblies 5970016 SHOCK BRACKET ASSY RH 240‐USW   115.00$                
Pre‐Assembled Parts Assemblies 5970019 BUSH/BEAM LH 4280017 W/B075     1,020.00$             91.9
Pre‐Assembled Parts Assemblies 5970020 BUSH/BEAM RH 4280018 W/B075     1,020.00$             80
Pre‐Assembled Parts Assemblies 5970023 BUSH/BEAM ASSY‐LH (W/4280019)   1,039.85$            
Pre‐Assembled Parts Assemblies 5970024 BUSH/BEAM ASSY‐RH (W/4280020)   988.95$                
Pre‐Assembled Parts Assemblies 5970044 BUSH/BEAM LH HI SEAT 240HD      1,018.40$            
Pre‐Assembled Parts Assemblies 5970046 BUSH/BEAM LH (4287754D150)      1,130.00$             103
Pre‐Assembled Parts Assemblies 5970047 BUSH/BEAM RH (4287754D250)      1,130.00$             103
Pre‐Assembled Parts Assemblies 5970048 BUSH/BEAM LH (4287754D175)      1,100.00$            
Pre‐Assembled Parts Assemblies 5970056 BUSH/BEAM LH‐ 2400055           1,200.00$             113
Pre‐Assembled Parts Assemblies 5970057 BUSH/BEAM RH‐ 2400055           1,200.00$             113
Pre‐Assembled Parts Assemblies 5970062 ARM ASSY AXL LIFT X=18‐7/16"    422.00$                 25.2
Pre‐Assembled Parts Assemblies 5970064 ARM ASSY AXL LIFT X=22‐7/16"    346.00$                
Pre‐Assembled Parts Assemblies 5970066 ARM ASSY AXL LIFT X=26‐7/16"    485.00$                
Pre‐Assembled Parts Assemblies 5970068 ARM ASSY AXL LIFT X=28‐7/16"    458.00$                
Pre‐Assembled Parts Assemblies 5970070 LIFT ARM ASSEMBLY               159.75$                 7
Pre‐Assembled Parts Assemblies 5970073 BUSH/BEAM ASSY LH               1,295.00$            
Pre‐Assembled Parts Assemblies 5970074 BUSH/BEAM ASSY RH               1,295.00$            
Pre‐Assembled Parts Assemblies 5970075 BUSH/BEAM LH 2400614            1,105.00$             104
Pre‐Assembled Parts Assemblies 5970076 BUSH/BEAM RH 2400614            1,105.00$            
Pre‐Assembled Parts Assemblies 5970077 BUSH/BEAM LH (4280008) 5" AXLE  1,098.80$             97
Pre‐Assembled Parts Assemblies 5970078 BUSH/BEAM RH (4280009) 5" AXLE  1,098.80$             97
Pre‐Assembled Parts Assemblies 5970079 BUSH/BEAM RH (2400308)          990.00$                 99.4
Pre‐Assembled Parts Assemblies 5970080 BUSH/BEAM LH (2400308)          990.00$                 100
Pre‐Assembled Parts Assemblies 5970081 BUSH/BEAM RH (2400808)          1,160.00$            
Pre‐Assembled Parts Assemblies 5970082 BUSH/BEAM LH (2400808)          1,160.00$            
Pre‐Assembled Parts Assemblies 5970085 BUSH/BEAM LH 7739D100 W‐60 BSH  835.00$                 77.3
Pre‐Assembled Parts Assemblies 5970086 BUSH/BEAM RH 7739D200 W‐60 BSH  835.00$                 77.3
Pre‐Assembled Parts Assemblies 5970087 BUSH/BEAM LH 7739D102 W‐60 BSH  911.20$                 82.9
Pre‐Assembled Parts Assemblies 5970088 BUSH/BEAM RH 7739D202 W‐60 BSH  911.20$                 82.9
Pre‐Assembled Parts Assemblies 5970095 BUSH/BEAM ASSY LH 2400061       1,295.00$            
Pre‐Assembled Parts Assemblies 5970096 BUSH/BEAM ASSY RH 2400061       1,295.00$            
Pre‐Assembled Parts Assemblies 5970097 BUSH/BEAM ASSY‐ LH (2400814)    1,125.00$            
Pre‐Assembled Parts Assemblies 5970098 BUSH/BEAM ASSY‐ RH (2400814)    1,125.00$             111.25
Pre‐Assembled Parts Assemblies 5970101 SUB‐ASSY LH (REDNECK) FIXTURE   150.00$                
Pre‐Assembled Parts Assemblies 5970102 SUB‐ASSY RH (REDNECK) FIXTURE   150.00$                
Pre‐Assembled Parts Assemblies 5970109 BUSH'G BEAM ASY W/4280084       911.20$                
Pre‐Assembled Parts Assemblies 5970110 BUSH'G BEAM ASY W/4280085       911.20$                
Pre‐Assembled Parts Assemblies 5970112 BUSH/BEAM RH 2400063            911.20$                 73
Pre‐Assembled Parts Assemblies 5970113 BUSHING BEAM LH 2400068         1,420.00$            
Pre‐Assembled Parts Assemblies 5970114 BUSHING BEAM RH 2400068         1,830.00$            
Pre‐Assembled Parts Assemblies 5970120 HANGER SUB‐ASY RH‐FOR LIFT KIT  265.00$                
Pre‐Assembled Parts Assemblies 5970121 BUSH/BEAM LH (4280090)          884.40$                 66.4
Pre‐Assembled Parts Assemblies 5970122 BUSH/BEAM RH (4280091)          884.40$                 66.4
Pre‐Assembled Parts Assemblies 5970124 BUSH/BEAM LH (4280096)          863.00$                 68.3
Pre‐Assembled Parts Assemblies 5970125 BUSH/BEAM RH (4280097)          863.00$                 67.4
Pre‐Assembled Parts Assemblies 5970169 BUSH/BEAM LH LOW SEAT 240HD     1,136.00$             75
Pre‐Assembled Parts Assemblies 5970170 BUSH/BEAM RH LOW SEAT 240HD     1,136.00$            
Pre‐Assembled Parts Assemblies 5970171 BUSH/BEAM ASY LH W/4280041 25K  1,018.40$             85
Pre‐Assembled Parts Assemblies 5970172 BUSH/BEAM ASY RH W/4280042 25K  1,018.40$             85
Pre‐Assembled Parts Assemblies 5970174 LIFT ARM ASSEMBLY MODEL 260     140.00$                
Pre‐Assembled Parts Assemblies 5970184 BUSH/BEAM LH (LKS ASSY)4280098  1,106.00$             75
Pre‐Assembled Parts Assemblies 5970185 BUSH/BEAM RH (LKS ASSY)4280099  1,106.00$             75
Pre‐Assembled Parts Assemblies 5970186 LIFT ARM ASSEMBLY               185.00$                 9.92
Pre‐Assembled Parts Assemblies 5970194 BEAM/BUSHING ASS'Y LH           1,365.00$            
Pre‐Assembled Parts Assemblies 5970195 BEAM/BUSHING ASS'Y RH           1,365.00$            
Pre‐Assembled Parts Assemblies 5970196 BEAM/BUSHING ASS'Y LH           1,430.00$            
Pre‐Assembled Parts Assemblies 5970197 BEAM/BUSHING ASS'Y RH           1,430.00$            
Pre‐Assembled Parts Assemblies 5970202 LIFT ARM ASSEMBLY (RIDELITE)    120.00$                
Pre‐Assembled Parts Assemblies 5970204 BUSH/BEAM ASSY LH (4280204)     1,040.00$             76.3



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

29

Category Part Number Description                     List Price   Weight
Pre‐Assembled Parts Assemblies 5970205 BUSH/BEAM ASSY RH (4280205)     1,040.00$             76.3
Pre‐Assembled Parts Assemblies 5970206 BUSH/BEAM ASSY LH               986.25$                 78.85
Pre‐Assembled Parts Assemblies 5970207 BUSH/BEAM ASSY RH               986.25$                
Pre‐Assembled Parts Assemblies 5970208 BUSH/BEAM LH (4280110)          895.15$                 69
Pre‐Assembled Parts Assemblies 5970209 BUSH/BEAM RH (4280111)          895.15$                 69
Pre‐Assembled Parts Assemblies 5970314 BUSH/BEAM LH ASSY. 2410012      1,780.00$            
Pre‐Assembled Parts Assemblies 5970315 BUSH/BEAM RH ASSY. 2410012      1,780.00$            
Pre‐Assembled Parts Assemblies 5970316 BUSH/BEAM LH 243                1,040.00$            
Pre‐Assembled Parts Assemblies 5970317 BUSH/BEAM RH 243                1,040.00$            
Pre‐Assembled Parts Assemblies 5970318 BUSH/BEAM ASSY‐ LH (2401814)    1,500.00$            
Pre‐Assembled Parts Assemblies 5970319 BUSH/BEAM ASSY‐ RH (2401814)    1,500.00$            
Pre‐Assembled Parts Assemblies 5970320 BUSH/BEAM LH 2434115            1,025.00$            
Pre‐Assembled Parts Assemblies 5970321 BUSH/BEAM RH 2434115            1,025.00$            
Pre‐Assembled Parts Assemblies 5970328 LIFT ARM ASSEMBLY, 240 25K O/S  275.00$                 21.4
Pre‐Assembled Parts Assemblies 5970332 BUSH/BEAM LH 7739D100 TAPERBSH  911.20$                 75.45
Pre‐Assembled Parts Assemblies 5970333 BUSH/BEAM RH 7739D200 TAPERBSH  911.20$                
Pre‐Assembled Parts Assemblies 5970334 BUSH/BEAM LH 7739D102 TAPERBSH  911.20$                
Pre‐Assembled Parts Assemblies 5970335 BUSH/BEAM RH 7739D202 TAPERBSH  911.20$                
Pre‐Assembled Parts Assemblies 5970336 BUSH/BEAM LH 4280090 TAPERBUSH  911.20$                
Pre‐Assembled Parts Assemblies 5970337 BUSH/BEAM RH 4280091 TAPERBUSH  911.20$                
Pre‐Assembled Parts Assemblies 5970338 BUSH/BEAM LH 4280096 TAPERBUSH  887.50$                
Pre‐Assembled Parts Assemblies 5970339 BUSH/BEAM RH 4280097 TAPERBUSH  887.50$                
Pre‐Assembled Parts Assemblies 5970340 BUSH/BEAM LH 4280098 TAPERBUSH  1,045.00$            
Pre‐Assembled Parts Assemblies 5970341 BUSH/BEAM RH 4280099 TAPERBUSH  1,045.00$            
Pre‐Assembled Parts Assemblies 5970350 BUSH/BEAM LH 4280041 TAPERBUSH  930.00$                
Pre‐Assembled Parts Assemblies 5970351 BUSH/BEAM RH 4280042 TAPERBUSH  930.00$                
Pre‐Assembled Parts Assemblies 5970353 BUSH/BEAM ASSY RH 215LM         1,035.00$            
Pre‐Assembled Parts Assemblies 5970354 BUSH/BEAM ASSY LH 215MM         1,000.00$            
Pre‐Assembled Parts Assemblies 5970355 BUSH/BEAM ASSY RH 215MM         1,000.00$            
Pre‐Assembled Parts Assemblies 5970356 BUSH/BEAM ASSY LH‐215MMT 787.00$                
Pre‐Assembled Parts Assemblies 5970357 BUSH/BEAM ASSY RH‐215MMT 787.00$                
Pre‐Assembled Parts Assemblies 5970358 BUSH/BEAM ASSY LH‐215HMT        890.00$                
Pre‐Assembled Parts Assemblies 5970359 BUSH/BEAM ASY RH‐215HMT         890.00$                
Pre‐Assembled Parts Assemblies 5970364 BUSH/BEAM LH ASY 2410015 1,710.00$            
Pre‐Assembled Parts Assemblies 5970365 BUSH/BEAM RH ASSY. 2410015      1,800.00$            
Pre‐Assembled Parts Assemblies 5970366 BUSH/BEAM ASSY‐ LH (4280234)    1,175.00$            
Pre‐Assembled Parts Assemblies 5970367 BUSH/BEAM ASSY‐ RH (4280235)    1,175.00$            
Pre‐Assembled Parts Assemblies 5970398 BUSH/BEAM ASSY‐ LH (4280250)    795.00$                
Pre‐Assembled Parts Assemblies 5970399 BUSH/BEAM ASSY‐ RH (4280251)    795.00$                
Pre‐Assembled Parts Assemblies 5970402 BUSH/BEAM ASSY‐ LH (4280252)    745.00$                
Pre‐Assembled Parts Assemblies 5970403 BUSH/BEAM ASSY‐ RH (4280253)    745.00$                
Pre‐Assembled Parts Assemblies 5970406 BUSH/BEAM ASSY‐ LH (4280254) 695.00$                
Pre‐Assembled Parts Assemblies 5970407 BUSH/BEAM ASSY‐ RH (4280255) 695.00$                
Pre‐Assembled Parts Assemblies 5970408 BUSH/BEAM ASSY‐ LH (4280256)    785.00$                
Pre‐Assembled Parts Assemblies 5970409 BUSH/BEAM ASSY‐ RH (4280257)    785.00$                
Pre‐Assembled Parts Assemblies 5970432 BUSH/BEAM ASSY‐ LH (4280100)    955.00$                
Pre‐Assembled Parts Assemblies 5970433 BUSH/BEAM ASSY‐ RH (4280101)    955.00$                
Pre‐Assembled Parts Assemblies 5977676B100 BUSH'G BEAM ASY W/4237676D100   3,690.00$             196
Pre‐Assembled Parts Assemblies 5977676B200 BUSH'G BEAM ASY W/4237676D200   3,690.00$            
Pre‐Assembled Parts Assemblies 5977692B100 BUSH'G BEAM ASY W/4287692D100   1,144.25$            
Pre‐Assembled Parts Assemblies 5977739B101 BUSH'G BEAM ASY W/4287739D101   1,205.00$            
Pre‐Assembled Parts Assemblies 5990003 FAB AX 13K RLT‐230LWT NO LOCKS  1,910.00$             135
Pre‐Assembled Parts Assemblies 5990015 FRAME MT/PART KIT 2270029/64    1,550.00$             50
Pre‐Assembled Parts Assemblies 5990016 AXLE MT/PART KIT 2270029        4,510.00$             241.8
Pre‐Assembled Parts Assemblies 5990017 AXLE MT/PART KIT 2270028        5,600.00$             235
Pre‐Assembled Parts Assemblies 5990018 FRAME MT/PART KIT 2270028       3,180.00$             204.5
Pre‐Assembled Parts Assemblies 5990029 FAB AX 13K RLT‐230 N/L 3.5"DRP  1,700.00$             130
Pre‐Assembled Parts Assemblies 5990032S    FAB AX STRT FOR 230 TRLR W/SL   2,465.00$            
Pre‐Assembled Parts Assemblies 5990033 AXLE BEAM ASM S/P 3/4W LTC‐40   14,380.00$           962
Pre‐Assembled Parts Assemblies 5990087 FRWD BM ASSY 3000018            14,385.00$          
Pre‐Assembled Parts Assemblies 5990095 PARTS KIT FOR 2020031 E‐1       9,580.00$             870
Pre‐Assembled Parts Assemblies 5997479B000 SHP'G PACK'G 2277479E000        6,090.00$             400
Pre‐Assembled Parts Assemblies 5997611B300 PART/KIT FRM 2277611E002        3,135.00$             224
Pre‐Assembled Parts Assemblies 5997611B402 PART/KIT AXLE 2277611E002&3     5,370.00$             412

Carton of Parts 6000047 LINK KIT‐ CHAIN                 48.90$                   12.2
Carton of Parts 6000057 CTN OF PARTS 2400308            795.00$                 74.5
Carton of Parts 6000093 O/S LIFT CHAIN LINK KIT         345.00$                
Carton of Parts 6000101 CTN OF PARTS 2450020            1,080.00$            
Carton of Parts 6000117 CTN OF PARTS 2400715/2403715    920.00$                 65
Carton of Parts 6000711 CARTON OF PARTS 1" SPACERS 232  110.00$                 5.4
Carton of Parts 6000712 CARTON OF PARTS 2"SPACERS 232   115.00$                 7.26
Carton of Parts 6000720 CARTON OF PARTS 2" SCR 232‐20K  80.00$                  
Carton of Parts 6000948 CTN OF PARTS 2460018 (SPARTAN)  4,080.00$            
Carton of Parts 6000954 CTN OF PARTS 2270036 (AXLE)     420.00$                 57
Carton of Parts 6000955 CTN OF PARTS 2270036 (FRAME)    1,905.00$             114
Carton of Parts 6000961 CTN OF PTS 2270069/74/75/79/80  3,870.00$             258



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

30

Category Part Number Description                     List Price   Weight
Carton of Parts 6000963 CTN OF PARTS 2410012            3,170.00$            
Carton of Parts 6006090B001 CTN OF PARTS 2276090D001        2,880.00$             136
Carton of Parts 6007479B000 CTN OF PARTS 2277479E000        1,655.00$             64
Carton of Parts 6007611B023 CTN OF PARTS 2277611E002/003    2,365.00$             150
Carton of Parts 6007626B126 SHOCK INSTL PKG KONI RD‐202S‐K  1,185.00$            
Carton of Parts 6007689B126 SHOCK INSTL PKG KONI RD‐202S‐K  1,915.00$            
Carton of Parts 6007744B105 CTN OF PARTS 2404105            815.00$                 60.5

Sway Bar Installation Assemblies 6017603C000 S'BAR KIT SS‐321 W/VAR L T'ROD  415.00$                 31.45
Sway Bar Installation Assemblies 6017603C001 S'BAR KIT RS‐23‐180 W/F‐318     550.00$                 27
Sway Bar Installation Assemblies 6017603C002 S'BAR KIT RS‐24‐160 W/H‐1620    570.00$                 28

Axle Mod. & Installation 6021002 SPCL BR CMBR PORT ORIENT INB    47.50$                  
Axle Mod. & Installation 6021005 SPCL BRAKE CMBR BRKT MOD        70.00$                  
Axle Mod. & Installation 6021011 SPCL WELD, FORC STEER, 2400111  312.50$                
Axle Mod. & Installation 6025039C313 ASMBL RSS‐236 TO I‐BEAM AXLE    700.00$                 2
Axle Mod. & Installation 6025039C314 INSTALL LIFT AXLE PLUMBING KIT  230.00$                
Axle Mod. & Installation 6025039C5DR WELD SUSP TO DR'CTR AXLE        340.00$                 2
Axle Mod. & Installation 6025039C5ST WELD SUSP TO STRA'T AXLE        265.00$                 2
Axle Mod. & Installation 6025039TACK TACK SUSP TO STR/DR'CTR AXLE    155.00$                 2

Axle Control/Re‐Build Service Kits 6030005 STEERING LOCK ASSY 12K AXLE     905.00$                
Axle Control/Re‐Build Service Kits 6030007 DBL STEER DAMP KIT 13K/16K/20k  485.00$                 37
Axle Control/Re‐Build Service Kits 6030011 DBL STEER DAMP KIT 13K/16K/20k  645.00$                 29.08
Axle Control/Re‐Build Service Kits 6030013 DUAL STEER DAMPER KIT M.A.N.    655.00$                
Axle Control/Re‐Build Service Kits 6030017 DUAL STEER DAMPER KIT NO HOLES  620.00$                
Axle Control/Re‐Build Service Kits 6030018 DUAL DAMPER UNI‐KIT W/SLOTS     555.00$                
Axle Control/Re‐Build Service Kits 6030019 STEER LOCK KIT RLT‐230          675.00$                 16
Axle Control/Re‐Build Service Kits 6030020 STEER LOCK KIT RLT‐230 W/ADJ.   625.00$                
Axle Control/Re‐Build Service Kits 6030022 STEER LOCK KIT RLT‐230 5990029  710.00$                 16
Axle Control/Re‐Build Service Kits 6030024 STEER LOCK KIT RSS‐232‐13k TRK  545.00$                
Axle Control/Re‐Build Service Kits 6030025 AIR CONTROL PKG KIT‐DESIGNLINE  1,625.00$            
Axle Control/Re‐Build Service Kits 6030026 STEER LOCK KT 232T‐20k W/BRKTS  680.00$                 16
Axle Control/Re‐Build Service Kits 6030105 SHOCK INSTALLATION KIT 215      585.00$                 30.24
Axle Control/Re‐Build Service Kits 6037570C004 REV KIT STD 2367570D001 13/16k  2,025.00$             22
Axle Control/Re‐Build Service Kits 6037570C010 AUTO REV KIT LH ONLY (RSS‐236)  2,055.00$             61.3
Axle Control/Re‐Build Service Kits 6037606C001 SHOCK KIT 2357606D301/302       730.00$                

Suspension Re‐Design/Repair Kits 6040004 KIT‐RUB PLT/MOUNTING E‐SD SUSP  95.00$                   6.5
Suspension Re‐Design/Repair Kits 6040011 BUSH SRVC KT RAR‐240W           755.00$                 55.9
Suspension Re‐Design/Repair Kits 6040018 SHOCK KIT‐15 MH SEVERE DUTY     578.90$                 20.18
Suspension Re‐Design/Repair Kits 6040028 BUSH REPL KIT‐001 BUSH/70 DURO  578.90$                 39
Suspension Re‐Design/Repair Kits 6040029 BUSH REPL KIT‐075 BUSH/60 DURO  595.50$                 38
Suspension Re‐Design/Repair Kits 6040039 BUSH SRVC KT 60 DURO(RIDELITE)  487.80$                 35.58
Suspension Re‐Design/Repair Kits 6040041 BUSHING SRVC KT 225             530.65$                 32
Suspension Re‐Design/Repair Kits 6040044 STEER SHOCK MNT MODIFICATION    55.00$                  
Suspension Re‐Design/Repair Kits 6040048 BUSH SRVC KT RAR‐240 ‐60 2WSHR  589.60$                 38.5
Suspension Re‐Design/Repair Kits 6040049 LKS BEAM REPL KIT (2400059)     1,940.00$             163
Suspension Re‐Design/Repair Kits 6040054 LKS BEAM REPL KIT (2400073/74)  1,955.00$             163
Suspension Re‐Design/Repair Kits 6040056 BUSH SRVC KT 70 DURO(RIDELITE)  487.80$                 35.9
Suspension Re‐Design/Repair Kits 6040058 U‐BOLT KIT, RAR‐240,‐260,‐243   190.00$                 33.32
Suspension Re‐Design/Repair Kits 6040060 SPACER KIT 1" (215)             200.00$                 17
Suspension Re‐Design/Repair Kits 6040061 SPACER KIT 2" (215)             215.00$                 18
Suspension Re‐Design/Repair Kits 6040063 RAR‐244 PIVOT HARDWRE REPL KIT  165.00$                
Suspension Re‐Design/Repair Kits 6040064 BUSH REPL KIT 70 DURO RAR‐243   530.65$                
Suspension Re‐Design/Repair Kits 6040066 KIT‐RUB PLT/MOUNTING E‐SD SUSP  100.00$                 6.5
Suspension Re‐Design/Repair Kits 6040067 HEAT SHIELD ASS'Y 2270076       125.00$                
Suspension Re‐Design/Repair Kits 6040068 BUSH REPL KIT 2460015           605.00$                
Suspension Re‐Design/Repair Kits 6040069 U‐BOLT KIT W/LABOR O/S          270.00$                 33.32
Suspension Re‐Design/Repair Kits 6040070 U‐BOLT KIT W/LABOR U/S          300.00$                 33.32
Suspension Re‐Design/Repair Kits 6040071 BUSH REPL RAR240 TAPERED 2WSHR  648.60$                 34.22
Suspension Re‐Design/Repair Kits 6040072 BUSH REPL RAR200 TAPERED 2WSHR  597.65$                 31.44
Suspension Re‐Design/Repair Kits 6040073 FIELD FIX FOR 3600006 2840010   825.00$                
Suspension Re‐Design/Repair Kits 6040076 FASTENER KIT NEOPLAN R'PLCMNT   911.20$                 36.1
Suspension Re‐Design/Repair Kits 6040077 BUSHING SERVICE KIT 241         620.00$                
Suspension Re‐Design/Repair Kits 6040078 BUSHING REP KIT,215,FIBERTECH   530.00$                 17.4
Suspension Re‐Design/Repair Kits 6040079 FIELD FIX 3450085               220.00$                 5.68
Suspension Re‐Design/Repair Kits 6040081 SPARTAN FIRE TRUCK SPACER KIT   112.60$                 24.5
Suspension Re‐Design/Repair Kits 6040082 ST LOCK KIT 232‐20K TRUCK ONLY  655.00$                 35.12
Suspension Re‐Design/Repair Kits 6040083 ST LOCK KIT 232‐20K TRUCK ONLY  700.00$                
Suspension Re‐Design/Repair Kits 6040084 BUSHING KIT,232‐8K/13k          475.00$                 13.6
Suspension Re‐Design/Repair Kits 6040085 BUSH REP KIT, 232T‐20K TRAILER 1,005.00$            
Suspension Re‐Design/Repair Kits 6040086 BUSH REP KIT,232‐20K TRUCK      1,035.00$            
Suspension Re‐Design/Repair Kits 6040087 RAR‐244 BUSH AND PIVT REPL KIT  230.00$                
Suspension Re‐Design/Repair Kits 6040088 PIVOT PLATE REP. KIT 232        180.00$                
Suspension Re‐Design/Repair Kits 6040091 BUSH REPL RAR240 TAPERED 2WSHR  765.00$                 34.22
Suspension Re‐Design/Repair Kits 6040092 SPACER KIT 1"                   71.50$                  



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

31

Category Part Number Description                     List Price   Weight
Suspension Re‐Design/Repair Kits 6040093 SPACER KIT 2"                   75.00$                  
Suspension Re‐Design/Repair Kits 6040094 BUSHING REP KIT,245,FIBERTECH   565.00$                 17.2
Suspension Re‐Design/Repair Kits 6040095 AXLE FASTENER KIT 2270078       369.00$                 12.4
Suspension Re‐Design/Repair Kits 6040096 AXLE FASTENER KIT 2270041       266.00$                 24.7
Suspension Re‐Design/Repair Kits 6040097 A/S HEAVY DUTY KIT 215          176.90$                 17
Suspension Re‐Design/Repair Kits 6040098 BUSH REPL KIT MODEL 260         445.00$                
Suspension Re‐Design/Repair Kits 6040099 BUSH REPL KIT YOKE 260          460.00$                 46.95
Suspension Re‐Design/Repair Kits 6040103 U‐BOLT KIT, RAR‐240,‐260,‐243   175.00$                 29
Suspension Re‐Design/Repair Kits 6040111 BUSH REP KIT, 232T‐20K TRLR HW 1,265.00$            
Suspension Re‐Design/Repair Kits 6040112 BUSH REP KIT, 232‐20K TRUCK HW 980.00$                
Suspension Re‐Design/Repair Kits 6047300B000 ECC BOLT SER. KIT 1137694B000   90.00$                   5.75
Suspension Re‐Design/Repair Kits 6047680B060 BUSH REPL KIT‐075 BUSH/60 DURO  584.25$                 36.02

Sway Bars/Shim Plates/Crossmember Kits 6095241B000 SHIM PLATE KIT‐T'ROD            50.00$                  
Sway Bars/Shim Plates/Crossmember Kits 6097729B000 CAMBER ADJ SHIM KIT/STUB AXLE   338.50$                

Tools ‐ Jigs & Fixtures 6100043 TEMPLATE,232 HNGR INSTALLATION  24.10$                  
Tools ‐ Jigs & Fixtures 6100044 TOOL,BUSHING INSTAL,FIBERTECH   1,710.00$             30
Tools ‐ Jigs & Fixtures 6100045 TOOL,BUSH INSTAL 1117625C060    1,765.00$             33
Tools ‐ Jigs & Fixtures 6100051 TOOL,BUSHING INSTALL,MODEL 260  875.00$                
Tools ‐ Jigs & Fixtures 6100054 SOCKET 1" SQ DRIVE E‐20 TORX    360.00$                
Tools ‐ Jigs & Fixtures 6106180B000 TOOL BUSH INST S‐512B           135.00$                 5.33

Pedestal/Beam Assemblies 6110010 COMP T'BEAM W/RK 202S‐54‐58‐SR 7,190.00$            
Pedestal/Beam Assemblies 6110015 COMP T'BEAM W/RK 202S‐56‐62‐SR 9,140.00$            
Pedestal/Beam Assemblies 6117395B000 COMP/T'BEAM W/RK 202S‐52‐52‐S   5,675.00$            
Pedestal/Beam Assemblies 6117626B000 COMP/T'BEAM N/RK 202S‐54‐48‐S   5,625.00$             382
Pedestal/Beam Assemblies 6117634B000 COMP/T'BEAM N/RK 202S‐54‐48     5,450.00$             374
Pedestal/Beam Assemblies 6117634B002 COMP/T'BEAM W/RK 202S‐54‐48     6,700.00$             399
Pedestal/Beam Assemblies 6117653B000 COMP/T'BEAM 202S‐54‐48‐B        5,900.00$             468
Pedestal/Beam Assemblies 6117653B010 COMP/T'BEAM 202S‐54‐48‐BK       6,095.00$             391
Pedestal/Beam Assemblies 6117653B020 COMP/T'BEAM 202S‐54‐48‐BKR      6,925.00$            
Pedestal/Beam Assemblies 6117678B001 COMP/T'BEAM N/RK 202S‐54‐52‐S 5,802.50$             382
Pedestal/Beam Assemblies 6117731B000 COMP/T'BEAM 202S‐52‐40‐B        6,083.60$            
Pedestal/Beam Assemblies 6117731B030 COMP/T'BEAM 202S‐52‐40‐ABKR     6,670.00$            
Pedestal/Beam Assemblies 6117765B000 COMP/T'BEAM 202S‐52‐52‐BKR      6,385.00$            

Axle/Tire Inflation Parts 6150001 P.S.I. CONTROL KIT DUAL TANDEM  1,221.50$            
Axle/Tire Inflation Parts 6150003 PSI CNT'L KIT SNGL TIRE         1,070.20$            
Axle/Tire Inflation Parts 6150004 PSI PNL & HOSE KIT DUAL TANDEM  998.90$                 5.94
Axle/Tire Inflation Parts 6150006 ABS 2S/1M KIT TRAILER INSTALL   725.00$                
Axle/Tire Inflation Parts 6150008 ABS 2S/2M KIT TRAILER INSTALL   1,008.00$            
Axle/Tire Inflation Parts 6150009 ABS 4S/2M KIT TRAILER INSTALL   1,044.00$            
Axle/Tire Inflation Parts 6150010 PSI CONT'L KT DUAL 17.5 TANDEM  1,345.00$            
Axle/Tire Inflation Parts 6205002 HCV RW ZERO PRESSURE DUMP       80.00$                  
Axle/Tire Inflation Parts 6205003 OBSOLETE ‐ USE 6205007          72.50$                  
Axle/Tire Inflation Parts 6205004 HCV RW STANDARD W/O CHECK       65.00$                  
Axle/Tire Inflation Parts 6205005 HCV RW, PRESS DUMP, NO CHECK    80.00$                  
Axle/Tire Inflation Parts 6205006 HCV RW ZERO PRESS DUMP NO CHK 93.00$                  
Axle/Tire Inflation Parts 6205007 HCV RW LO‐FLO, NO CHECK 70.00$                  
Axle/Tire Inflation Parts 6205010 HCV‐MODIFIED HI‐FLOW EXHAUST    115.00$                
Axle/Tire Inflation Parts 6210011 VERTICAL LINK ASSY. 9.00L,ADJ.  16.50$                  
Axle/Tire Inflation Parts 6210013 VERTICAL LINK ASSY.12.00L,ADJ.  16.75$                  
Axle/Tire Inflation Parts 6210014 VERTICAL LINK ASSY.14.00L,ADJ.  13.40$                  
Axle/Tire Inflation Parts 6210015 VERTICAL LINK ASSY.15.00L,ADJ.  21.50$                  
Axle/Tire Inflation Parts 6210016 VERTICAL LINK ASSY.16.00L,ADJ.  19.60$                  
Axle/Tire Inflation Parts 6210017 VERTICAL LINK ASSY.18.00L,ADJ.  16.00$                  
Axle/Tire Inflation Parts 6210018 VERTICAL LINK ASSY.19.70L,ADJ.  22.50$                  
Axle/Tire Inflation Parts 6210020 VERTICAL LINK ASSY.7.00L,ADJ.   15.00$                  
Axle/Tire Inflation Parts 6210021 VERTICAL LINK ASSY.25.00L,ADJ.  19.60$                  
Axle/Tire Inflation Parts 6210022 VERT‐LINK ASSY.15.0L,NON‐ADJ    20.35$                  
Axle/Tire Inflation Parts 6210101 V‐LINK D‐FLT 11.75 W/DAMPENERS  10.00$                  
Axle/Tire Inflation Parts 6210200 V‐LINK S‐EYE 10.50 W/DAMPENERS  18.30$                  
Axle/Tire Inflation Parts 6210202 V‐LINK S‐EYE 14.00 W/DAMPENERS  14.95$                  
Axle/Tire Inflation Parts 6210205 V‐LINK S‐EYE 18.00 W/DAMPENERS  18.00$                   0.38
Axle/Tire Inflation Parts 6210207 V‐LINK S‐EYE 19.90 W/DAMPENERS  30.00$                  
Axle/Tire Inflation Parts 6210209 V‐LINK S‐EYE 21.00 W/DAMPENERS  20.35$                  
Axle/Tire Inflation Parts 6211000 L‐CON‐STR 5/16‐18 X 2.5         4.20$                    
Axle/Tire Inflation Parts 6211010 L‐CON‐STR 5/16‐18 X 2.5         4.25$                    
Axle/Tire Inflation Parts 6211013 LOWER PIN ASY, CLAMP BAND       49.20$                  
Axle/Tire Inflation Parts 6211100 L‐CON‐STR 1/4‐20 X 2.5          4.30$                     0.5
Axle/Tire Inflation Parts 6211111 INTRAXX MTG KIT                 30.00$                  
Axle/Tire Inflation Parts 6211210 L‐CON‐L 5/16‐18 X 2.63 X 1.75   8.45$                    
Axle/Tire Inflation Parts 6211211 LOWER PIN ASSY. W/ BRKT         28.60$                  
Axle/Tire Inflation Parts 6211400 L‐CON‐BOLT 1/4‐20 X 1‐1/2       5.15$                    
Axle/Tire Inflation Parts 6212001 LEVER,5"/7"                     5.45$                    
Axle/Tire Inflation Parts 6212002 LEVER, 6‐15/16" OFFSET          6.20$                    



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

32

Category Part Number Description                     List Price   Weight
Axle/Tire Inflation Parts 6212003 LEVER, FIXED NO OFFSET 5"       7.75$                    
Axle/Tire Inflation Parts 6212004 LEVER FIXED 4‐3/8" NO OFFSET    18.55$                  
Axle/Tire Inflation Parts 6212005 LEVER 9"LG                      8.60$                     0.2
Axle/Tire Inflation Parts 6213001 HCV J‐BRKT W/MTG FASTENERS      25.50$                  
Axle/Tire Inflation Parts 6230006 TANK AND FITTING ASSY. (230)    720.00$                 27
Axle/Tire Inflation Parts 6230007 TANK AND FITTING KIT            556.20$                 27
Axle/Tire Inflation Parts 6240700 LINK KIT 5.375ALA/5.5AVL/.31SC  36.50$                  
Axle/Tire Inflation Parts 6240701 L'KIT W/2 1/4"ST PIN 18"V'LINK  27.30$                  
Axle/Tire Inflation Parts 6241000 HCV KIT‐SPL HI‐FLOW EXHAUST     158.10$                
Axle/Tire Inflation Parts 6241002 HCV KIT‐SPL 4‐3/8"LEVER KALMAR  118.35$                
Axle/Tire Inflation Parts 6241004 HCV 6310BGAJ13 W/6" TUBE&CLAMP  151.30$                
Axle/Tire Inflation Parts 6241005 HCV KIT‐SPECIAL                 248.00$                
Axle/Tire Inflation Parts 6255000 OBOLETE ‐ USE 6255004           75.00$                  
Axle/Tire Inflation Parts 6255001 OBSOLETE ‐ USE 6255005          100.95$                
Axle/Tire Inflation Parts 6255002 HCV,‐0‐PRESS DUMP,W/MTG FASTNR  102.50$                
Axle/Tire Inflation Parts 6255003 OBSOLETE ‐ USE 6255007          90.00$                  
Axle/Tire Inflation Parts 6255004 HCV W/FASTENERS  W/O CHK        75.00$                  
Axle/Tire Inflation Parts 6255005 HCV,PRESS DUMP W/FSTNRS NO CHK  106.15$                 0.85
Axle/Tire Inflation Parts 6255007 HCV,LO‐FLO, W/FASTENERS NO/CHK  90.00$                  
Axle/Tire Inflation Parts 6255010 HCV‐MOD,HI‐FLOW EX,W/HARDWARE   116.80$                 0.9

Air Spring Top Plates 7000004 AIR SPRING PLATE 10" OCT 7.75" 19.40$                   4.32
Air Spring Top Plates 7000015 FLAT C SPACER PLATE/RSS‐236     43.45$                  
Air Spring Top Plates 7000098 STUD EAR 1/2" PLT               31.90$                  
Air Spring Top Plates 7000105 RENFG PLT FOR EAR MOUNT @ TOP   10.45$                  
Air Spring Top Plates 7000111 SHOCK EAR (FLAT)                13.75$                  
Air Spring Top Plates 7000124 FAB AXLE BOT INNER EAR          12.65$                  
Air Spring Top Plates 7000172 SHOCK EAR                       11.65$                  
Air Spring Top Plates 7000241 BAG PLATE ‐ LOWER               20.25$                   4.62
Air Spring Top Plates 7000256 SHOCK EAR                       14.30$                  
Air Spring Top Plates 7000294 FLANGE 3 BOLT MOUNT‐TRIANGLE 9.55$                    
Air Spring Top Plates 7000312 SHIM ‐ 16GA X 1.50OD X .81ID    1.00$                    
Air Spring Top Plates 7000347 A.S. PLATE LIFT BAG             12.40$                  
Air Spring Top Plates 7000407 A.S. PLATE‐ UNIVERSAL           29.95$                   5.7
Air Spring Top Plates 7000451 SHOCK EAR‐ LOWER                11.75$                   0.86
Air Spring Top Plates 7000452 SHOCK EAR‐ UPPER 15 MH          13.75$                   1.56
Air Spring Top Plates 7000606 GUSSET                          9.90$                    
Air Spring Top Plates 7000883 SIDE REINF PLATE                12.73$                  
Air Spring Top Plates 7000892 SPACER TOP PLATE                19.00$                  
Air Spring Top Plates 7000894 A/S PLATE‐ RIDELITE             17.35$                   2.78
Air Spring Top Plates 7000895 BACK PLATE FOR SUPPORT CHANNEL  17.05$                  
Air Spring Top Plates 7000915 LUG (OVER EXTENSION RESTRAINT)  10.45$                  
Air Spring Top Plates 7001087 BRACKET‐HCV HANGER BRKT‐PLATED  14.00$                   0.5
Air Spring Top Plates 7001203 A/S PLATE ‐ 0.5 SPACER          34.10$                  
Air Spring Top Plates 7001386 ALIGNMENT DOUBLER PLATE         15.50$                  
Air Spring Top Plates 7001387 ALIGN PLATE  12.00 HOLE CNTRS   16.50$                  
Air Spring Top Plates 7001634 ADJUSTER PLATE,3/8 HGR 215      12.10$                  
Air Spring Top Plates 7001710 WHEEL SHIM                      28.23$                   6.14
Air Spring Top Plates 7001715 AIR TANK MOUNTING PLATE (232)   28.75$                  
Air Spring Top Plates 7001723B000 A.S.PLATE 7‐1/4" OCTAGON        16.50$                   2.16
Air Spring Top Plates 7001784 A/S PLT‐RIDLIT BOLT(MACH SHOP)  45.65$                   2.68
Air Spring Top Plates 7001891 DRIVE AXLE UPPER SHK MTG PLT    12.25$                   1.22
Air Spring Top Plates 7001978 CRADLE LOWER SPG SPACER PLT     27.50$                  
Air Spring Top Plates 7002248 PIVOT SIZING WASHER 1.5"OD 260  6.50$                    
Air Spring Top Plates 7002249 ALIGNMENT WASHER 4" OD 260      13.85$                   1.7
Air Spring Top Plates 7002333 BACKER PLATE, T'ROD MT.  (241)  11.80$                  
Air Spring Top Plates 7004500 LIFT ANCHOR                     15.40$                  
Air Spring Top Plates 7007670B000 AIR SPG. PLATE 10"DIA           21.75$                  
Air Spring Top Plates 7010008 AS PLT 15"OD .188TK #7796 HOLE  36.00$                   3.9
Air Spring Top Plates 7017479B000 A.S.PLATE 7X8 SEMI‐RD           15.40$                  

Mounting Plates/Shims/Gussets ‐ Misc. 7187570B009 STABLZ'R MTG PLT/LONG‐LOWER     16.50$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7187606B001 CAM MTG BRKT‐DANA AX 40.5DEG    13.65$                   1.48
Mounting Plates/Shims/Gussets ‐ Misc. 7187620B007 MTG PLT‐STR STABILZR 1.50X2.19  15.25$                   2.04
Mounting Plates/Shims/Gussets ‐ Misc. 7187666B005 REINFORCING PLATE‐ 245          21.75$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7187666B011 FRONT/REAR HGR REINF'G RUL‐245  25.55$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7187667B301 CAMBER ADJ SHIM .0478"/STUB AX  14.30$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7187667B302 CAMBER ADJ SHIM .0747"/STUB AX  16.50$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7187667B303 CAMBER ADJ SHIM .1875"/STUB AX  14.30$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7187716B001 SHOCK MOUNTING EAR              11.00$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7187753B309 HANGER/RAIL MOUNTING PLATE      79.00$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7187762B000 UPPER T'ROD MTG PL 227/GILLIG   20.35$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7210046 SHIM 10GAX4‐1/2"X8‐1/2" RD‐202  14.00$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7210047 SHIM 18GAX4"X4‐1/2" RD‐202      11.30$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7215241B000 SHIM PLATE X=1/4"               13.20$                   1.58
Mounting Plates/Shims/Gussets ‐ Misc. 7215241B301 SHIM PLATE X=10 GA.             11.75$                   0.84
Mounting Plates/Shims/Gussets ‐ Misc. 7215241B302 SHIM PLATE X=14 GA.             12.65$                   0.48



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

33

Category Part Number Description                     List Price   Weight
Mounting Plates/Shims/Gussets ‐ Misc. 7217570B001 UPPER AXLE BOLT'G PLATE         13.50$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7217570B002 T'ROD FIXED MTG PLT/236         14.85$                   1.64



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

34

Category Part Number Description                     List Price   Weight
Mounting Plates/Shims/Gussets ‐ Misc. 7217680B000 VALVE MOUNTING BRACKET AT AXLE  9.90$                     0.3
Mounting Plates/Shims/Gussets ‐ Misc. 7227570B004 UPPER T'ROD MTG PL/236          35.75$                  
Mounting Plates/Shims/Gussets ‐ Misc. 7237652B000 VALVE MTG BRACKET               11.55$                   0.8
Mounting Plates/Shims/Gussets ‐ Misc. 72400003 VLV SWITCH MTG PL‐SEND PLATER   9.95$                     1
Mounting Plates/Shims/Gussets ‐ Misc. 7247744B000 GUSSET SHOCK 240‐USW LD BEAM    10.90$                  

Clamping Blocks 7400001 CLMP'G PLT 3.5"SQ 1‐1/4"D .5"T  14.50$                  
Clamping Blocks 7400004 CLMP'G PLT W/1‐1/2"6NC 1.25" T  95.50$                   3.72
Clamping Blocks 7400006 COMPRESSION CAP, URE BUSHING    296.75$                 2.5
Clamping Blocks 7401033B000 COMPRESSION CAP 5‐1/2" FIN' OD  241.80$                 3.9
Clamping Blocks 7401494B000 CLMP'G PLT 3.5"SQ X 1.25D X.62  42.00$                   1.92
Clamping Blocks 7403341B000 CLMP'G PLT 3.5"SQ 1‐1/2"D       67.95$                   1.82
Clamping Blocks 7403374B000 CLMP'G PLT TAP 1‐1/2"6NC        56.00$                   1.86
Clamping Blocks 7407511B000 CLAMP PLT 0FFSET 1‐1/2D         51.25$                   1.86
Clamping Blocks 7407722B000 COMP CAP5.5"OD.88"THK MACHSHOP  298.95$                 4.7
Clamping Blocks 7506911V313 PLATE 3/16X2X2‐1/2              10.50$                  

Plates 7506911W313 PLATE 1/4X2X2‐1/2               9.90$                    
Plates 7506999Y305 PLATE 3/8X7/8X1‐1/2             5.25$                    

Gussets 7523839B305 GUS 1/4X1/2X1‐3/8X1‐1/2         9.90$                    
Gussets 7730008 SHOCK BKT EAR‐ 15"MH/30K        10.25$                  

Reinforcing Channels 8000106 SHOCK MOUNTING ANGLE LH         31.50$                  
Reinforcing Channels 8000107 SHOCK MOUNTING ANGLE RH         31.50$                  
Reinforcing Channels 8000589 SHIM, ANGLED, SCISSOR LOCK      24.20$                  
Reinforcing Channels 8000590 SHIM, ANGLED, SCISSOR LOCK      24.20$                  
Reinforcing Channels 8000640 CHANNEL, SHOCK                  25.40$                  
Reinforcing Channels 8000711 PANEL, AIR CONTROL KIT          47.25$                  
Reinforcing Channels 8000712 JUNIOR VALVE BRACKET            25.25$                  
Reinforcing Channels 8000731 A.S.PLATE‐15" O.D.W/BENDS       46.00$                  
Reinforcing Channels 8000763 SHOCK BRACE ANGLE               26.00$                  
Reinforcing Channels 8000816 ONE PIECE TAIL LH (4280023)     78.60$                  
Reinforcing Channels 8000817 ONE PIECE TAIL RH (4280024)     78.60$                  
Reinforcing Channels 8000902 SPRING/FRAME MTG BRACKET LH     27.75$                  
Reinforcing Channels 8001012 SHOCK EAR BRACKET BRACE LH      28.00$                  
Reinforcing Channels 8001013 SHOCK EAR BRACKET BRACE RH      28.00$                  
Reinforcing Channels 8001065 SHOCK EAR (.188 GR‐80 MATL.)    26.40$                  
Reinforcing Channels 8001195 ANTI‐TURN WASHER BENT           25.50$                  
Reinforcing Channels 8001239 BRACKET‐HCV BEAM BRKT‐ZINC PL   24.25$                   0.2
Reinforcing Channels 8001434 LIFT KIT UPPER SPACER‐4.25"     41.00$                  
Reinforcing Channels 8001486 SHOCK BRKT LH (HGR RETRO FIT)   26.40$                  
Reinforcing Channels 8001487 SHOCK BRKT RH (HGR RETRO FIT)   26.40$                  
Reinforcing Channels 8001552 TANK TO HGR MTG BRKT ZINC PLT 15.25$                  
Reinforcing Channels 8001724 SHOCK BRACKET LH 3260106/08     25.75$                   1
Reinforcing Channels 8001725 SHOCK BRACKET RH 3260107/09     25.75$                   1
Reinforcing Channels 8001809 CROSS CHANNEL 215               70.00$                  
Reinforcing Channels 8001812 SPACER 2", HANGER  215          32.75$                  
Reinforcing Channels 8001834 SUPPORT CHANNEL, AIR SPRING     38.50$                   4.85
Reinforcing Channels 8001837 SHOCK STRAP KEEPER, PAINTED     25.30$                   0.19
Reinforcing Channels 8002013 BRKT TRLR WEB HCV MOUNT WH2S    26.40$                  
Reinforcing Channels 8002286 BRACKET,STEER LOCK,LH,232‐20K   39.50$                  
Reinforcing Channels 8002287 BRACKET,STEER LOCK,RH,232‐20K   39.50$                  
Reinforcing Channels 8002721 SHOCK EAR 260 HANGER            25.30$                  
Reinforcing Channels 8002778 SHOCK EAR LH 25K O/S 260 BEAM 23.00$                  
Reinforcing Channels 8002779 SHOCK EAR RH 25K O/S 260 BEAM 23.00$                  
Reinforcing Channels 8002852 HCV MGT BRKT U/S MODEL 260      24.75$                  
Reinforcing Channels 8037634B000 COMPENSATOR REINF'G CHN'L 202S  47.25$                   8.99
Reinforcing Channels 8037716B100 SHOCK SUPPORT CHANNEL LH 26.90$                  
Reinforcing Channels 8037716B200 SHOCK SUPPORT CHANNEL RH 26.90$                  
Reinforcing Channels 8060019 SUPT CHNL‐LH SHOCK 240‐US BEAM  30.80$                  
Reinforcing Channels 8060020 SUPT CHNL‐RH SHOCK 240‐US BEAM  30.80$                  
Reinforcing Channels 8067586B001 ACK LINKAGE MTG CHAN'L @ AXLE   26.40$                  
Reinforcing Channels 8067670B300 CHANNEL .188X2.5X6.5X24         61.00$                   14.74
Reinforcing Channels 8067744B100 SUPPORT CHNL‐L SHK/240‐USW LBA  28.10$                  
Reinforcing Channels 8067744B200 SUPPORT CHNL‐R SHK/240‐USW LBA  28.10$                  
Reinforcing Channels 8137570B003 LOWER A.S. ANGLE/236 RH         60.45$                  
Reinforcing Channels 8137629B001 A.S. ANGLE‐LH/236 P'BILT        46.75$                  
Reinforcing Channels 8137649B000 SPRING/FRAME MT BRKT‐LH/RH      33.00$                   1.4
Reinforcing Channels 8137661B000 AIR SPRING MOUNT PLATE          33.00$                  

Mounting Channels 8140009 SHOCK BKT‐ CHANNEL 30K BEAM     27.75$                  
Mounting Channels 8140033 SHOCK EAR (FORMED) USW LBA'S    27.75$                   1.3
Mounting Channels 8140034 SHOCK EAR (FORMED)              18.15$                  
Mounting Channels 8140039 SHOCK EAR CHANNEL               26.40$                  
Mounting Channels 8140043 CONTROL ARM BRKT LH AXLE 232    41.00$                  
Mounting Channels 8140044 CONTROL ARM BRKT RH AXLE 232    41.00$                  



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

35

Category Part Number Description                     List Price   Weight
Mounting Channels 8140047 CONTROL ARM BRACKET LH 232 MID  55.75$                  
Mounting Channels 8140063 SHOCK EAR CHANNEL               25.25$                  
Mounting Channels 8147680B000 SHOCK MT 1.781 WIDE 3/4" BOLT   28.00$                  
Mounting Channels 8147680B001 SHOCK MT 1.781" WIDE 3/4" BOLT  27.20$                  
Mounting Channels 8147711B000 SHOCK BRACKET @ BEAM            26.95$                  
Mounting Channels 8147716B000 SHOCK MT 1.75" WIDE 3/4" BOLT   29.15$                   1.6
Mounting Channels 8147739B115 C FORMED HCV BRACKET @ 240 HGR  27.20$                  
Mounting Channels 8174754B305 CROSS CHANNEL X=24‐3/4"L        49.20$                   8.66
Mounting Channels 8175509B303 CROSSCHN'L X=25‐1/4             70.90$                  
Mounting Channels 8175509B309 CROSSCHN'L X=25‐1/2             70.90$                  
Mounting Channels 8176105C301 CROSS CHANNEL X=29‐1/4"L        102.80$                 25.66
Mounting Channels 8176105C305 CROSS CHANNEL 30"L              104.45$                
Mounting Channels 8176105C308 CROSS CHANNEL X=28‐1/4"         100.05$                 25
Mounting Channels 8176105C313 CROSS CHANNEL X=23‐1/2"         86.85$                   20.46
Mounting Channels 8176105C316 CROSS CHANNEL X=25‐3/4"L        92.90$                   22.4
Mounting Channels 8176105C317 CROSS CHANNEL X=32‐3/4"L        112.65$                 22.4
Mounting Channels 8176105C322 CROSS CHANNEL X=30.00"          104.70$                
Mounting Channels 8177243C301 CROSS CHANNEL X=27‐1/4"         82.00$                  
Mounting Channels 8177482B303 CROSS CHANNEL X=22‐1/8          53.30$                  
Mounting Channels 8177570B001 C/CHNL 236 33.5‐35"FW 20.938"L  51.10$                  
Mounting Channels 8177591B000 CROSS CHANNEL RCA‐235 43"L      78.05$                   9
Mounting Channels 8177620B000 CROSSCHN'L 236 21.5" LG         51.95$                   10

Mounting Angles 8217716B100 SHOCK MTG PLATE LH RAR‐240W     30.15$                  
Mounting Angles 8217716B200 SHOCK MTG PLATE RH RAR‐240W     30.15$                  

Formed Angles/Plates 8230037 MTG ANGLE LH SHOCK 243 Y@0.17   30.00$                  
Formed Angles/Plates 8230038 MTG ANGLE RH SHOCK 243 Y@0.17   30.00$                  
Formed Angles/Plates 8230039 OUTER SHOCK EAR 243 Y@0.17      25.00$                  
Formed Angles/Plates 8237744B001 MTG ANGLE‐SHK @ HGR 240‐USW LO  25.00$                  
Formed Angles/Plates 8237744B100 MTG ANGLE‐LH SHK @ 240USW‐LBA   28.70$                  
Formed Angles/Plates 8237744B105 MTG ANGLE‐LH SHK @ 240          25.55$                  
Formed Angles/Plates 8237744B106 MTG ANGLE‐LH SHOCK 1.50"X5.34"  32.70$                   4.5
Formed Angles/Plates 8237744B108 MTG ANGLE‐LH SHOCK 2.63"X6.19"  18.75$                   4.5
Formed Angles/Plates 8237744B200 MTG ANGLE‐RH SHK @ 240‐USW LBA  28.70$                  
Formed Angles/Plates 8237744B205 MTG ANGLE‐RH SHK @ 240          25.55$                  
Formed Angles/Plates 8237744B206 MTG ANGLE‐RH SHOCK 1.50"X5.34"  32.70$                   4.5
Formed Angles/Plates 8237744B208 MTG ANGLE‐RH SHOCK 2.63"X6.19"  18.75$                   4.5
Formed Angles/Plates 8240002 AIR SPRING MOUNTING PLATE       38.20$                  
Formed Angles/Plates 82500002 BSH'G/HOUSING MTG ANGLE 241HB 42.50$                   7.7
Formed Angles/Plates 8250050 FORMED CHNL W/@18" HOLES        47.30$                  
Formed Angles/Plates 8257494B000 RESTRAINT MTG BRKT 58K 202      42.90$                  
Formed Angles/Plates 8257503B022 RESTRAINT MTG BRKT 202S42"COMP  42.90$                  
Formed Angles/Plates 8257581B001 RESTRAINT MTG BRKT/202          48.65$                  
Formed Angles/Plates 8257594B000 RESTRAINT MTG BRKT ‐ 44K 202S   40.00$                  
Formed Angles/Plates 8257606B102 ANGLE CLIP‐HGR REINF LH         34.10$                   2.58
Formed Angles/Plates 8257606B202 ANGLE CLIP‐HGR REINF RH         34.10$                   2.58
Formed Angles/Plates 8290015 FORMED AXLE SEAT 13.0 WIDE      68.00$                   17.45
Formed Angles/Plates 8297754B006 LOAD BEAM AX SEAT 5.75"X 1/2"   55.00$                  
Formed Angles/Plates 8990027 SLEEVE BUSH OUTER YOKE          103.00$                
Formed Angles/Plates 8990777B000 BAR LOCK 14GA. X 5/8"           24.00$                   0.02

Washers ‐ Fabricated 9000005 WASHER 25/32"x2‐1/4"x0.120"     14.75$                   0.14
Washers ‐ Fabricated 9000007 WASHER SHOLDERD 2.25‐3/4"bolt   24.75$                  
Washers ‐ Fabricated 9003092B000 ANTI‐TURN WASHER,1.25" BOLT     10.50$                   0.28
Washers ‐ Fabricated 9004501 SLEEVE 3/4‐SCH 40 PIPE 1"LG     19.70$                  
Washers ‐ Fabricated 9004520B000 WASHER‐BEARING 202S             16.80$                  
Washers ‐ Fabricated 9004565B000 LOCKING PLATE                   11.80$                   0.09
Washers ‐ Fabricated 9007224B000 WASHER 3.13IDX5.25ODX.19        12.25$                   0.72
Washers ‐ Fabricated 9007274B000 WASHER 2.75OD 1.5ID 10GA        9.90$                    

Elasomer Springs 9030595D000 ELASTOMER SPRING 57DUR          495.00$                 21.58

Bushings, Manufactured 9045620B000 BUSHING MACHINED 1"ID 4.08"LG   58.70$                  

Sleeves ‐ Misc. Machined 90900002 SLEEVE FLG 3.50ODX1.25ID .25LG  11.25$                  
Sleeves ‐ Misc. Machined 9090005 RECEIVER RING 3.5"OD 2.28"ID    13.00$                   0.5
Sleeves ‐ Misc. Machined 9090012 HGR TUBE 2.25"ODx1/4"WLx23.06L 104.25$                
Sleeves ‐ Misc. Machined 9090026 T'BEAM SLEEVE 4OD X 4"lg X.44W  100.00$                 5.6
Sleeves ‐ Misc. Machined 9090027 TRUNNION SLEEVE 5.25 OD X 6.88  165.00$                 7.72
Sleeves ‐ Misc. Machined 9090041 SLV 1.31"OD X.75"ID X 4.335LG   29.50$                   1.12
Sleeves ‐ Misc. Machined 9090056 SLEEVE,1‐5/16X.937OD.X5.22LG    72.25$                  
Sleeves ‐ Misc. Machined 9090057 SLEEVE,1‐5/16X.937OD.X2.86LG 67.05$                  
Sleeves ‐ Misc. Machined 9090058 SLEEVE,1‐5/16X.937OD.X8.84LG    80.50$                  
Sleeves ‐ Misc. Machined 9090059 SLEEVE, 1‐5/160DX.937ID.X3.36LG 73.50$                  
Sleeves ‐ Misc. Machined 9090582B000 TRUNNION SLEEVE 6‐7/8"          131.00$                 6.59



Ridewell Corporation
Prices Effective 11‐4‐2011  Prices are subject to change without notice.

36

Category Part Number Description                     List Price   Weight
Sleeves ‐ Misc. Machined 9094090B000 SLEEVE T'BEAM 1/4W 4.0"LG       76.40$                  
Sleeves ‐ Misc. Machined 9095060B000 SLEEVE 5‐1/4"OD 5‐1/2"L 224.50$                
Sleeves ‐ Misc. Machined 91100004 SLEEVE 3/4"PIPE X=3"            23.25$                  
Sleeves ‐ Misc. Machined 91100006 TUBE 1.25OD .22W 1.0"LG         20.50$                  
Sleeves ‐ Misc. Machined 9110053 SPACER 1.25OD X .781ID X .313   9.45$                    
Sleeves ‐ Misc. Machined 9110066 TUBE 1.25OD .22W 8.125"LG       34.20$                  
Sleeves ‐ Misc. Machined 9110585B000 SPACER SLEEVE 4.5"OD 1/2"Lg     20.65$                   0.45
Sleeves ‐ Misc. Machined 9111460B301 SLEEVE 3/4"PIPE X=4‐7/16"       24.20$                   0.38
Sleeves ‐ Misc. Machined 9112107B000 SLEEVE 2‐1/2 X 5/8"LG           38.05$                   0.58
Sleeves ‐ Misc. Machined 9113603B301 COMPRESSION RING 3/16"Lg        22.40$                   0.18
Sleeves ‐ Misc. Machined 9113603B302 COMPRESSION RING 3/8"Lg         19.75$                   0.3
Sleeves ‐ Misc. Machined 9115688B306 SLEEVE 2"OD 1/2"W 5/8"LG        41.35$                  
Sleeves ‐ Misc. Machined 9117340B309 TUBE 1.25OD .28W 5.88"LG        34.35$                  
Sleeves ‐ Misc. Machined 9117340B314 TUBE 1.25OD .28W 6.38"LG        36.00$                  
Sleeves ‐ Misc. Machined 9117340B315 TUBE 1.25OD .28W 6.69"LG        36.00$                  
Sleeves ‐ Misc. Machined 9117466B302 SLEEVE 2‐3/8"X=6.750 +.0 ‐.020  41.00$                  
Sleeves ‐ Misc. Machined 9117586B303 PIPE 1/2" X 4.375 SCH 80 ASTM   19.80$                  

Trunnion Shafts 9120002 C'TUBE 2.44"OD 56.0"LG .356"WL  407.40$                
Trunnion Shafts 9120003 C'TUBE 2.44"OD 61.5"LG .356"WL  435.00$                
Trunnion Shafts 9122555B301 TUBE 3‐1/2"X3/4"W 47‐5/16"L     820.00$                 91
Trunnion Shafts 9123777B319 TRUNNION SHAFT Z=66‐7/16"       1,560.00$            
Trunnion Shafts 9127153B303 TRUN'N SHAFT A=52.750LG         1,340.00$             137.65
Trunnion Shafts 9127153B310 TRUN'N SHAFT A=55.75 LG         1,280.00$            
Trunnion Shafts 9127564B000 C'TUBE 2.44"D 44.88"L .356"     220.00$                 30

Square/Rectangular Tube ‐ Saw Cut 9184507 TUBE 5X3X1/4W 44" LONG          165.00$                
Square/Rectangular Tube ‐ Saw Cut 9184508 TUBE 3X3X1/4W 21 13/16" LONG    76.00$                  

Tubes, Sq./Rec. 9187680B302 TUBE 5X3X1/4W 47"LG             182.00$                

Nuts ‐ Special 9242081B000 NUT 1‐1/2"NC 5/16" SS HOLE      45.75$                   0.94
Nuts ‐ Special 9243864B000 NUT W/THD HOLE 1‐1/2"JAM        56.00$                  

Shock Studs 9280008 SHLD 1" STUD 5"LG X 3/4" THRED  42.00$                  
Shock Studs 9280009 SHLD 1" STUD 4.06" LGx3/4 THD   41.00$                  
Shock Studs 9280013 SHOCK STUD ‐ STEPPED            75.55$                  
Shock Studs 9280015 SHOCK STUD ‐ STEPPED 3.813" LG  75.55$                  
Shock Studs 9280019 SHOCK STUD 1 x 6.75" LG         39.60$                  
Shock Studs 9287604B308 SHOCK STUD 1‐8NC 4‐3/8"L        38.80$                  
Shock Studs 9287604B316 SHOCK STUD 1‐8NC 5‐3/8"LG       39.60$                  
Shock Studs 9287604B319 SHOCK STUD 1‐8NC 5‐3/4"L        39.60$                  
Shock Studs 9287604B323 SHOCK STUD 1‐8NC 6‐1/4"L        40.40$                  
Shock Studs 9287604B330 SHOCK STUD 1‐8NC 7‐1/8"LG       41.20$                  
Shock Studs 9287604B341 SHOCK STUD 1‐8NC 8‐1/2"LG       42.75$                  

Dowel Pins 9290015 PLUNGER, STEER LOCK             78.00$                  
Dowel Pins 9292172B000 SHACKLE RETAINER‐3/4" RB        22.40$                  
Dowel Pins 9295248B000 DOWEL PIN 5/16"X1.25" LG        19.00$                   0.03

Support Fixtures 9602945D001 PDST'L SUP'T DRIL'D 4.75        1,190.00$             36
Support Fixtures 9602946D001 PDST'L SUP'T DRL'D 3‐3/4"       870.00$                 31
Support Fixtures 9603045D100 PEDESTAL SUPPORT LH             1,260.00$            


